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PP 12 | @ &$(5F%3/9) 2058 (1. 23 /5%/4)
PP 38 (£ E H 940k £ B v 9404
PP &7 |&F o] 66,84 = o] 66.8kg
PP 68 | g 263.07 | ¥ g 263. 0m
PP 98. (A & A & & 3455k |4 23R & A 345.5¢cc
PP 111 | A 7] 13.0 A 71 13. 0kw
PP 123 |A 24 A 2801k |4 24 &4 280 1cc
PP 126 |W A =¥ Hj 2] A & 8
PP 135 | A 7] 284.0kW | & 7] 284. 0kw
PP 165 |& 7} = & ¥ 159.64] | &7} = & ¥] 159.6A13
PP 173 | A 7] 24.0kW | A 7] 24.0kw
PP 188 |&A 7] 5. 0kW A 7] 5. Okw
PP 189 A 7] 2. 0kW A 71 2.0kw
PP199 |71 R 9] & 9420 212 8 9,420
PP 202 |4 £ 873.030 | & E 873, 030
PP206 |& H®H W 092 5k F B 92.5%
PP2I3 |% H H] 6048 0E|F H 1] 6 408 0%
PP 225 |[dztARelg : S zhA o) 2§
PP230 |+ X 2,346.0¢0 ¥& | X 2,346.0¢
PP 252 |® 7] AW 8 32779 71 "8 8 32,778
PP 257 | :&x¥Y () 2,879 (2n&x=8u () 2,878
PP 271 | A Z 50.0kgs e | A Z  50.0kg
PP205 |$ E v 932k F 8 ¥ 93.2%
PP 317 | & H 2611 F 2 ¥ 5611
PP320 (% £ 1u 180.624 |& & u©] 180,624
PP33% |5 & A 3 808k F & A F 800k
PP 347 |4 5 580.862 | & 5 588, 862
PP369 |9 F & 60 0k 9l F  # 60.6k
PP433 |[$ B ©l 952k £ 8 H 9523
PP 438 | A 71 1L.0kW | A 71 11, Okw
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A (71 : 10a)
A2w |2 F| 249 |[A9u] 2 5| 458 9ss |92/
k) | (@ () @ | | @ |
o 5 g 386 287,020 | 111,591 175,429 | 61.1 145,955 | 120.2
2 ¢ T 626 335,721 | 122,309 213,412 | 63.5 171,073 | 124.7
9 &g |5 5875H 999, 851 | 282, 930 716,921 1 71.7 591,553 | 121.2
Z 185 274,647 | 85,001 189,556 | 69.0 161,012 | 117.7
o 112 223,065 | 64, 891 158,174 | 70.9 161,561 | 97.9
& = 586 499, 341 | 169, 023 330,318 | 66.1 317,083 | 104.2
= 5 88 284,348 | 71,538 212,810 | 74.8 172, 861 | 123. 1
2 T op| 2,134 767,072 { 181, 129 585,943 | 76.3 597,609 | 98.0
2 7 A 2018 791, 325 | 340, 147 451,178 1 57.0 673,540 | 67.0
&3 A | 1,551 822, 662 | 299, 419 523,243 1 63.6 638,048 | 82.0
B =1 3,983 840, 413 | 309, 808 530,6051 63.1 435,620 | 121.8
7t & F| 4,822 684, 724 | 183,718 501,006 1 73.1 451,020 | 111.1
AR | 3,799 756, 001 | 226,812 529,189 [ 70.0 579,306 ¢ 91.3
= W F | 4,783 932, 937 | 330,874 602,083 | 64.5 619,445 | 97.2
v & W) & | 7,882 | 1,084,070 | 221, 267 842,803 | 79.2 617,585 | 136.5
YA | 4,249 828, hbh | 264, 089 564,466 | 68.1 736,251 | 76.7
g W F | 5089 804, 062 | 250, 248 553,814 | 68.8 505,012 | 108. 7
Al F A | 1,591 781, 181 | 266, 309 514,872 1 65.9 526,539 | 97.8
= A A& | 1,887 | 1,007,658 | 232, 809 774,849 1 76.9 650,753 | 119.1
2] o |.3,007 | 1,019,373 | 299, 212 720,161 1 70.6 859, 093 | 83.8
% o | 2,661 |1, 0p0, 366 | 421,606 658,760 | 60.9 019,457 | 71.6
¥ o & 278 906, ZéO 525, 930 380,350 | 41.9 401,790 | 94.7
3 Z¥ ] 1,812 | 1,807,978 | 579,303 | 1,228,675 | 67.9 | 1,070,346 | 114.8
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(71% : 10a)

A |7 F 25 | FBH & F 25 9145 §92/91
(kg) (%) (<) (%) (%) (%) (%)
= A 2o | 3,334 (1,803,694 | 488,488)1,315206 | 72.9 |1,109,878 | 118.5
wAEobE | 3,160 | 1,615,173 | 476,073] 1,139,100 | 70,5 | 1,044,037 | 109.1
7} A {2584 11,186,278 | 303,661 882,617 | 74.4 648,083 | 136.2
% =1 2,919 | 1,068,354 | 212,636 855, 718| 80.1 688, 755 | 124.2
=2 32,023 923,232 | 384,035 539,197 58.4 560,861 | 96.1
xR FQ | 2,102 1,425 156 | 352,108| 1,073,048 | 75.2 814,377 | 131.8
A by 2,450 | 1,190,700 | 334,112] 856,588 | 71.9 952,410 | 89.9
A g 7] | 1,148 | 1,750,928 | 574,942} 1,130,986 | 66.3 801, 065 | 158. 5
Al A A& | 3,650 | 2,379,800 | 839,238| 1,540,562 | 64.7 | 1,376,503 | 111.9
Al 3 | 3,384 | 6,579,831 |1,851,266] 4,728,565 | 71.8 |4,966,271 | 95.2
Al Qo] | 7,389 |5 918,589 (1,710,598 4,207,991 | 71.1 |2,819,371}149.3
AdEULE | 6,877 | 6,285 578 |1,515,167| 4,770,411 | 75.8 | 3,336,517 | 143.0
Az 4,956 | 2,924,040 |1,025,387 1,898,653 | 64.9 [2,133,695| 89.0
Al d =] | 2,586 |5 846,946 |1,815 864 4,031,082 | 68.9 |2 411,244 | 167.2
Al Z9 | 3,09 |3 944,304 {1,098 264 2,846,040 | 72.1 |2,201,795 | 129.3
Al 49y 3,372 | 3,338,280 |1,058,858| 2,279,422 | 68.2 |2,374,130 | 96.0
& 7 72 626,602 | 129,468 497,134 79.3 450, 129 | 110.4
1 7 91 254, 605 65,614| 188,991 | 74.2 166, 175 | 113.7
s T 190 520,240 | 187,165 333,075 | 64 0- 305, 297 1 109. 1
fr 2 181 156, 203 63, 234 92,969 | 59.5 61,836 | 150.3
4 49 & 262 | 1,264,176 | 396,818 867,358} 68.6 632,045 | 137.2
d 4 411 | 6,978,005 {2,265,683| 4,712,322 67.5 |5414,898 | 87.0
4dd)
X = 561 902, 865 | 509,790} 393,075 | 43.5 427,836 | 91.9
& 7+ 103 830,393 | 292,253] 538,140 64.8 472,097 | 114.0
ﬁ:g}%gg% 6,564 |12,312,258|4,171,727| 8,140,531 | 66.1 |7,774,818 | 104.7

-1




(712 10a)

ZFEYE | F 28g | Agu| & 5 | 4A58| 9145 | 92/91
(kg) () &) ) (%) (%) (%)
A A 2,358 1,859, 302 737,329| 1,121,973 | 60.3 | 1,543,163 72.7
| 2,325 2,443,285 | 806,515{ 1,636,770 | 66.9 | 1,566,982 | 104.5
B % of| 1,802 |1,647, 416 540, 148] 1,107,268 1 67.2 | 1,029, 567 { 107.5
X E | 1,708 | 2,489, 623 571,888( 1,917,735 77.0 | 1,372, 746 | 139.7
z = | 3,624 1,228,536 | 590,286| 638,250 | 51.9 11,679,818 | 38.0
o 21 1,028 11,353, 769 359,338] 094,431 73.4 1,269,302 | 78.3
g = 324 | 1,502, 335 276,126 1,226,209 1 81.6 | 1,353,303 90.6
2
= 3l | 72,652 | B, 175,420 {2, 612, 156 3,563,264 | 57.7 - -
B
FHu] o] 4 |164, 71916, 142, 462 |8, 168, 978 7,973,484 49.3 - -
B2
el &) 33,206 | 5,714, 108 |2, 467, 9861 3,246, 122 | 56.8 -~ -
E
ol o] 8] & | 44,382 | 8,699, 121 |4, 780,671| 3,918,450 | 45.0 - -
&
s u} 1108, 51811, 828, 4625, 112, 336] 6, 716,126 | 58.7 - -
_ =
Y 3k 132,936 |14, 987, 074 |6, 402, 170 8,584, 904 | 57.2
o
o A & | 5952 |8 820,864 13,328,170 5,492,694 | 62.9 - -
L
A o = 1123,481(15, 188, 16317, 155, 767 | 8,032,806 | 52.8 - -
e . _?
g s 0.9 11,333,888 | 462.508| 871,380 65.3 858, 407 | 101.5
(/<)
kg
SH-BIS-2 | 540.3 | 3,175, 604 |2,329,372| 846,232 | 26.6 692, 131 | 122.3
(F3/4)
kg
o % |5,559.5] 3,245,279 [1,449,658| 1,795,621 | 55.3 | 1,741,233 |103.1
(F3/4)

...12_




(71 : 10a)

B2 |4 F| 249 |BIY| & F|2SE| U5 |02/
(kg) (%) (£ ) {%) @y | %)
_'?.
¥oA E 18.7 710,608 | 361,256| 349, 352 49.1 578, 766 60.4
(2.18/%
Z/4)
kg
B & & | 237.4 326,240 | 2h0,288| 75,952 23.2 152, 500 49.8
(2.538)/%
Z/4)
7
A} @ A | 25,848 | 1,556,409 |1, 182,685| 373, 724 24.0 320,733 {116.5
10053/
4)
kg
& At 029.9 922,511 | 751,324 171,187 18.5 184, 155 893.0
(5.0%}/100
(F/<4)

(71§ : 10a)

ZE2Y | F|2FY (BIH | & F |25 9145 | 92/91
(kg) () S (%) (%) () (%)

2 461 651, 148 | 178,222 472,926 1 72.6 | 424,189 |111.5

2 2 g 260 264,711 | 89,880 174,821 | 66.0 | 139,193 | 125.6

g X g 301 298,042 | 99,292 198,750 | 66.7 | 146,717 |135.5

o} & | 1,068 |1,022,599 | 406,951 615,648 | 60.2 | 559,066 |110.1

687, 251 | 334,917 352,334 | 51.3 | 917,082 | 38.4

o
_E,
©.
-3
[ ]
<3

1,515, 164 | 292,080 | 1,223,104 | 80.7 | 955,663 |128.0

k
=
&

....13...
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FRe EFLSEAE
A5 (7% €13)/10a)
H| 5 E T ¥ |2 | F9 %) Hj z
2|F 4829 386ky 730 | 281,780
£ % &4 879 5,240 | HESS : 04 9%
“ A 287,020
F & ¥ 16. 1kg 71 11,458
272 M 2 13,439 | N:13.9P:12.0K : 0.6k
o T & 4 30290k
AR MELEL 845ty 1.3 | 2 "5 4050k
N 6,638 | 434 %A : 16.4cc
EA 1 0.2k
Bg.- Fgul 229831 4ZA A4 1 109.8cc
2|+ 9 (kA 0 LA
: 44 0.1k
A A 8 ¥ 3007 | A &A FA 330 0cc
AA 1.5k
& % T oy L4 . ®ol
AEREEE RN oo | M ¥ EOZ
o FA A 1,462
T2 (BE) v 4,651
g A =B 23,474
71 & 8 # 1,612
A 9, 867
]
W 3,253 ¥i2.3 Az
SIE R R IR el B e aa
A 111,591
13,253 g 1057 Az
A 7 % 9oy 48243 o @ 2007 U A7t
& = 175, 429
¥ o7 A A 188, 153
& 5 & (%) 61.1
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$55 EFLSPAE
4 = (71%& : 4131/10a)
H] = ¥ F T |27 |[F9 & H| z
z|F 4 8 7 4 626kg 504 315, 504
212 8 & 7 9 20,217 | 4E8&:93.2%
% A 335, 721
z ® 3 2. Gy 2, 245 5, 837
272 g4 20, 799 N:241P:13.0K: 14 2k
% 5 & 4 870k
CRIE FIE A 1, 254kg BT | G e+ 1 0cc
¥ % 6, 101 AA 2.0k
ALFA &R 23 1ce .
3d .59y 3, 550 B 6. The
7H| & A 2A 4 963 %c
A A § v 8,799 | # 160
' H] d 154 0m
A % F oy L197 | w 9d ;038
B|A| gy 10, 829
of Al A A 2} 674
T8 (EH) Y 4,675
fia x 2 952
71 8 8 778
y.| 88, 108
H]
g o 2,654 g 3.7 A7
e 8AI7
g4 w gy 15. 847 o 1 2015 34, 201 a1 Az
A 122, 309
g 2,654 31490 Azt
|
A 7 = ¥ o 88.34)7t o 2015 209, 235 o303 A7
4 = 218, 412
L 247,613
A = & (%) 63.5
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455 E

N

§ o
ASENE

FI {(71& : 413]/10a)
H] ) L $ g E [ F9ED H} kN
| % 4 8 7 9 5, 5857] | 172 960, 620
|2 4 2 79 39,231 | AEHE 1 03.6%
¥ A 999, 851
2 H 2. Thg 6,334 17, 104
o 44 8750
B | fAA0 RN | 1,92 2105 | 2 °0 3
C R 960 | &3A A : 378 5¢cc
H4) : 85k
#Y - FYy 3,226 AA i 10k
2 AFA A 119.dec
ZH| 43 (KF) Y 0V 424 84 2062c
A A 8 ¥ 74,167 A : 1.0k
3 7 lkw
A % 7oy 1,37 | & . 168
) g : 975.0m
RIS L 259 | g 2100770
FAAA 14865 |8l @ #:L2¢
A A A4 2| 3 9 Ok
e (BE)Y 5 112
8 e & =& 3, 744
7 8 & F 3,305
A 218,916
H]
g 2,6% ¥ 6.0 A7
T w A | SN | g | BOU Gl it
# 282, 930
. g 2,635 w533 b
A e B IRV gy | PR e Az
A 5 716,921
C I S 780, 935
E = &%) 7.7
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$ EF2SENE
o= (712 : d18/10a)
H| 5 E £ g g @) {9 @) H] ol
2| F 4 E 71 9 185ky 1,461 270, 285
#|1F 4 & 7 9 4,362 | AE5S: 86.6%
¥ A 274, 647
I 7.3kg 1,407 10,273
7] 28] § ) 12,044 | N:49P:7.6 K:6.6k
A1E| e ¥ & 4 3870k
7] A4 24 7004y 14,221 G2 oA 990 9cc
¥ o9 ¥ 6, 494 - %M} 2 0. kg
T A : 161, dec
Bd . 59 2,011 24 3.3
| & | A zA 4 218 7cc
TE]FJ'K%”H] 0 94+ 1.0k
A4 E o 1,075 | 2104
B od  B:(.4e
£ % T H 1,153 2 © 1. Dky
||| s 74z 9,608
A A Az 1,008
2 (BHE) 2, 306
Hie 2 g 4,022
7 g & F 1,538
A 66, 653
o]
3 2,828 1810 Azt
7 P L 9A1 7} u
n & g o 8.941 7t o ¢ 1976 18,438 Jepp Az
H 85, 091
' e 2,828 23:33.5 A7t
A7 = H L 4X 7 <
I g 66. 447 o ;197 159, 748 o309 A7
& = 189, 556
S B R 207, 994
A& % & (%) 69.0
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2 EFASEAE
a4 F (7% 913]/10a)
H] 5 ¥ F 7 | d7 @ | FdE) H] I

21 F 4 8 1 g 112k | 1,967 220, 304
22 4 2 7 4 2,761 | FEEE:86.0%
4 A 223, 065
£ ® oy 5. dkg 1,879 10, 151
"'Iﬂ"ﬂjg.ﬁlﬁﬂl 9'458 N.54P.6?K-6.21@
& A 3480k
A% %ﬂauiiﬁl 502kg 10, 300 g2 4 93 %c
¥ ¢ W 4,535 oA ¢ 0.1k
AFA &4 111 6ec
#9544 L990 | Al 2A A 179.5cc
1_']_- M %]*" . 10hg
| 48 (k) 0| o 210
A A 8 ¥ L4889 | 81 4 B:0.28
_ 3 1 2.0k
Ak 3oy 1,03
94| g5 Faay 9,818
o 5 A4 A7) 773
T (BE) Y 2,183
B o &4 & 899
71 8 & 2 676
A 53, 308
H]
g 1 2,533 g0 Az
S B S P R YO B L PR A
A 64, 891
\ g 2,59 3.3 A7
A4 7t = g oy 65. 0417 o : 1847 141, 526 o 1337 Az}
& = 158, 174
L S S 169, 757
A = & (%) 70.9
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9% FFASEME
1 = (7€ 1 418/10a)
B] = | 2 ¥ |97 @%) 29 &) o] X
z|F 4 &8 7 9 586 kg 848 496, 928
218 4 8 7 9 2,413 | BEEE 1 92.6%
4 A 499, 341
£ 5 ¥ 8. 3kg 1,977 16,415
7] v g9 16,034 |N:12.9P:10.9K : 10.3k
€4 370k
= o 6, 290 QA : 0.8k
AFA §4 : 185 0cc
9 58y 2,44 B : 11 9%
o~ Az2A #4211 dec
A A 8 39,345 | H 7 13¢
' H] o . 646, 0m
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2le 2 84 9 32,976 | HE8L:80.7%
L A 767,072
F B 9 94, Okg 503 47, 362
27128 24 15, 064 N:11L.2P:10.8K : i6. Tky
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AA 0.9k
B3d - F9w $,140 | ZFA /A 377 %c
B ’
2| 2 L BA 0.2k
F 9 (A o 0 qin ¢4 186 1cc
A A 8 4 2,878 LA 0.5k
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2 g 1.2d0 15,822 18, 987
- R R 27,538 N:30.4P:16.8K: 2L 3k
o = 4 A 3 103.0k
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2 H oy 0.9 15, 497 13, 947
By A u g 34,978 |N:35.9P:2L.7K: 24 Shy
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z & = ¥y 34. 34121 o : 2 054 73, 149 o 1314 A7
A 266, 309
2,984 g 56.8 Al
A 7 = g o 182,042 | G Ly g 323,952 | o 7e g A2
& = 514,872
24 A A 588, 021
A 5 &% 65.9

....34._.




LA 43 EELSEAE
= | (71 : A131/10a)
H] £ | & F g @) |29 @ H| il
| F 4 8 7 4 1,887ky | 534 | 1,007,658
1B 4 8 7 9 AEEE91.5%
4 A 1,007, 658
F R 9 3. 4df 5,918 20,122
2y A Zy 93101 [N24.3P:13.8K : 14. 8k
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AR B AR IO B T8 Do i
& = 1,315, 206
R 1, 436, 641
& E & (%) 72.9

_40....




4 = (71% : 918/10a)
o] = i + FgAE | F9 9 o} i
2| F 4 & 7 9 3, 160kg | 50 1,614,760
212 4 8 7 4 413 | AHEEE 1 89.6%
4 A 1,615, 173
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7 oF 33k
, A % F oo 1,433 {J % 7] ¢ 14, kw
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4 A 1,186,278
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T $8 (KF) 89 Q1A : 0.2k
A &R A4 264 2c
A A 2 W 84, 106 QA 0.7k
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F oA 30570k
SRR AT\ g3 34 a.cc
C - I | 14, 849 4 A : 3.5k
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4 A 1, 425, 156
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¢ 2,851 ¢ 5.7 A7
g e g | BB L T g i
A 352, 108
W 2,851 w1210 At
P R - I 232,677 o : 9033 571, 853 o 1116 A7
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® = NE: d13/10a)
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3 Ay g 96, 496 N:23.7P:16.4K: 21.0ks
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A 245, 388
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¢ 12,087 g 8.6 A7
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TE =R B G e 8724 | . 901 A7
A 334, 112
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4 A 1,705, 928
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SR KA 47T
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o A : L5k
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8 CRAD AzA SA 133 0cc
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A % T o 1,244 1R 7] ¢ 14, Okw
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4 A4 & ° |z e o0
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A 388, 950
H]
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TEEA ) BV e B g Az
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AAAE BEELEFAHX
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H] Z -] ¢ F | g74E 29 E) H] i
= F & 8 7 4 3, 650kg 652 2,379, 800
213 4 8 79 AEHE 1 03.5%
4 A 2,379, 800
& By 2.9d¢ 8,671 25, 148
2 7] 7 v) 81| 99, 454 N:35.3P:18.1K:23 4ky
2 o B & A 31050k
B[ AR e LI\ 3A 4 e
¥ O0% oy 12, 264 AdA 1.6k
A #A - fA ;337 Tcc
3¢ ¥4y 15,188 B ¢ 168k
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A A 8 4 201,606 | & 7] & 285. 0kw
% 3300
A 5 F ow 5,827 | w) d 679, 0m
- g 499,770
A dEF ez B0 5 = g0
3 F A A Azl 77761 1 8 B:3.58
4 : 34, Oky
& (BH) 4 6,73 | 4 A 1 2.0k
. 4 q ;150,07
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71 & & F 3068 | 2 A A 830.04
A 517,863
18l :
‘ g 3,212 g 164 A7
B }
TR U 143.04) 7 o090 124 321,575 3 : 1966 A7}
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AA2F EF2SEAE
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z| & & B 9 3, 384kg ° 1,044 | 6,578,49%
212 % 2 7 9 1,335 | AE3&:03.8%
4 A 5,579, 831
£ 85 B 1.5d0 30, 597 45, 896
2o 2 e g 48, 831 N:42.6P:28. 1K : 34 Gk
& . 106
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¥ o g,085 |43 %:: Ezlsf gskg e
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4 A 8w 622, 548 § 7] 383, Okw
2 1 1,415.00
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A B 126,221 A & : 317.07
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47 (H8) 18,419 % : 212.0
=T (E8) Y 3 A+ 00k
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AH 1,377,876
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¢ 13,216 g o245 Az
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N BESE  0.5%
4 A 5,918, 589
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7] 2w &4 61,026 N:50.5P:28.7K : 47 4kg
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. QA 1.8k -
%4 - T4 306. 318 AT A %;ﬂﬂ :2.32;.3«:
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2 (BH) 1 4,932 (¥ 9@ B g1
3 : 03, Okg
Blag 24 = 20,187 1A H 11707
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L= i |
#E - EEY 19.713 A A f‘rzi} : 1,052, 2cc
2| o ) s 880 BA 0.4k
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F 7 1 62.0¢8
A % 3oy 3.867 {4 g 1107
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g (BE) Y 3 A 1ok
319 H4 = 31,119 |4 o 41,07
=3 E 564071
71 g & 2 9,378 £ A A = : 618.04
#) 1,408, 432
¥)
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18 8 2 59 AESE 104 T%
¢ A 3, 944, 304
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29 - E9y 13, 067 EA 0.2
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| 939, 354
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I & x ¥y 65. 241 7 o ;2147 158, 810 o488 A7
A 1,008, 264
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A 5 9, 846, 040
CIE R 3, 004, 950
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S| ¥ 4 B Y AZE S 04, 0%
¥ A 3,338, 280
F 5 9 3. 0df 26, 986 80, 959
51 ¥ 2 8) 36, 048 N:30.9P: 191K : 27 8k
o T 44 7 1110k
1% g3 EY | 293k 84,678 | 527 3 s
Y 29, 752 A 6.4k
§ 9 ] A 0. 4ky
39 - 590 12,888 | & ZA %21} : 1,011, 8cc
A ;0 1k
T8 (AFDH 724 1A A A 2839
A 0.1k
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_ A 7] 1 42, Okw -
: & F T Y 1,957 K e L4000
|4 | s 74z 35,583 |4 g :7.00
: H] d :1,022.0m
% Al A 4 Zh] 97,624 | & = 80 -
- 3 d B 418
T2 (E#)H 14, 525 = * 150, Okg
. 4 w174, 07
e A = 21,352 1z E 924 07
g 8 F 7438 |2 A A 5.0
A 860,717
B}
g 3,133 97,7 A7
SR - | 8L. 612 o 1 2 066 108, 141 o 5.9 A7
A 1,058, 858
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2 E 2,279, 422
L R T 2,477,563
A2 B g% 68.2
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A (71& : 418/10a)
H] 5 = £ ¥ a7 T8 1) a
z| % & 8 7 9 2k 8, 684 625, 248
l2 8 g o 1,354 | AFESS  88.3%
E Al 626, 602
2 g ¥ 0. 8k 7,571 6, 057
B4 g 12, 156 N:88P:60K:9 3k
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BN\F [ AAgmaa | stk DO a4 - 3 4ec
o ) 16,809 BA 420
AA : 0.8k .
9 - FYy 2,72 | 4gA $A : 679 6cc
| 2 (kA 0 A
Ll AzA A U2 6cc
A A 8 19, 358 QA : 0.3k
# 2144
& % F u 1,182 | n d : 1,001 0m
v ¥ 0.8
FIA| oA 11,138 3 1 0kg
o A A A 2 a73
8 (BE) v 3,980
e @ B 2,85%
7 8 & F 814
A 98, 055
H]
¢ 2,739 g 2.2 A7
'
i1 4 = ¥ o 15.3*]{ o : 1938 31,413 o1 13,1 A
A 129, 468
| ' g ;9,739 9419 Azt
!
A 7 = g ¥ 89. 9417} o 198 AL i
A = 497, 134
L 598, 547
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5 EFLSENE
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H] Z = ¢ ¥ | g7E | F9 &) H] k7l
215 & 2 7 9 91kg 9,738 249, 158
212 4 2 7 49 5,447 | AHEE& :85.2%
4 A 254, 605
2 g i 2. 1kg 2, 546 5, 347
=) 2w 2 9,824 | NtIL2ZP:6.7K:7.0kg
o 7 % T & 4 3310k
BB guan s WP gaA o o s
- .| 4,529 A - 0.2k
AFA 3 101 8ce
3g - Edgy 1,832 B 0.1k
2| 8 (kA Y o |AEA B b
A A 8 9 2, 655 S
Hj g 49.0m
& % F o 886 | & 2z 0.7
DA =Ty 12, 249 _H} ,ﬁ J‘fgg:ég
% %A 4 2] 761 :
&8 (7)Y 2, 297
g le x4 =& 1,267
7l 8 8 ¥ 531
A 51, 968
H]
2,779 g:0.9 A7k
T % = gy 6.347 o + 2 064 13,66 | & ey N
#) 65, 614
32,779 36,0 Azt
A 7w @ oy UREIN I 185,700 | g2 1y s A7
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4 = (1% d13)/10a)
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a2 4 B 79 2,300 | AHEE& :90.8%
4 A 500, 240
F E oy 10. 9kg 2, 754 30, 024
7 A u] 24| 18113 | N:6.6P:12.8K 113k
¥ & 4 3 1210k
B1{%| &7 2 8y 931 kg 20, 776 Sad eA] 9800
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AA 3.4k .
#d - Fdy 2,884 | 4 &4 97 lcc
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A A B ¥ 19,084 | A1 &4 A : 200.9cc
, YA 1. 0Okg
& % T i L100 | 2 & % oF: 0.4k
' f g 140
B AE T B3 e g og00m
3 5N A A L170 |81 4 #0268
) A 1.0k
T2 (BHE) Y 3,869
i e x = 5,738
71 8 & 2 1,718
H 128, 836
H]
g 2,905 Y47 A7k
T & x gy 26. 64 74 o © 2 040 58, 329 o919 Az
Al 187, 165
2,905 49,3 Alzk
A 7 = 8 99. 34 74 o 2040 245,216 o 50.0 A7
A = 333, 075
¥ 5 7 A 391, 404
A = & (%) 64.0
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A FFEA5FEAE
A 0= (71F : ¢13/10a)
EH = ] & F g @) F9E 8| il
2|32 4 2 A 9 181kg 83 | 156,203
NENE K HEHE 07 0%
¥ A 156, 203
£ B .3k 786 1,023
B Au 8] 18435 |N:25.1P:16.0K : 14 1k
2 A 24 A4 217 4cc
| a718v 8y 0) 934 %4 1L lec
= o 4,077 | MEA FA 9 Tcc
AA 26k
Fd - FEy L472 | & 2.0
7| £ (KF) 0
A A 2 n 1, 460
A = Ty 1,209
FAus ALy 6, 903
% A4 A 2] 228
T (EE) Y 1, 469
Hlte 2z & 0
7l 8 & ¥ 0
A 36, 278
2} ».
3,442 0.0 A7k
X .
T8 =g LTAZ | Gy g 2,96 | 5. 117 Az
A 63, 234
03,442 g :19.5 Az
b= A B g | BB g A2
& 5 92, 969
274 7 4 119, 925
A = & (%) 59.5
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ddx HFLEEAME
3 = (712 : 18/10a)
g =3 | 2 F |9 @) |29 &) 1) kil
2| F 4 2 7 4 262ky 4,819 1,262, 578
&2 4 g 7 9 1,598 | AE8&:98.3%
4 A 1,264,176
F B Y 0 | S AH4TAZLTE
B7) 48] 24| 27072 N:20.3P:15.2X:26. Try
A 3 . .
$enane | 17 5,00 |5 4y 413:% :23423"‘;0
24 21
5o o g 74 OQ:\H i3
) A fA 334 5cc”
1 e - A x=A -H‘gjq} :0.§kg
| 22 (kF) o (A=A A : 443.0cc
T QA ¢ 6.2k
A A 8 4 38,341 (7] & B o : 2244k
A 7] : 99kw
A %—_ 3 H% 2,137 ﬁ' 8 . 1402
_ of @ 500
Al s A2 25,034 [x) d 1,003 0m
&5 A7 RO A (44
~ 3 : 26.0kg
Ml R B 8,271
7 &8 & & 5, 531
;| ' 276,822
92,678 22,6 Ky
32 £ x gy 80, 44 7 o ¢ 1 8% 169, 996 o 57.8 A7
A 396, 818
Y 2,678 w142.9 A7z
}.
A = Q Hi 266. 0A] 7t o 1894 615, 837 o :123.1 A7
A = 867, 358
8 34 A A 1,037, 354
A 5 &%) 68. 6
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94 FFLSEAE
A =2 (12 1 A18/10a)
B] = - F % (9@ | F9 @) H] n
2| F 4 g 7 9 411kg 16,805 | 6,943, 845
28 4 2 7 9 34,160 | AE8HS : 95.6%
% A | 6,978, 005
z H oy 7.7d0 25,526 196, 555
%7]@31351 3,952 N:1L3P:1.6 K:2 Lk
40N 3330k
B|%| 47120 2y 5, 274k 173,628 | Sa% A - 1469, lcc
| 100, 836 24 1 0.8k
A ;19 8k
Z¢g - 54y 17,630 | &34 &4 : 3,508 %c
~ A4 1.8k
Z-]: Ti](ﬂ(ﬂ)ﬁl 0 ot]zﬂuozkg
A A 8 oA 542 550 | A &A1 A ¢ 636 4cc
1A ;0. 4k
& % F o 5700 | 7) & % o : 1.0k
A 7] 153kw
% 7~H. Y & F A4z 38,541 | o Eoy
Q%A A A 2 9,321 | HI d : 461. 0m
g 2 451 1A
=3 (B8) 4 21479 W] d  &:558
_ . 3 : 1,320 0kg
Hie oz & 227,036 | A 1560k
71 84 8 & | 11,512
A 1,341,649
H]
g 2,740 w1273 Az
BEEEE L ARVR g | AP g A2
# 9, 265, 683
32,740 1 256. 2 A
2 7 % g o 479. 6A| 2t o ram| b 142,532 ooy Az
& = 4,712, 322
I 5, 636, 356
A = &%) 67.5
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X EFLEFAHE
4 = (718 : ¥13/10a)
H| 5 =3 & |28 | F4 & H] 2
2| & & 8 7 9 561. Oky 1,609 902, 649
2l 8 g 79 216 | A48 :98.1%
4 A 902, 865
273 H g8 37, 449
f71 29 8 1,573k 51,342 {N:33.1P:26.3K:28.7k
& 4 3900k
ZlF|s a4 32,78 A2 A 766 Tec
BE - FYy 4,447 A 0.2k
AA . L1ks .
48 (K F) ¥ 0| &ZA ¢4 133.3cc
\ 2411k
1A A & 0.382 1 24 84 518 3c
& % T 4 2,138 QA 1 42 1ky
A 7] ¢ 35 Okw
o5 742y 14,742 | & B 18.3¢
P P o o454
B | A | a4z e O T R
i (E8]) 4 16, 938 3 : 354, Okg
T A 60
2 A4 ¥ 47,635
o 2 g 0
7 g 8 @ 1,558
A 259, 820
B]
g : 2,510 g:o12.9 Az
A1t )
T & x g oy 130. 2417 o L85 249, 970 o 117.3 A7
A 509, 790
- | g a0 w1030 A7t
L3417 ,
Ix} 7w & _212 3N 7 o 185 461, 281 o 109.3 A7
A = 393, 075
LI S S 643, 045
A2 5 &% 43.5
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I3 BEASRAE
= (71% : 413/10a)
H] 5 | F F g (9 & H| I
2| F 4 2 A S50k F8143 812, 927
N 2457 37,712
Fle g e g 17,466 | AF=8HE : 100. 0%
4 A 830, 399
2 ®5 8|21.64% 11, 353 34,927
1.4 11,972
N:30.6P:15.3K :19 4k
5| PR & N 15 8 4 8 : L0k
#7140 2y 1, 565k 33,730 |4 %A ﬁr;‘} fgﬂg-kgcc
I 17,699 A4 : 0. 6ec
O .
%9 - 594 a5 | #EA 7 ¢ N8 e
| g (k) NEES ﬁ ! 635. Bec
A4 : 0.5
A A & . 0,30 15 g % o :1.73
A B ' 1,807 |3 70 1 21 Okw
& 7 : # R
A | HE T4 20,009 1o @ : 10.07
] d :53.0m
ERERS LR I
T (BE) Y 11,116 [A) } 7 :0.31}}
PP o o 51
gl & % 18,58 4 9l0k
4 #A# EB 1,295 | A 620k
A8 8 F peo |7 ¥ ¥l
A 293,519
' ¢ @ 2,781 g 7.2 A7
z84xdn ;2.4»\121 a0 1933 8,734 | o2 L gr A7
A 292, 253
g g8t o 1 165.2 Az
A 7w g ¥ WAL | g | g B2.825 | o3 o0 ) Na
% 5 538, 140
] I 606, 874
A2 % & 64.8
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) =
E5EHE

A # (71 : €1/100%)
H] 8 | £ F |84 |29 &) o] I
2|2 4 &8 2 9 6, 564k 1,861 | 12,215,604 | A7AMI 4 1.63)
212 &4 7 9 96,654 | A& 94 5%
¥ o 12,312, 258
424 4 @393 1cc
3 _ 1,204 | 909,620
z 7 755. Okg oA 0.2
W A A 2 W | 11,930k 61 | 1,093,677 QA : 16k
Alz (8 ) A7 £4 : 380 lec
- O RA 0.4y
& % 21, 028 94 0.1y
BY - FYy 378,215 |7) B & F ' 4Tk
[+) =2
| = # 2 1 1,408.04
S8 (K F) #l BT | g vl
A A 2 495,925 |3 71 : 691 Okw
El g 733.3m
Py . 4,712
53 - o838
(A dsFHD 7.6 1y o] = :2.8)
5|4 2] 291,966 | L T & = 1 6Im
. 5 S 140k
el (BR) v 58,580 |5 g & 909.0
Wla % = 16,542 |¥ 2 1 19,0k
| . 2 Aok
78 4 3 2463 \ % o4 1 : 17500
A 3, 436, 309
3] -
g 2,043 117,68 Az
ki b B JTAIZE .
8= E MBI g | T g Az
7 4,171,797
W 02,03 [ a7 A
7 X H .3A17E , 290,
F 4 ox g ow BLINZ | o Ly g | LIS | oo g
& £ 8, 140, 531
5 5 7 A 8, 875, 949
&4 % & 66. 1
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A5 EFASEAE
4 = (71& : 413]/10a)
8] u ] ¢ ¥ |28 | T4 8 ] k1A
z|F 4 F 71 9 2,358, Okg 785 1,851,030
S| R 4 E G : 8,272 | 4EHE :91.6%
4 A 1,859, 302
714 8y 41,853
| %7] ﬁ ﬂ] EB] 2, 157kg 45, 906 N:24.0P:17.8K: 240"39
' T 4 4 316400y
BlEls oo 0L709 | % "4 % : Lok
B8 . 5y 16,810 | %A A : 3,801 3cc
, A 0 1k
+8 (KF) o 0 AA & 0.6k
2} : A4gA A : 5161 6cc
A A4 8 o 157, 066 U
A% o 9,644 | A ZA A & 1,006 3cc
1A 0.1k
R ] 40,786 | = 7]+ 36.0kw
- . ¥ 66.4¢
A | g 0.9 | Zot (230) 1 166 5
R RE- 20 13,630 | P P s ol i 0.1
. : Hood P43
x 4 9 27, 045 Ed] * 80, Okg
. % © A 25.0k
eoA s L2Z | 5 5 o 3 1500k
7l 8 8 F 6,919 | Hi d @147, 0m
p.| 465, 524
H]
' 3,002 401 A7t
Z & k¥ | 116547 o 1 198 971, 805 o 764 A7
H 737,329
' 3,002 w1300 A7k
- - 236.6A17 & ¢ 198 610, 721 o s
& = 1,121,973
¥ A A A 1,393,778
Eo = £ (%) 60.3

....65_




W EE2SEAE
A = (71 @ €1%/10a)
H) B ] F F g |9 @) H| A
2| % & B 7 4 | 2,350k 1,050 | 2, 441,250
|8 4 8 74 2,035 | AEFE:92.8%
4 A 9, 443, 985
By 3w 8] 42,195
47 4 8 24 9, 440kg 54,463 |N:20.3P:20.9K : 27, 0ky
¥ &4 3 1340k
Els 4 BL2M | haq 9 1 3,004 5cc
3d - F9y 11, 187 BA 0.2k
Adg 44 3 75.9%¢c
42 (KF) ¥ 0 BA 0.1k
AzA f4 877 9cc
1A A 8 ¥ 185, 259 3 21+ 18, 0w
A = F ¥ 2,796 | B44.9¢
Fo] (£3]) : 218 6k
4 E 74z 3981y 9 Z:s578
3 : 30.0¢
3| A | dsAggg 938 | g * 40k
+7 (E8) Y 1465 | EF A A 157.00
H] gL 0m
I | 28, 067
Hle % =g 11,786
7 8 & B 6,192
A 481,050
Gl
3,32 58,6 A 7H
I 4 =9y 125.8*]7\1‘ o : 2961 305,485 | o . g7 5 Az
A 806,515 |
o392 152, 1 Az
\ b
2} 7} ox ¥ oy 259, 9417t o : 2061 M3 | & e N
& = 1, 636, 770
L 1,962, 235
& = £ (%) 66.9
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Byo) EFLSEAE
a = (1% : 418)/10)
H] 5 L S < O B ) I = I ) il I
% & 8 7 4| 18020k 913 | 1,645,226
NI 2,190 | AE8E 1 92.9%
4 A 1,647, 416
2.7 28 4 34,734 |N:26.1P:18.9K : 2.1k
F2u g | 2 140k 50,647 |5 & 4 & : 1020k
AlF|s g 48,329 934 _gﬁ] ;3;;?,;"9“
349 54y W09 | e jﬁ% 5 2. 1o
S (KF) ) 0 A 0.3
A A4 2 H 95,469 134 24 E}:} gzikgcc
&% 7y vy Y
o5 7 A 2w 20,409 | = F 1 48.3¢
A | gEAgyz s |p OL(%?XLQ ety
S (E) Y 9541 M ,ﬁ & fsgfir:g
2 4 46,292 | ¥ A 7.0k
Mig % = 4,299 f]z‘} K Zé :: 11.2037}:07H
18 8 & 5,431
. A 333, 184
e A
A 540, 148
A= dou | u61A2 33{1};3 661, 508 gig?g i},{;
& s 1, 107, 268
= 7 A 4 1,314,232
& 5 &%) | 67.2.
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IE ZFLEFHR
4 = (1% : @181/102)
Bl & ] $ % (271 @) 29 %) H] kTl
=& &4 2 2 94| 1,708 0k 1,457 | 2,488,556
- 1,067 | A=8&: 92.0%
E A 2,489, 62
LR 31,481 |N:21.2P:18.4K : 21 2k
7128 2 2,517kg 55,207 |% & A 3 @ 122.0k
T+ A A 4k
G D B 46.753 \nax #4137 %c
, 24 0.2k
EA R 8,278 A 05k
8 (K F) v 0 |A#F4 &4 1985 3cc
BA .6k
TLA A 8 v 162,539 |4 22 A : 687, dcc
QA : 0.2k
|z % 7 212 |4 7] : %0, 0kw
0 % A2 e 922,704 | & 2 40,30
Fol (X&A]) : 80.8k
LA | AEAEAZ 238 lyp 9 2 308
. . 2 : 93, 0ky
T2 (EE) 2819 15 270 2 ¢ 2100
z 4 H 38,896 | ™ d 1 263. 070
o @4 B 192
7 B 8 @ 3,862
A 390, 911
B
3,168 g4 M7
T8 x ¥ 3 AR oy e 180,97 | & 7 s A7
7 571, 888
g 3,168 1621 Azt
b S 282. 01T o 9,169 773,585 o :119.9 Azt
A =4 1,917,735
o 2 A 2,098, 712
£ = & (%) 77.0
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#% EFASEAE
33 (712 : 413)/10a)
H] 5 | T #F | gdAE |29 E) H] aZ
z|F 4 B A o4 | 3,640k 339 | 1,228,536
Sl F A4 F 9 NEGE 84, 5%
4 A 1,228, 53
294 d 84 46,546 |N:36.5P:38.2K: 32 Lk
F 7] A ¥ E 4] T72kg 95,084 |5 & 4 3 :69.0ky
. A O .
AFls 9 ¥ 8,000 |2 Ej} nggig'scc
39 .%d8 6, 883 AdA 4 2240 9cc
Rl L R AL
_ 8 (KF)) v 0 (A x4 FA : 140 lcc
A 7] 1L Okw
2|4 A & v 108,872 | o 2 1349
A ¥ g [P P oW a0
7 8 3 2 170. Oky
0% 74 4 21,259 | X & A &} 1 120.070
B : 10,
B[4 | 95na42m) 6ot | € 100m
T {(BE) 9 11, 601
z A 26,322
Hie =z = 0
71 8% 8 F 0
# 417,788
H]
o4, 484 g 0.9 Azt
7T £ v B gl 7H
T & s 8§y 75. 94 7 d L 172,497 | 3 L o' Ao
A 590, 286
g 4,484 W 93.8 A7
X * B A7 C
I g 202. 647 a0 Lo 831780 | & . 10s.s A
& S 638, 250
F 7 A F 810, 747
& B &% 5.9
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= (71% : @13 /10a)
u] g | ¢ ¥ |97 $) | 9 (¢) H] k)
z|F & B 7 9| 1,020k 1,315 | 1,351,820
22 4 2 7 9 1,949 | AFEELE 91 8%
L A 1,363, 769
27 A8 gy 80,455 |N:25.3P:18.3K: 225k
71 A & 2, 455kg 65157 |% & A 3 : 980k
%A &4 1,690 6cc
BI%|% o4 ¥ 39, 342 2 02k
o . H 6, 357 AA A 1,897 lcc
%g sa A 07
72 (KF) 0 (Al 24 §A : 705 Tcc
AA 0. 1k
214 A4 & 48,007 | o 2 5.5
FOl(ZFA) : 0.6k
£ 7o 223 PP w o 024
o5 74 2 15790 (4] 9 & :2.9d
g : 40. Okg
CAERE S RERE 2,209 |g A L0k
~ U S S PR |
= (8 6, 238 . d :1om
z 4 ¥ 23, 895 -
Hlg & =B 189
71 8 & 2 5,887
A 245, 760
H]
' ¢ 3,060 21,0 A7k
KU . #Bl 4. 187 o 713 113,578 o9 1 A7
A 359, 338
¢ 1 3,060 ¢ 100.7 ALz
A7 = g o 167. 9417 &t 5135 451,614 o 6.2 A7
& E 994, 431
CRE (T N 1,108, 009
A = & (%) 78.4
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A% EFASEYE

3 = (N1& : 4138/10a)
H] =3 | & FoidAE [ F9 @) H] 1k
2| F 4 8 7 9 394, Oy 4,627 | 1,499,148
12 24 2 79 3,187 | 4EEE:00.2%
e A 1,502, 335
CEELED) 95,888 |N:20.6P:14.8K : 17. 9k
724 29 1,975k 4,170 |5 & 4 3 : 1010k
T 4 3 2.0k
3% & 19.806 |ar2a) %4 : Ml 8
. AA 01k
B9 5E 5285 yan $4 : 636.6cc
8 (KF) 4 ] A 1 0.2k
A $A %68
AP to.a19 | VAN BN e
A ¥ | 7] : 2. 0kw
5 7 W LEL o £ : 58,80
g & F A 2 ) 21,975 |Fol (EFA]) : 0.5k
PP oo ;e
DA | gsAELD 2331 (o) 9 = ;18
A 3 . 72.0kg
2 A 2.595 | & 4 A 1L
H] d :7.0m
Bl 4 =& 5, 838
7 8 8 2 3,677
Al 193, 611
H]
. 32,09 EESTR: Azt
% g =Y oy B.192 | & g0 B5I5 | o0y g A
A 975, 196
o 2,0% 81,3 Az
A4 7w @ 150042 | Y ooy S48TL | o - a7 A7
S = 1, 226, 209
= 7 7 A 1,308, 724
A = &% 81.6
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3 EFASEAME
q F 712 : 1718/10a)
B] 5 g & FlaaE) |39 @) H] 2
2| & & 2 2 9| 76582 85 | 6 175 420
|2 &4 8 7 4 AEF S 87. 3%
4 Al 6,175, 420
T u ¥ | 3257592 31 | 1,039,316
27 An gx 32, 458 N:27.3P:22.2K:21.$kg
B1F{ &4y 8y 3, 726kg 114,719 |5 & 4 8 : 9.0k
T &4 4 50k
2 B 86.305 | 23a §A ;4,594 lcc
H . .
39 - 599 204, 541 ‘ﬂ ; ?:?g
7H| 28 (kF) 8 9815 |4 A 4 3,613 3cc
BA 1.2k
A A g 4 278,796 A & 4 : 203 6cc
AA 0.2
N AR T37 15 & % o 04k |
%A i 92,100 | 7] ¢ 1,570, Okw
WA & £ 01,0130
o 35-A) 4 4 2w} 141,168 |l d : 317.0m
k1 Z 1 13.07
s (EE) 16,698 1 = o : 492. 07
B . v 4@ & l4.68
g 2 = 8088 |y oy i+ 15y
7 g 8 F 9,170 [E & A = : 8307
A 2,107, 461
H]
o 2,897 g 271 A7t
7! B ]-
g =g oH | A40L3NT a1 9 504,695 | o3 g1 5 i
A 9,612, 156
¢ 2,897 ¢ 1 326.2 A7k
B b
A A w g oy §57. 6412} o 1999 LOOTATO | & aay Ao
£ = 3, 563, 264
R 4,067, 959
A2 & &% 57,7
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Aol EEE5EA

4 = (71& : 1713 /10a)
H] % | ¥ g4 @) |39 @) Gl o]
% A 2 J 9| 1647198 98 | 16, 142, 462
22 &4 8 7 9 AEEE:193.7%
¥ A 16, 142, 462
F 0B ou | 46078 145 | 2,134,161
7124 724 55,954 |N:57.9P:38.8K :58.3k
B1%F| §71 44 2y 5, 405k 055,043 | & A & : 1330k
T 4 2 230k
0% ¥ 304,493 |24 $A 9,945 lcc
. BA L0k
B . 2y 1,571, 963 A -7 1k
| 27 (AF) Y 0,500 FETA BA 0.4k
AzA F4 424 %c
A A& 8B 4 1,362,984 [7] & % @ : 48k
A 7] 3,475, 0kw
&2 5 F oy 10,021 | o 2 8,675.0¢
9|4 3 346,358 |¥! 2 0 1,130.0m
LR g 2 7T
o A4 44 zh] 410,741 {# & o : 634.0%
. o 4 ¥ 1348
2 (B E) bl 68.040 19 2o @ 7 : 8k
Mlg 2w w057 | A 80N
71 8 8 2 105, 180
A 7,092, 705
H}
g ;3110 g 1219 ARl
k— B . I_]: 1 1
T £ = F H | 57.7A7 4| LU G A
A 8, 168, 978
o003, 110 o 806. 1 Azt
x H , 585. 0A] 7% , 845,
2 7 g d |1,585.04)7 aims | 8 21| G s oo
A = 7,973, 484
2 7 7 A 9, 049, 757
2 = 2% 49.3
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&2 EF

=
A5EHE

A =2 1€ * 1713/10a)
B] 5 o & F a7 E9 $) g 2
2| & &4 2 71 9 33, 2062 168 | 5, 578 608
212 4 2 7 9 135,500 | ArE3H& : 89. 2%
4 A 5714108
= m d | 375072 38 | 1,465,396
=) 4w 2y 32 533 |N:27.3P:19.5K : 20. kg
B|%| 47139 8y 2, 669k 79,557 |% & 4 3 @ 1020k
T+ & A 30k
L 63,171 {4 3A &4 1,022 7cc
) BA  76.6k -
¥ Fan 50 4A : 3.0k
| 48 (kF) 9 624 |AEA §A :1,097.9cc
B4 0.8k
A A & W 1,782 |4 24 4 1 262.7cc
AA (0.9
& % 7 276 |5 3 i
9|4 H 57,503 |7 & : 16104
W TAAY H] g 510.0m
o A 4 Az 176,204 & Z : 55.57)
' A F o o 16504
&2 (B®) U9 o 9 @ :ess
B | o 5 3 : 48.Okg
2] 4 B 24, 097 3 A : 2 0k
71 8 & 2 9,899 | A& A & : 109.070
: A 9,192, 900
B]
g 3,156 ¢ 95.8 Az
= H L 5A1 7
T &% gy 120. 547 o 2 045 25,086 | o3 Loy 7 oo
A 9, 467, 986
33,15 (740 At
A 7 = o L3717
bt g i 370. 347 o + 2045 90,577 | & 16,3 A2
% = 3, 246, 122
B 7 7 A 3,521, 208
& g & (%) 56.8
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A =2 (1€ : 1718/10a)
H] g | s FlgAE |29 &) H] 3
2| & 4 2 7 9 44,3822 193 | 8,565,726
22 4 82 7 9 133,395 | AHE8 & 1 81.7%
e A 8,699, 121
F m | 52,272.02 68 | 3,579,877
LT 97,773 |N:2L2P:23.3K : 2.5k
B |%| 57408 89 9, 64k 82,922 |5 & A 8 : 129.0k
A2A A 756 4cc
¥ 9% 33,748 BA 0.1k
A} 2 4kg
39 - &4y 23588 |y oA ¢ 1,286 8cc
| &g (kA 6,692 4 1 0.4k
T )l AZA §4 129 6cc
A A B 175, 062 A ¢ 0.1k
. 7 ok 1 (.3
& 5 7 2315 %4] s 7_; :285.kf)kw
9 | A B 5,578 | F L1400
AR ° B d : 423.0m
¢ A A4 AF 28] 218,455 | & %60
A F o :4L0A
Y (ER) 9 LT v 9 & :oTe
H - 3 ¢ 114.0ky
g 2 = 2,08 |2 2"n A+ 60 |
78 48 g 6, 667
: A 4,476,778
B]
2,921 v 130 A ZE
1
T8 = 8 b 147. 1A 2 o 1963 303,893 | 1 o4 N
A 4,780, 671
92,92 ¢ : 256.0 Az
].
A ogb = ¥ oy S8.BAT | G gy | LUMOE) o g A7
A = 3,918, 450
CRE S 4,222, 343
2 B & 45.0
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4] EELEEAE
B =2 (71& 1 171%/10a)
d] g - £ g | g74@ | F9E) ] il
| % & % 2 4| 1085188 109 | 11,828,462
|8 4 B 9 A 00.3%
4 A 11, 828, 462
2 B8 | 4309.7% 143 616, 806
LAl g 86,148 | P:68.1 K:589k
A% g7 2 &y 6, 359ky- 243,370 |5 & 4 3 : 99.0k
F o4 = 10k
2 07846 |Ar2A $4 ;8811 Tcc
3459y 1, 343, 333 24 0.4k
T A 13k
T 48 (KF) ] 5,190 |4 TA BA L1k
AxA F4 711 0cc
AA B v 653, 152 Q& : 0.3k
71 & % 9 21y
& F 7 14,103 | 5 7 6621, Okw
3| A - 7 4} 7hy 277,615 | F o0 7,15104
AR ) W 788.0m
% A4 A 7] 382,608 |& Z 1B
) A F o 4.0
T8 (8) v 116,254 |y ¢ & : 608
B 5 4 0 2.0k
1l 2 = 25,310 | A a0
7l g & ¥ 36,087 (2 & § A 3k
T A A A 24200
. ) 4,308, 652
H] .
| g 3,63 g o84 A7
T & w g o  BA|ZE . , :
2§ = 8 | 316643 d ¢ 9005 783,684 | 3 g Ay
A 5, 112,336
8,632 W 1 475.6 Az
® B }
2 7 8 1 918. 94 7t o oo | DG G N2
& 5 6,716, 126
L I 7,499, 810
& 5 &%) 56.7
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A = {71& + 171%/10a)
H]| 5 ] £ @ igA@ |9 &) ] a
2zl F 4 2 7 9 32, 9362 374 | 12,318, 064
2 4 8 7 9 2,669,010 | 4S84 90.9%
£ A 14,987, 074
2 B d | 38807 104 | 4,048,963
27 A 84 35, 290 N:23.5P:22.3K: 2L 8k
_ X © 114.0ks -
A% | 47134 2y 4,594 kg - 152, 465 3%33;41 ;]-?j]] :1,127.kicc
' BA 0.9
S | 54,083 g]fﬂ ;4.5&
AFA $A 11,3573
B¢ - 29y 467,858 S o
A x2A 4 126.0cc
2| #e (kA ¥ 10283 | A 0Bl
1 e 5 o L8k
A A B y 513,375 [A 7] @ 769. Okw
& B 1 2,567.0¢
& % F oy 2,789 g g :672.]{]]m
: 087
13[4 gs3742y 184,002 (A F o : 30209
W9 B o d4E
FA LA 341, 525 E] 26,0k
% A . 65 0ky
2 (B8 v 60,99 | & ¥ 7 : 80k
E E :2.0M
Hleg % =& 20,87 | A A4 & us.0n
7 8 & 2 13,528
| A 5,915, 117
) : , ‘ .
¢ 2,956 20,2 A7
e } : :
2§ =g | 2363 o 193 .487.053. ey A7
A 6, 402, 170
¢ 2,956 3 265.2 A
A 7 = 8oy 537.2A1 3% o : 1.9% 1,310, 251 o 272.0 A7
A =4 8, 584, 904
CR I S 9,071, 957
A B & 57.2
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iz EFLEEAE
4 =2 (712 : 1713/10a)
¥ 20 2 g g4 @ [{FYEQ ) k)
z|F 4 5 7 9 5, 952 1,482 | 8,820,864
8 4 g 74 g AEEE 88 1%
4 A B, 820, 864
2 @ W | 33522 312 | 1,034,646
A v 117,
A% | #4080 3, 002k 118, 3% ‘??%J 2 :1z.o?cgkg
A24 §A 22503
¥ 4 s |EH Ezﬂ e
. A4 :0.9% -
B 7Yy 498, 471 [ 7 A A4 ¢ 949.3cc
BA o 0.5k
T #8 (kAW 2,517 |A 24 &A : 188 4ce
7] g % o : 0.6k
A A B 4 565, 184 |2 7] ¢ 1,273 Okw
& 2 1 2.639.0¢
A % F 4 4,857 %1' & o0
U g 700.0
AR PERE 135,096 |2 2 inog
A F o 28607
o A A A2 201,744 [¥] d B 4dH
3 ' 53, Okg
2 (BE) Y 02,114 |2 & ® A . 3k
¥ E : 276.07)
e % &8 120,326 [ £ & A & 9407
7 8 & & 25, 298
#H 2,915, 850
H]
3,138 ¥ 28,0 A7
1 H T
T $ sn__a ! 196. 941 71 o 1o 412, 320 o 1669 A7
.| 3,308,170
13,138 ¢ :275.8 i Fi
brd o H . 9A} 7} , 428,
b7 g 568. 9417 o 1920 1, 428, 505 o 2081 A2
& = 5, 492, 694
2 7 A A 5, 005, 014
& = £ (%) 62.2
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Adg ZEFLEEAHAE
A =2 (7% : 1713/10a)
H] 5 = £ 7 (g E) | FdE H] 3
| ZF 4 8 70 94| 1234818 123 | 15,188, 163
2l 4 8 7 9 HEE 87 0%
4 A 15, 188, 163
F B A 4, 696. 35 460 | 2,163,083
B 71 A v gy 35,334 [N:33.0P: 247K 13 9k
B|%| $7130 80 4, 506k 935,540 1% & A § : 1110k
T 4 A 170k
FoOo% o 207,093 |24 A4 5 797 5c
A4 : 3.6k
34 - 59 LTIZT8 g a4 24 : 6 137 0cc
| &e (kA 17,67 | £A 119
A zA FA : 290.8cc
A A 8 4 946,685 |7] & F o : 3.3k
k3| 7] 5,622 0kw
2% 7 Al O A
9| A 346,925 |1 d : 858.0m
AT 14 % 9 Le80
G A4 A 2] 541,518 (8] 4 #1208
% A 152 0kg
+d (%) 68015 |2 & 9@ A : 112k
Blle & & 185, 486 EFAAA LA
718 8 2 41,223
Al _ 8,510, 497
o] .
¢ : 3,575 g 44 Azt
T & x ¥ | 347N o ¢ 1800 645, 270 & 9103 A7
A 7,155, 767
¢ 3,575 ¥ :345.5 Az
A 7w 8 871.8x 7 a - 1800 2,182,502 | 3 L pop 5 A7
A = 8,032, 396
CRE A 8, 677, 666
A = &%) 52.8
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geuds EFLSENE
A = 71& . d4/F)
H] & ¥ & ¥ |9 @) | F9 &) H] 1
21z 4 2 7 9 0.9% | 1,416,075 | 1,274,467
218 A4 8 79 59,421 | WA3$: (.85
4 A 1,333, 838
F & v 1.0% 71,051 71,050 (W ¥ A B ¢ 696 Ok
a9 F F 628k
7 Al B2 o 155,118 -
¥4 ! 7 B 11320k
BlE|z A4 8 21,724 |4 5% 4% : 2.0k
A E 9 Ay 21,522 | 2 . 1,036.0kg
$ =39 sos |4 E e
N A Z 1L 374 0kg
o }ﬁ ZH -g- tﬂ 19,541 )\} ?_:_}_ ﬂ 2] 710@
A E 7 ou 1,757 |ot % 892, Okg
R ED .99 [T % L6
A 7)o 43 Okw
DIA | 3N HAY) 8,244 | , = .
# 01400
T8 (EH) 10,520 | g : 107
# ¥ 8 18,578 |Hl d o 10.0m
' z A 1 243 Okg
H | o y = 0
voA A o o 0.2%
7B & 2 3,194 {g A 9.0k
A 457,103
1]
2,789 g 1.6 A7
- =y A .
2§ xdH 2N G e 5405 | o s A4
A 482, 508
2,769 o 179.7 Azt
A A x B BAITY \
}o7t g ¥ 45842 | o Y oe 626,550 | o2 e | o
& = 871, 380
2 34 2 A 876, 785
4 = £1{%) 65.3
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=] O o O =
a5 IFELE5FHE

26.6.

- 1€ &/%F)
8] =3 | ¢ ¥ g7 @) | F9#) H] A
z|F 4 8 49 549. 3% 5,685 | 3,122,770 | |97vEITF : 373.5ky
s % &4 8 7 9 52,83¢ | v 834119
4 A 3,175,604
= & oy 115 | 1,613,334 | L774.668 [ B AL E 021340k
el F 24y
1,41
sR e S PR Y
|52 A B ¥ 82,912 | 4 8460k
ZE YA 20,671 |4 % @ 210k
A Z 1 5240k
SR H 7,649
TE¥ed A Qe A 3.0k
7 Zﬂ ZR g H] 16, 289 0} 2 123 Oky
A 5 3 ow 1,913 | % £ 786,04
EHES_:F,%Z}.]:H 6, 995 %ﬂ. 7} : 60. Okw
o | 4 . 7 160 & F 1 16.0¢
CRREREL S
I {EH) Y 894 |7 A 1 147, 0ky
F H g 0|% A 1 125, 0kg
3l A 8 466
71 8 & 2 3,409
A 9,322, 043
-1 :
2,95 % 2.2 Azt
g = oy 2,647 o 0048 7,329 o0 A7
A 2,329,372
g 1 2,05 g 2019 A7
A 7w g o9 262, 743t o 2048 721, 940 o 608 A7
& = 846, 232
27t 7 A 853, 561
S = & (%)
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dy EF2SE4E
3= (712 : A/%)
EH =2 | £ F | dA @ | F9 &) H| 3
=% & 8 7 9 | 55505k 420 | 2,334,990
|82 4 B 79 910,289 | WA 10,98
4 A 3,245, 279
z & 105 193, 513 193,513 | & A & : 33810k
ol F f 523k
¥ 3 A8 H 710, 073 3 e 50k
Al2)z 4 = B4 |9 FR0E B0
BE YA 65,374 |H 3 0 1,207, 0kg
A % . 157.0kg-
$ 5 H 24,220 |
Te3en A % 4,008.0kg
A A e 6,072 |4 @ & A : 17610k
A x 7oy 2,636 |ok A : 5220k
o5 T4z 30,773 T £ 2,650, 0k
. A 7] © 245, Okw
A | A Azl 11,653 | o = 00
T8 (E8) 21,427 |w) J % 0m
F % =5 04 811 |2 A ;143 0k
A 9 4 i 0.3%
H x 1,794
e oA E‘ 4 A ¢ 103. Okg
71 & & &F 5,315
A 1,385,511
H]
. ¢ @ 3,180 3174 Azt
TE =R N gy 64147 1 51 g Az
A 1,449, 658
¥ 3,180 o 229.1 A7
P S 311. 9417} o 2 o0 91,029 | 3\ g g fion
£ = 1,795, 621
L B 1,859, 768
2 B & 55.3
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HAE EZF2SENE
4 =2 12 /%)
H] = = $ ¥ (g7 &) |9 &) H| I
z|F & 2 7 9 18.7% 37,127 694, 274
al2 8 g 7 9 16,33 | W43 4213
g A 710, 608
2.2 1.0% 27,392 27,302 | ¥ A E ;112208
ol 3 & 45k
A8 230, 804
s¥A e 3 & 340k
A% 2 A4 8 9 505 | 4 Z 1 18.0k
AR YA 18,002 | = 582.0¢
2% 7,798 3 7] . 04, Okw
¥ 21000
A A g 3 8,816 | g @10
A = oy 1,177 |8 g 14.0m
o & A 2y 9, 057 7 40k
3 | 4 A ! 7 635 A ou Yy o0.2%
=8 (BE8) 6, 463
2 8 g 31, 186
Blle # 8 66
g a8 2,143
| 353, 968
Hj
3120 ¥19.2 Az
. \l ]
2E=AE A T8 | 0.0 Az
A 361, 256
g 3,120 Y 92.6 Azt
A b = g oy 131. 4A 7t & 210 L33 | o g g A2
A = 349, 352
2 x A A 356, 640
B = &1{%) 49.1
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(2]
HEE ZIFASEHE
A2 (71E /%)
| = E £ % [ g74@) |84 &) il il
2% 4 8 7 9 237. 4y 1,308 | 310,519 | ARFAF 197, Ly
s ®2 4 219 15,721 | Wl &3 2.48
¥ A 326, 240
2 % ¥ 245 35, 114 gt 274 | T A B 6200k
d F f L0k
T A B on 134, 706
T XA B 2 2 6.0k
B8z A & ¥ 157 |4 Z : 0.0k
A g YA 8,15 |T E 152,04
A g a 2 o3 |2 7] ¢ 40.0kw -
fr F 1 6.0¢
A A &y 3,94 |y g 8.0m
& F 74 886 |2 4 180k
[EEEEEL Lorg |7t b oM 01E
12 (4| 9442 s |° A
T8 (B8) 2,992
2 % 8 0
Blg 2 = 47
7N 8% 8 @ 1,272
A 245, 056
H] .
: g 13,135 gl Al
g1 b B TR , :
SR LA | & oy e 5292 | o oy i
A 250, 268
. g 3,135 w431 Az
A4 7 ok H AT \
s g vl 56. 1417 o : 2167 163, 289 o 1 13.0 A7
& 5 75,952
oo 0 A 81,184
£ 5 g% 93.2
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a4 2 (715 : &/100%)
H] 3 ¥ T F | dh@&) | FY @) H] I
2| F &4 2 7 o | 258840 57 | 1,473,358
¥ A4 E Y 83, 051
Y A 1, 556, 409
F & ¥ 113.3% 2,201 949,467 [H & A R 1 4,019.0k
% 5 0.0k
Al B M 801, 839
sEA ] A % 1920k
1|2 A4 29 178 & £ : 916.0¢
AR S A 24,359 |4 7) & 249, Okw
+E% Qo Pl L
) il w1 27.07
iAo B LI |y 9 %90
A & 3oy 1,468 {2 g 9.0k
W% A2 g |7t B ovoad
' :42.0
9 A | gpAg42y 8,345 % -7'4 K .
43 (E8) ) 7,300
¥ % & 0
g F = 1,508
7 8 8 2 3, 863
A 1,128,330
o] : : :
3,208 3116 A
H - 18. 8471 .
2§ % g oy 18.847 o gm R e N
H 1,182, 685
, 23,208 90,6 WF
B TN
A 7 = g o 141. 787 o+ 5240 05,201 | g A2l
A =1 373, 724
2 7 7 A 427,079
A = £1{%) 2.0
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54 EF2SEHE
A5 (71& + 4/1005)
B = -l 2 F ig7E) | F9E) H] z
z|F 4 & 74 9 929, 9ky 962 804,563 | A7k g« 855. 2k
2|2 4 2 79 27,948 | B &35 488
4 A 922,511
E & 490. 8% 358 175,781 | # A & ¢ 1,961 0k
% B 2.0k
A o 474, 094
FFA R F £ ! 309.0¢
BlElz2 &4 8 Y 0 |[= 7]+ 155, Okw
1489 4Hx 19,494 | § :18.0¢
2o @ay 22,858 il g 3.0
@ B] g 3.0m
A A 2 oM 12,364 | 2 45,0k
A % F ¥ 1,367 {74 = o 1 0.6%
s FA 3§53 4 A 141 0kg
13 |3 ] 9842 5,991
8 (8) Y 5, 800
F 3 & 0
Hie .2 & 547
18 8 F 2,305
A 723,737
B]
o 3,175 971 AlZk
B b
Z4x gy 9382 | G . 5 o0 2,587 | o . s
A 751, 324
; g 3,175 985 A7t
B } :
A4 7t = g ¥ 145, 441 7 o : 9,293 420, 279 o : 46,9 N7k
A = 171, 187
2 7} 71 A 198, 774
A 5 £ (%) 18.5
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A R (71 . 413]/10a)
H| = - $ g |g71&) |9 @) H| a
2|2 & 2 7 9 tlkg | 1,376.6 | 634,500
P 16, 556
4 A 651, 148
2 ® 5.8l 6, 055
2] 4 u ) 58. kg 10, 561
Ala|®7188 8 | 2624k 5, 041
F 9% oy 12, 459
FE - 58 1,169
NELIES N 2,620
A A 8 ¥ 1,871
& % 7 ow 561
NRELLEE 14,766
A gz L 139
43 () Y 37,708
o g 9%y 1,058
Ble 3 g 8 85, 070
71 8 & &
A 160, 278
H|
T8 x gy 68417} 17313 | 948 A7
A & % 9 9 0.38 % 631, o :2.0 A7t
2 178,222
A @ | B4 .5 | 100 i
A = 479,926
X 7 7 A 490, 870
A& 5 &% 72.6
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Q= 712 : 413/102)
u] 2 | F F g | F9 &) o] i
z| 2 2 & 7 4 260k | LOOO.L | 260,025
#1348 A 4, 686
%
A 264,711
2 = | 153 9,523
714 5y 62. 2k 10,3%
B|% | gavey | 3521k 10, 358
. o 1,957
3 -5y 563
2
A A R 475
2 % 7 8 231
g | R ok A 5,838
R L] 1,198
42 () ¥ 21,774
Wlo A4z 18,801
71 & & &
A 82, 10
Gl :
3% = dy | 2047 6,960 | & :2.1 Az
A & & 8y 0. 741 827 | d:0.8 A7k
A 69, 890
e od oW | 28 5,517 3313'2 33
& 5 174,821
= 7} 7 3 182, 608
2 5 2 66.0




A 2 (718« A13/10a)
H| £ - T 7 (8271 @) {29 (E H] 2
213 & 2 7 9 S01ky 082.5 | 295,731
£17 4 879 2,311
4 A 298, 042
2 B 15. 1k 9,533
B gy 62. Okg 10, 635
BI%| aaman | 596k 14, 525
S 3,718
B4 - FEy 611
7t
A A B o 580
A % 3 437
3|5 t 5 742y 6. 126
A4 42 1,635
T (EE) Y 22,162
a|lg & 5 9 16, 943
A8 88
A 86, 902
H]
A | 5,427t 12,202 | @131 A7
3 & 29 u 0. 142 185 § o : 2 Az
A 99, 292 '
‘: 4
A 7w @ od | 88Nz 63,813 3:13‘3 i};
A = 198, 750
2 3 7 A 211,137
A 5 &%) 66.7
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(abs)
A =2 (71& . €1%/10a)
B] % | F ¥ |87 @) | F9 ) H| I
2% 4 8 A 9| 1068k 927.3 | 990,352
% 4 &8 A9 3, 7
¥ A 1,022,509
2 85 ¥ | 48Tk 198, 409
2oau g | 186k 40,175
B g3 En | b0k 30, 084
$ o 9,058
3¢ 59y 098
7t
A A 8 17,762
2% 7 o9 556
g lq | AEFAR 5,55
G E A AHA T 1,649
43 (58) 8 8,971
glo 4 2 39 22,575
71 & & ¥
. A 335, 823
2§ 9y 30.041 2 70,327 |¢: 5.3 A7
A & 2 @ y 0,547} 801 |9 :33.7 Az
2 406, 951
A4 b w @ oA | L3z 279, 995 gggg i}j‘i
& = 615, 648
¥ 7 7 A 686, 776
& = & (%) 60. 2
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(k)
4 2 {71% : 413]/10a)
H] 5 | S I O~ 0 S I = ) H] a
2| F 4 £ 7 9 5,757 kg 119.2 686, 348
F|E A E A %03
¥ A 687, 251
F B 9 8. 2ky 47,374
272w &y 166. 3kg 31, 548
AR PN 177, 3k 53, 257
xS 8,189
BY - T8y 1,080
Edy
A A 8 oW 18,316
A = 3 on 507
9 | 5 o & T4 7 6, 360
51 A Zh) 1,629
T2 (EE) 9 10, 630
wi{ed 2 8 9 41,817
1 B 8 F
. A 220, 707
2 & x gy 63. 242 13,27 | ¢ 7.4 Az
A & & 4y 0.94 2 936 | o :55.8 AlZE
Al 334,917
55,6 A7k
A 7w @ ou | 1587 29129 | & e g Az
& E 352, 334
2o A A 466, 544
A 5 & (%) 51.3
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A = (71 : A18/108)
o] % g F O AR EA Q) ] il
2l 4 8 7 49 223kg 6,722.6 | 1,499, 147
2|3 4 g 7 g . 16,017
% A 1,515, 164
z B ¥ 0. 947 42,745
D7) 4 ] 8 u) 172. 5kg 39, 579
A% go1amay | 5228k 15,573
¥ 9w 94,337
39 . £ 14, 426
7
I 34, 431
& % 3oy 415
4 |4 o F A2 14, 657
of %A A AF Zui 1,802
T2 (BR) | 20, 694
W | Y % B ¥ 33, 641
1 8 & F
A 935, 300
H]
I4 =gy 28. 82171 53,793 | ¢ 6.1 Azt
A & & @ u 0,947} 2,967 | o :22.7 Al
A 999, 060
Wo96.2 A7k
B }
N SR VO ) 205. 84 7t 47531 | o - oo iy
& 5 1,223, 104
€ 3 7 A 1,279, 864
A 5 & (%) 80.7
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2 & & o a7

B e g8

ko 99
P E o 100
b B 101
B oz g e 102
B 2o 108
e B 104
B oW F e 105
PR E-SETS 106
of & e 107
Al B & e 108
e &) AR e 109
a bvi ST 110

A £ 0] e 111
X ETE e 112h
7} b 113
A T 114
e K] B Q] e 115

W R W e 116

I ) T 117
NG E 118
A A Qo] 119
MQEQE --------- 120
N A B e 121
A R 192
= R 123
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o] AF e 125
LR B A e 126
A} Foeeen 127

g e 128
B & o} e 199
= E e 130
FLu & o 131
. B e 132
WA B e 133
¥ & E - 134

Y BRI 136
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$5% EZLSEAS
A 7 (71& . d1%8/10a)
:H 5 ] + ¥ a7 |29 &) H] z
2l F 4 & 71 9 581k 510 296, 310
212 8 2 7 9 533k 9,583 | AESE: 92.7%
4 A 305, 893
3 g H] 2.8k 1,885 5,280
5} 2 4 2 v 20, 397 N:23.5P:12.0K :12.0ks
F 44 880
AR TR R 1,267kg 2,889 | a0 A 21
¥4 ¥ 4883 | 4TA FA : 16.7cc
A2A fA 125 0ce
349 - Y 2,500 oA : 2.3k
‘_}_- A ‘Igl" *‘F"ri 150
&\ s (k) ¥ 015 T a0
A A B v 563 | ¥ 9 0.2
A2 F T oy 1, 250 '
(A s TADY 11,253
FEA Uz 7%
g (B#) 6, 117
Hle 2z & 0
71 & 8 2 275
Al 79, 268
]
3,165 g L3 A7
QA7
SRR 7047 o 9476 18, 227 o 5T A7
A 97, 496
g 3,165 g 57,2 A7
A7 = g v 89. 47 7 o 1 3 476 260, 765 o329 A7
A 5 208, 397
2 73 # ] 226, 624
& 5 & (%) 68. 1
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) =4
£ EF2524E

4 7 (71 : |413/10a)
H] % El ¢ F igd @) F9 & 1] kol
zl 3 & & 7 9 197kg 1,405 276, 785
S F 4 8 7 9 467 | AHEEE 1 88.9%
4 A 277, 950
F g5 ¥ 6. 5kg 1,360 8,841
BEEEEY 11, 164 N:48P:7.6K:6.4k
3 0. 51 2w} ¥ £ 4 3 : 1040k
AR E L] 61y 16,068 | a0 e+ 3455l
I B 8, 253 AA : 0.7k
AFA A 252 %cc.
#9 - F9y 2,310 B33 4k
7| & Ax2A A 21l 0ec
2| 48 Ck#) b 0 i
A A 8 1,490 | 2134
& F F ¥ 857
A | us T4z 8, 974
o FA| A 2| 313
d (BE) 1Y 3,031
Hlyg @ =& 0
7 g & 2 833
: A 80, 109
o] .
' ' g 3440 2.2 A7t
1A % - 4,047 o : 2 498 11,938 q 18 A7
A 72, 047
o1 3,440 o 38.8 NEi:
24 7 x g oW 70, 94| 7t 8 1 948 211, 410 el it
& = 205, 205
B o2 A A 217, 143
& 5 &% 74.0
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2 EFASENE
3 7 {71 d138/10a)
H| ) 3 ¢ @ g1 @ | F9 @) H] i
2| F 4 F 7 4 100kg 1,955 195, 500
212 4 2 7 9 1441 | AESS:89.5%
4 Al 198, 941
3 g2 Hj 4. Bkg 2,024 9,312
2y Au 8w 8,962 | N:S5P:iB6K:5Th
o ¥ &4 3500k
SR KL 62k ST gam 44 ¢ 269.5cc
N 4,703 A o 0.5k
AFA 4 7.7
3 - 59y 2,993 B3 0.1k
A A EA A 128 3cc
A A 8 oo 2,738 | 2. 160
B ¥ 018
A F 3oy 1,179 3 2.0k
(A g Fazda 15, 288
3 5A 4 A2 635
T3 (BHE)n 1,867
Hie 2z 8§ 0
71 g & 192
A B3, 402
H]
g 2,943 " 0.9 A7t
TEESAN S g am | BT Az
H 66, 073
Yo 2,943 g 36,7 A7
A 7 = g oy 68. 127t o 1 098 179, 537 o © 314 A%
A = 130, 868
7 7} 7} A 143, 535
A 5 & (%) 66, 4
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= pr 4 T
$F EFZLSENE

3 7 (71& : d13/10a)
H| 5 - | & % (g @E [ 39 &) B i
2| F 4 B 71 9 456 kg 912 415, 872
A28 2 79 1,312 | AE8H&:89.9%
4 A 417, 184
2 H W 8. kg 1,595 12, 764
B4 2y 14,191 | N:9.9P:10.9K:10.4ky
¥ £ 4 3§ 650k
Bi%| 4o dn g 883k 12,517 | £ 00 520.00e
E A | 6,000 | FTA FA 1 9.7
B 834k .
%€ 5HY 2.843 | A 24 %A : 15.0cc
121 & A : 0.8k
2| Sl Gk A ¥ I I i
A A & 4 28,113 | 7 & 162
H] d : 658.0m
£ % 7 M 78| g % 1 55.57)
B 4 F:2.8e
QA | dEFARy 13, 43¢ s ok
o A A A2 79
Y {(EH) Y 2,934
Hlg # = 0
71 8 8 2 532
A g4, 295
o]
' g3, 140 go:o2.2 A7
. H : ‘i.
g =9 | 1837 & 049 47,029 e N
7 141, 324
¢ 3,140 ¢ 46.3 A7
B X J_-
A 7t x & Y 89. 6417 o ' 740 253, 285 o 433 At
& =3 275, 860
LA T 322, 889
E] 5 & (%) 6.1
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%% IFLESENE
3 7 (712 : 418/10a)
H] g - ¢ ¥ (24 @) 59 @) H] I
2| F 4 E A4 88ky | 2,972 261, 536
S| 8 4 & A 9 1477 | AE3E : 89.4%
4 A 983,013
£ H 3. Okg 2,411 7,234
2738 &1 7,646 | N:3.7TP:5.8K: 5.2
o B & A 3530k
B|%| 4714 88 572k BITT | a2 25090
F 94 o 598¢ | 47A 4 1342
A ZxA £A 143 3cc
€ FHy 2,764 QA : 12k
T o~ 'Igl" ‘rEr: 15¢
&1 4 CRFD N
A A4 E o 1,087 =) ;2. 0ky
A % F oy 786
(A 5Tt 6, 794
G A A 2] 134
+2 (B8) Y 1,265
H e % g 0
71 &8 & ¥ 346
A 42,297
H|
g 3,006 3o A7}
T § = gy 36413 & 1 198 9, 309 15 o
7 51, 606
¢ 3,006 g 37,3 Az}
Rk ,
A7 = ¥ oy 67. 9717 o : 1998 173, 262 o %06 A7
& = 211, 407
LA 220, 716
A % &% 80.3
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B4 EFESRAE
4 7 (1% : 9131/10a)
H] =3 = & ¥ g @E 29 E) Hj 1
2| F & & 79 2, 323kg 402 933, 846
218 4 8 79 BEEE  92.6%
4 A 933, 846
2 B ¥ 156. 6kg 828 129, 699
27] 2 ¥ 2] 21,545 {N:17.2P 1 18.6 K : 15. 9k
] ¥ & 4 3820k
SR CELELN IR L T 4aA 441198100
¢ ¥ 8, 464 QA 4.5k
A7A A 142 2cc.
#d - T8y 3,449 | A 24 |4 : 140.5cc
Y A A 1.6k
4 A4 8 4 57,295 | %154
o] d 1 598.0m
A = 7oy 1084 | & Z 12,67
- ¥ 49 & 108
G| A DY 17, 185 2 ' 6 0k
B 5 A A Ak 457 | % A 1.0k
¢ (BHE) 2,718
H | o # 2 26, 637
71 8 & & 4,450
Al 305, 621
H]
g 3,332 g 2.8 Az
2§ = g 32,94 7 o 1 180 65, 646 %01 A7
| 371,267
3,332 570 Ak
A 7 = g o 100. 64 7t o ¢ 181 271, 499 o 1 436 A7
N = 562, 579
L 628, 225
A 5 £ (%) 60. 2
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BY ZFASEANE
3 7 (712 : A413}/10a)
H] 5 |  F g7 @) | FdH) o] ol
2| F &4 B 719 4,003k 192 768, 576
1 * 4 E A 9 AESE 91 1%
L Al 768, 576
£ H oy 6. 0di 10, 559 63, 355
27 2 8] &1} 93 751 N:ZB.aP:13.3K:15.ZJﬂ§
¥ &4 8 %40k
F|F a2 BTG | 433 44 45cc
TR I 6, 080 AA : 1.6k
AFA &4 359 9cc
34 - 544 4,830 | g 2A $A : 138.9cc
~ AA ;0 1k
A A B 36,528 | & :18.0¢
H| d 288, 0m
& ¥ T i 1,603 | g 2 179.57%
W d B:058
BIA| s FA 2y 36, 384 3 7. Ok
o A4 Az 13,901 | 4 1L
E A 1901
s (BHE) 5182 | 7 g 1 19.0kg
Ml a2 = 39, 582
71 & 8 2 1,240
Al 966, 254
B]
g : 3,388 g 48 Azt
R - 3L9A o ¢ 1994 70,021 o 193 Az
A 336, 275
g 3,388 g ;47,8 Az
A = 432, 301
= A4 7 A 502, 322
A = %(%) 56.2
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2 7 (7)& : €131/10a)
H| = =} ¥ 2@ [ FAED H] z
z|F & £ 7 9 4, 725kg 164 774, 900
212 4 £ 7 9 AHEEE : 88.6%
4 A 774, 900
2 7 Y 8. 1d¢ 3,213 26, 030
By 2 93 414 |N:28.2P 117K 126k
: & 4 5850k
A% &7 2y g 1,647kg 17, 440 G384 ¢ 493 gec
F 0% M 9,871 oA : 1.5k
AFA 84 ;398 Oce.
34 - 39y 6. 234 BA 01k
A A &4 A4 154 4cc
A A 8 v 4,24 | & 7] 4 Okw
' # £ 20,00
A % 7oy 1,414 | n) -4 13.0m
, : B d  &:(.68
% lxﬂ o = 7 A 2| 14, 141 2 . 180k
o A A A zhu] 26 | ¥ A 10k
TR A 21804
8 (BRB) ¥ 6,257 | 7] E} 1 18. Oy
Blla a g 14, 244
71 8 & & 1,008
Pl 124, 630
o]
o 3,209 g4 85 AZh
24k gy 28.8A1 2+ o 2910 78, 087 o 0. A7
A 197,777
1 3,209 3521 A7
A x g oy 100, 241 7 5 2219 278, 611 o 1 A7
& = 577,123
L 650, 210
A 5 & (%) 74.4
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B3 EF2SENE
- (71& : 418]/10a)
H] g | 2 g g7 &) (F9 &) B] 2
z|F 4 8 7 9 4, 989kg 177 | - 883,053
| % 4 8 N9 1,426 | AE8&:89.3%
4 A 884, 479
2 ® ¥ 1. 3d¢ 17,786 93,122
Dy g 2 20, 988 N:32.3P:17.8K: 21 8k
o F 44 81170k
A% | 472626 | 1766k .36 | Saw 9 . 675%0e
U R 15, 095 £4 0.1y
ol A : 1.8k
Bg - TYH 4,33 | 474 A 362 2c
(S B4 0.1k
2| #d (KH) O | qaq oA 28 1ec
A A B oy 72,657 GA 0.2k
' 1A 7) ¢ 19. Okw
& F T 4 L&6 | & B0
]| Y 409.0m
BIA| AT 38, 803 g Z 296,570
5 A A A2 20,85 | ¥ 4 #1088
3 : 3.0kg
T (EE) Y 8,663 | 4 ¥ ;3,07
Wla x = 25,361 | > £ ¢ 1.632.07)
71 & 8 F 1,391
A 959, 584
Hj
¢ 3,140 g6 A
. }_ £
R 35, TA1 7L o 1 2140 82, 498 o 206 A7
A 342, 082
3,140 g 69.0 A7
b
2 7 e ¥ ¥ 127, 8A 2 o 1 9140 342, 402 o 5.8 A7
A = 542, 397
¥ A 7 A 624, 895
A E & (%) 61.3
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- 'I:
el F BELSEAE
77 (71& : 913]/10a)
H] 5 E £ ¥ g7 % |29 ) Bl I
zi % & 2 7 9 7,793kg 153 | 1,192,329
{2 84 2 % 9 AESE 1 76.2%
d A 1192, 329
£ B 1. 1df 20,716 22,768
2724 24 93,803 [N:21.6P:16.9K 17 1k
= o £ A4 3670k
B8] $7129 8y 1,176kg 18,014 | 5% o+ 55 20c
- 13, 147 2R 0 1k
A : 0.6k .
3d - %8y 4,261 | 4 FA A 393.5¢¢
B4 . 0.3%
A= .
T 78 ORF) ¥ O aza 4 23 8cc
A A ' v 91,244 | 71 B ¥ % : 0.2k
A 7] ¢ 3 Okw
£ F 74 800 | & F 22,00
. H] gt 240.0m
AR E TR 15,838 | g 11090
4 %5 A A A 24} 1575 | A F o200
B d 088
T8 (BR8) v 6. 184 3 : 12, Okg
Y . , * E 1 1,161. 07
g a4 g 21,833 T 4 A 19807
7 g 8§ 2 1,205 |
A 150, 992
H]
o oo2,992 Y 5.6 A7
] b
%k g o 30. 2] 7 3 1 5008 66,152 | o © g 6 A7
A 9217, 144
g 12,992 31 70.0 A
B }
2 7b = ¥ oy 123. 14 2t o 2 008 36,064 | 3 | go') A7
A 5 975, 185
L B B 1,041, 337
A B g% 8.7
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o F RFLEEHE
3 7 (718 . 41%/10a)
H] 2 - F % |g2@ 9 &) H] !
z2|%F 4 & 7 4 5,550k 199 | 1,106,241
2l 4 2 7 9 AE8&:91.3%
4 A 1,106, 241
=z g ¥ 1. 1de 11,730 12, 904
2] 2 H 84 31, 098 N:31.1P:16.4 K :19.5k
o = & A 3119 0k
BB wnAugu | 497k 1,982 | 3250 5+ 868 0ce
- 12, 639 AA 0.6k
A FA 308 2cc
B3d - 58y 7,086 B (), 4k
~ A# 0.2k
2| %g (KF) Bl Aza 8457
A A 85 ¥ 65, 749 A : 0,2k
71 8 F 40l
A % 7o L7 | A 7} & 108, Okw
_ % £ 9.0¢
B s BAO e g e
g A A A Zhi] 5479 | & &1 197,978
b o ¥ & 0.88
+8 (BE) Y 4,983 3 : 1. 0kg
i A T 1500
HWleg & =2 16,969 | 5 e\ 150 01
71 & & B 118 | E A A A 8504
A 224,557
ol
13,349 g 7.8 Az
CIE I L B I EC3 Dot B L3 C ) e i
H 328,710
g 13,349 g 73.4 Az
A 7 = g H 131 4A1 T2 o ¢ 2,132 369, 472 o 1580 N7}
A = 777,531
x2 A4 A A 881, 684
A2 B & 70.2

- 107 -




AgA) EFLSEAE
23 7 (7i& . 413%/10a)
B] = | F #Fjgq@) [ Fq &) 8] z
zl 3 4 8 79 1, 660kg 463 768, 580
=1 8 4 F 7 9 ANETE 92.5%
4 A 768, 580
= 61. 97 582 36, 041
27 A H] g 17,514 |N:19.8P:10.9K: 12 1k
A 0 4 A B 7.0k
T 47124 2y 1,909 kg 0,087 | 520 e+ 396 nec
A B | 10, 174 A 0.1k
AA 1 2.0k
79 9y 4,983 | 424 A 374 dec
] = AzA FA 116 Icc
Ly o8 (KF) 1,568 Q4 ¢ 0.0k
A A B ¥ 49724 1 71 B & %01k
A 7] & 218, Okw
& % TN 5933 | & £ 18.0¢
3 Gl g 130.0m
AT 0,82 | -
RS iR 9,289 | ¥l ¥ ¥:LIH
3 ¢ 51.0ky
T2 (BE) Y 9,517 | & A1 3.0k
Mg A = w500 | £ 38 A 108
7 g & &7 4,97
A 941,214
H]
g 8,309 g 43 A7}
x H ) i
A - 15,84 3 o 2901 105, 570 4 415 N
A 346, 784
¢ 3,309 o 845 A7
¥ b
ZF 7t = g 9 137. 342 &+ 290 M5663 | o L gy i
& = 421,79
L 527, 366
& = & (%) 54.8
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A4S E

4N

=4
25FHE

3 7 (71% : d13/10a)
H] = y F F idAE) [FdE )| k1]
2l F 4 5 7 9 2, 203kg 563 | 1,240,289
22 4 g9 9 AHESS 90, 6%
4 A 1, 240, 289
R 3. 5d¢ 7,462 26, 119
Z A By 93, 649 N:25.0P:12.9K ! 13.8k
¥ & A 3780k
B|& | #2008 | 1768k B38| D e s
¥ oy 8,537 dA 0.5k
AFA F4 545 0cc
g - FYy 5725 | A1 24 &4 : 70.6cc
2| %2 (KF) 886 | 54 7} ¢ 22, Okw
A A4 2 oy 922.95¢ | 22404
H| d 5342, Om
2 % T oy 78 | @ Z 40,070
W9 & 158
9| A| gx Ty 17,812 2 10,0k
o 5 A1 4 2| 2,290 | ¥ E: 30
¥ A A A 46207
FE (BE8) Y 5,685
Hle & = 18,222
7} 8 8 & 2,338
2 163,617
H]
33,160 g 43 Azt
"
I & 5 ¥y 38. 741 7t o : 2,33 93, 946 o ¢ 344 A7
A 257, 563
‘ g 3,160 g 96.6 A7t
A 7t = 8 v 197. 147} a 9.9 540, 024 a 1005 it
X = 982, 726
2 J A A 1,076, 672
A = £ (%) 79.2
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g3} EFLERHE
3 7 (7|& : d1%/10a)
H] & ¥ g g7 @) | F9E B] A1)
2 & 4 8 7 9 2, 957kg 122 | 1,247,854
S E 4 E 7 4 AEZFE 87, 5%
E A 1947, 854
£ R» W 8. 4df 4, 166 34, 995
RO R 09,556 [N:27.1P 18.7K: 2.2k
7 o ¥ £ A 3 100 0k
T A8 8 2, 648kg 70, 649 SAA SA 600 dec
F 0% oy 19, 331 B4 0.2k
AA : 2.5k .
B4 - FYy 5300 | 234 SA : 427.8cc
2| 28 (kF) ¥ 43 2 - 0.4k
T AzA §A 233 3c
A A B Y 15, 634 QA 1 1,2k
A 7] 3. 0kw
& F 7 ¥ 1,956 | & 2 96.00
. H] d 38 0m
IR a5 Ty 3,284 | g Ziim
o A 4 AL 2] Lo7s | 8. ¢ 2w
3 : 90.0kg
48] ()Y .37 | 9 A 1 2.0k
My 4 = g | T ¥ AT
8 8 2 8,333
Al 936, 951
H]
g1 3,076 3140 A7k
H A7 \
R B S R Y Az
A 417,658
g 13,076 72 A7
hrd Xy | . 5A] 7Y .
b7 g 143.5417 o+ 2.9 BLE | o e i
& = 830, 196
g 7 7 A 1, 010, 903
A B 2% 66.5
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280 EFAEEME
47 (71 . 91%]/10a)
H] 5 ] ¢ #F | 3dAR) [ 29 &) H] 3
2| F & 5 7 o9 3, 387kg 515 | 1,744,305
2|8 4 & 7 9 AEE S 88.8%
¥ A 1,744, 305
2 B ¥ 2. 3df 22, 553 51,874
7] 2 H] & 1) 39,697 |N:4L3P:20.2% : 358k
%3 o T & A 3860k
TR | 2603 5703 | Ga eA | 106 5cc
S 33,330 BA 0.1k
Q1A 1. Oky
Fd - F4H L0 | 234 A 1,138 9cc
| 29 (KA 1,028 £4 1 0.5
ST ' A Z2A §A 205 3c
A A B oy 144, 209 Al ¢ 0. 4k
| -7 180
£ F 7 A 1,634 | % £ 36.0¢
H] g : 677.0n
(A geF42y 34, 650 3 z 9070
A A A7) g1l | A F o 859.07
v o9 & 6.4g
s8] (BE) Y 5,697 3 : 16. 0k
. 4 6070
e A ® 12,500 | & E 1 9,350, 0}
J 8 8 2 347 | £ A A 29807
A 397, 250
H]
3 : 08,353 g 50 A7t
T & x gy 58.5A 7 o - 2411 145,753 o 535 A7
A 543, 003
@ 3,353 ¢ 140.6 Az
2 7 = 8 u 262, 14 7t &+ 241l 764, 368 o : L5 Azt
& = 1,201, 302
=27 7 R 1, 347, 055
& = £ (%) 68.8
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R ENE TELE5FHE
7z 7 (7€ : 4138)/10a)
H] 2 B ¥ gt @ | F9 @) H] 1A
=% 4 8 7 4 2, 960kg 515 | 1,528,035
s % 4 879 HE8E 87.3%
9 A 1,509, 035
= S | 2.0 23, 060 46,120
272 u g1 39,147 |N:28.0P:20.4 K : 27 Oky
A . .
A|F] 438y 1, 862k 27,507 § %41: 2 :é%kgkg
A 2A %A ;815 2c
o 23, 986 ?311{ :O.lg
, QA 0.1k -
LA 7.6% A A %xq :1,1}31cc
| F8 (KF) 8 278 24 101
e (KA A 2R {4 295 0cc
A A & o 235,377 AA 0.4k
7] & % ¢ 14.8k
A % 7 oy 1,363 | A 71 9. Gkw
8 2 3.00
A WD 15,764 %;]L Té :585.0w]a1
% 013567
o) 2] 4 A 2] 3, 669 z{ Z— o : 2,166. 07}
N B T 498
$2 (52) 5,422 L I
q e 2z =B 2,481 | % c 407
A ¥ E ¢ 1,597.07
71 8 8 ® 3450 | = 3 A A . 203070
A 405, 262
] .
oo 3,474 g 154 AF,
!
o ) 48. 7 2 & 247 135,850 o33 A7
A 541,112
g 3,474 Y1235 A7t
2 7 = @ d 234. 3417 o 2473 708, 047 3 10,8 A
A = 987, 923
- | ) 1,123,773
A 5 £ (%) 64.6
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7tA EELEEAE
37 (71% : A13)/10a}
Bl 5 ¥ ¢ F g FA A H| k1l
z|F 4 8 7 9 2,972ks ° 367 | 1,090,724
2|2 4 2 79 BEBE  93.5%
¥ % 1,090, 724
2 By 1. 4d0 21,740 30, 437
274 8] g9 21,886 |N:28.3P: 140K 12Tk
3 o ¥ &4 85300k
AR EL A 2, 350k 30,851 | 5 a% o4 - 842 90
E | 18,820 24 0.1k
AgA FA  573.3cc
Bd - 59 6. 080 2A 1 0.1k
1n AzA A 403 3cc
| 48 (KA ¥ 0 o Lo
A A 5 v 74,123 | 71 B ¥ % 0l
f F31.0¢
£ F 1 9 1,055 | m) d : 819.0m
| 8 2 40.17
RN RS L W65 | X = a0l
G 5 A4 4 2] g9 |8 ¥ B2l
4 o 107
T2 (BH) 4 8993 | = E ;1,205 07
3l & = ol E B4 A 40
7 B & F 1,952
A 216, 761
H]
g 3,263 g 2.8 Az
T & x gy AN oy 86,138 | 4 . g5 | A2
7 282, 899
Wi 3,263 w1 135.1 Az
U SR B ULTAT | G 1y o 696545 | 5 . 1196 N
A = 807, 825
% % A A 873, 963
& 5 & (%) 74.0
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LAz EFALEEAHE
37 (712 : d13]/10a)
8| 5 | ¢ ¥ 8@ | F9 & H| 1
2|3 4 8 A a] 191k 451 ] 861,861
sl2 a2 A9 3,333 | AHESE 1 88.7%
¥ A 865, 194
F B oy 5. 1dl 5557 | 28,240
By 48 2l 91,986 |N:30.0P:14.5K 15 9k
= o 8,992 A : 0.2k
FEA $4 1 397 5cc.
39 - 59y 5,023 B 01k
2| e (k) v g | HEA R T
| A % 7 oM 1,279 | ) d ¢ 701 0m
YA | o T4ay 14, 900 f“; - j%zgygﬂl
%G 5Al 44 2k 274 | M ::1 Eigéf?kg
T8 (1) Y 3,672 | % E 34,070
' sz | E A 216107
7 8% 8 F 850
' A 397, 345
ageun | omein| s R ) B i
A 465, 835
A 7w 4w | 170842 33;:2 468,315 jggf 23
& = 399, 359
) N 467, 848
E = £ (%) 46.1
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XA Y EELAESFAR
4 7 (71 d13]/10a)
o] &) | F % g4 | F49 @ o] 3
2| F &4 8 719 2, 005kg 677 | 1,357,385
| &4 8 A 9 FELE  87.9%
¥ 2 1,357, 385
2 5 H 1.6d¢ 29,441 47,107
27 %8 g9 99,067 [N:22.2P115.1K:22.3ky
% & 4 3 1060k
T ENAUEY | 1748k 852 | Gan ed 6 1o
F | 18, 059 QA : 0.6k
A4 G4 85 Iec
34 -5 6. 661 BA 0.5k
b o~ A ZEA FA 164 0cc
| e kA v 0 A3+ 0.1k
A A 8 v 68,980 | & 7]+ 93, Oew
# £ 3104
4 % T ¥ 1601 | o] d 1,970
L3} & 150304
FIA | D P2z 18.982 | ) 9 m:o0H
9 E NG 8, 324 3 © 79 Oky
A #3070
T (BE) Y 7.650 | & E : 601 07
ala 2 = o | EF R ALBO
71 g 8 & 4, 081
A 240, 035
H]
3,205 g 6.7 A7
}.
18w | AT B.45 | o g A
pl 326, 481
3,206 11314 Az
24 7 = g 3 246. 5/} 7% o ;2304 686, 327 o : 1151 A7
% g 1,030, 904
2 7 7 A I, 117, 350
E 5 £ (%) 75.9
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2A S EEESEHE

7] (712 : |13]/10a)
H] 3 g ¢ F g |39 &) H] k1)
2| F &4 2 7 4 2, 118kg 647 | 1,370,346
Al R 4 79 AEHE 1 88.3%
4 % 1,370, 346
£ =B 9 2.5df 18, 922 47,305
=5 A w2y 90,772 |N:23.5P 1 13.0K : 16. 4k
o & 4 3500k
T A By 2, 370kg R R R
2 | 19,193 | %A FA : 669.9cc
AFA A 544 3ce,
#9g . Yy 5,501 24 2.0k
| & A xA FA 219 5cc
%% (A F) ¥ 01 50 5 o otk
A A & v 59,456 | A 7) ¢ 5. Okw
+ £ :30.0¢
A F F ¥ . 2,317 | v J 1 901, 0m
' iy & 258570
A 4% 34 W99 | 5y m.qim
o 35 A A A} 2h] 3, 541 ] : 08, Dkg
' ¥ E : 466, 07
s (EE) 10, 582
qita  x =8 11, 500
7 g & 2 3,203
Al 993, 263
e 2,980 ¥ 53 A7t
H A7
7 £ 5 9 35. 1417 o 1 2,264 83, 261 o908 A
A 306, 524
1 2,980 g 100.7 A7t
B 547}
2 7 = 8 194, 541 2} ey 512, 449 e Nz
£ = 1,063, 822
* S B S| 1, 147, 083
A 5 &% 77.6
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Ag7] EELEEEAE

w—ten
I (71 : ¥13/10a)
H] = H + % |71 @) [F9 &) H] kil
2| F 4 8 7 9 1,053ky - 2,001 | 2 107,053
28 2 2 79 HE8E 0L T%
2 A 2,107, 053
F B d| 5%L78 2| 146,63
R Y 24,665 [N:20.6P:18.6K 19 4k
o 404 80820k
B|%| 874w 2y 3,920k 6.2 | 50
¥ O9 23,016 A4 1.3k
AFA A 436 7cc
4 58 4,121 B 0.1k
| o A zA FA 100 0cc
& | &d (kF) Y 0 o 0.3
A A F 9 70,933 | 71 BF & % 0.1k
A 7] 33 0kw
& 5 7 M 1,689 | & 51 18.0¢
: H| d : 673.0m
9 |A | o5 TFA D 15,731 = o
o A4 Az pld d 09
3 : 467, Okg
T8 (BE)Y 6,143 | ¥ & A #: 144.07
Wle I =& 0
7 8 8 2 5,020
A 343, 157
H| .
2,920 ¢ 0.7 Azt
_ 7} ,
T8 % 9 739417 g + 5083 159,324 | 3 . oo o
Al 502, 481
g ;2,920 ¢ 115.8 Az
A7 = g oy 237, 147 a1 906 88377 | o o1 3 i
& = 1, 604, 572
2 24 1 A 1, 763, 836
E S ¢ 76.1
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7] (718 : €18 /10a)
H] E 4 F % g2 | F9 &) 1 a
z|F &4 8 79 3,682kg 678 | 2. 496, 3%
% 48 A9 HEHE 92.5%
4 A - 2, 496, 396
F B ¥ 3. 1d¢ 8 816 27,331
o & A 3900k
. ¥ f71 44 84 2, 945kg 51,833 A3 $£A4 434 3cc
o | 11, 880 A 2.0k
AdA &4 351 e
Bd - FHH 15, 434 BA 0.2k
. AzA A 8.8
2| e (kF) ¥ 2.683 | 4 7] © 956. 0kw
A A 8 n 188,410 | T+ 3102
H Y 566.0m
A % oW 7,99 | g % 43874
2 F 10,07
AT BN 9 20
%5214 42y s | o H 1ol
: % A ¢ 3.0k
24 (EE) Y 21,928 | 4 ¥ @ 17,09
\ p
8 o9 2} | 2,763
3| - 500, 220
g @ 3,338 g 173 Azt
B ‘ }
x| AT | e | BB v
A - 892, 423
3,338 o 218.1 A7
A 7 x g oy 409. 0N 7t & 91 1,112,362 & 1889 A7
A S 1,603,973
R . 1,987,176
Y 5 (%) : ' 64.2
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Adge] EFASEAE

3 7 (1% : d13)/10a)
H] % | £ F g 79 B] k1]
2| F 4 8 9 6, 491 kg 617 | 4,004,947
sl ® 4 B 79 YESHE92.3%
o A 4,004, 947
£ B Y 2. 48 32, 724 78,538
B2 g 58,039 |N:40.6P:25.7K: 45. 2k
B3| e T o404 F 1770k
o RALAER ) 5400 105998 | o %Al : 2,01 0cc
® oy 48,191 1A 1 0.5k
AdA F4 2473 5cc
38 - 54y 20, 697 B 0.2k
oa AzA A 630
z "r‘r"l] (Ikﬂ)al 3v111 7] E}- %-‘ Q};: [)Zkg
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B g g1 11,885 { N:5.0P:7.7K 6.9k
o T &4 8760k
SRR EL R WO | a3a 94 : 317 7cc
T % 9 4,423 | 74 HA : 53.5cc
AzxA #4106 7cc
¥4 5494 2,163 UA : L4kg
. g 2114
| %9 (KF) ¥ 0la ¢ #: o
A A 8 ¥ 1,996 2 3.0k
A = 3oy 1,129
A gAY 11,911
§FAIH g 1,526
T8 (B8) Y 1,432
Blle 3z = 2,717
N B & B 379
A 64, 506
H]
w1 2,631 3.4 Az
R LSAZ L G ) g 2LYB6 | . g g Azt
A 89, 472
Y 2,631 g 3.7 AN
T AR 15,656 | o3 . o g A
g = 206, 927
2 7 A A 231, 893
£ 5 & 69.8
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¥ EFLSEAE
2 4 (71% : 4138/10a)
H] = | & F g @ 129 &) H] ki)
2| & 4 2 7 9 123k 1,722 211, 806
213 2 2 7 9 6,337 | A28 91.3%
% A 21, 143
F ® oy 4. Okg 1,808 8,861
27 Ay &2 9, 608 N:51P:7.3K:6. 4k
o %—' -8- ’E] -@i : 27. Okg
B|%F| 47120 2y 375k 10283 | 5% "0 116 aec
O I | 3184 | 2TA HA 79 3ec
AZzA A 165 0cc.
B - T 2,086 QA 1 0.8k
| & # w1
2| 42 (A ¥l 015 g & o9
A 4 8 ¥ 1,667 3 : 3. 0ky
& % T 9 1, 344
1A | e Ty 7,500
o 5 A] A A 7] 818
T (BH) Y 2,402
Bleg # = 0
7l 8§ & 8 566
Al 48,319
H]
: g 2,520 g4 AT
2 & x gy 11.94) 7+ o 1o RN D s
A 73, 653
32,52 g 30,9 A7
A 7 e g oy 80, 1A1 3 o 1631 134,253 | o | 5o i
A 5 147, 490
L 172, 824
&2 B 2w 66.6
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4% EF2ZPAE
Z 4 71& : 413/10a)
B 5 i F ¥ 2 | F4 K ) 1)
2|l F 4 € 719 551 kg 821 452,371
F| 5% 4 & 7 4 2,465 | 4E58E&:93.7%
e e 154, 836
F R Y 8. 9kg 2,069 20, 486
251 2 1) 8 ¥ 15,163 |N:16.2P:12.0K: 11 4k
5 & 4 5520k
BIF| A2 87k 18| gan 41 196.7cc
¥ 9% H 3,441 44 : 0.8k
AdA A 130 3cc
#FE - FYy 2,522 | A 2A &4 : 122 3cc
2} f 132
G| FE REDH O 9 : 358.0n
A A § 8 24,651 { 81 @ B:lde
A % T oy 802
FIA g Fady 11,763
G FA H A ) 1,364
T2 (E8) Y 4, 302
Hle & &8 0
7 B8 & B 1,504
A 103, 251
H|
g 2,682 329 Azt
§ =8 | WG| gy | ST it
A 152, 898
g 2,682 g 44.2 A7t
A ogbw g o | BTGy | AL g
& 5 301,938
2% A 351,585
& 5 & {%) 66. 3
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2 EESRAHE
Z 9 (1% 413]/10a)
H] = o £ ¥ (24 @) [ F9 @) H| b
2l F 4 F 719 2, 161 kg 319 689, 359
| % 4 2 7 9 150 | AEE:93.1%
4 Al 689, 509
F HE v 149. Gkg 912 136, 779
B 72 b 24 93, 575 N:19.8P:18.5K 18 8k
: ¥ & 4 8130k
FIE| AR Lt LI\ gpA A : 260
= oy 11,319 AA 1 0.9k
AaA A 221 8cc.
3g - 38 2,721 2 04k
2| = A 2A FA 140, 3cc
A A4 8 7 38,007 | ¥ 144
B] d : 161.0m
& % T oy 1,303 | 9 1.4
g &8
1A | gsFadn 17,786 3 : 4.0k
- Qg A A 9 1 % A ¢ 5.0k
F8 (BE) Y 4,542 |
Mg # =B 2,625
718 & F 1,607
Al 273,912
]
32,755 EE A A7
2 & = 8 37.0A1 2 o ¢ 1987 77, 640 o 1907 A7
A 351,552
' | @ 2,755 g 49,7 Nz
) k’- [ N 1._]: s
A b = g o BN G o | 2099 ) G A7
4 _ = 337,957
¥ 7 g A 415,507
& 5 £ (%) 49.9
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BF EF2SEAE
> S| 712 : d13/10a)
H] 5 | F F (21 ®) |29 &) H| z

z|& 4 2 7 & 3, 557kg 179 636, 703
S| B 4 E 74 AHEEE 00 4%
¥ A 636, 703
2 E ¥ 4,94 9, 396 46, 044 |
27 2w 2y 99,152 |N124.8P:16.4K 118 lky
o ¥ & 4 3. 740k
A EE R .72 | G Sl s o0
F o4 9 11,838 - BA 22 3k
A : 0.7k
39 - E¢y 3.076 | A7& &l : 348 lcc
24 0. 1k
oA
| 2 R 506 | a4 84 150 1cc
A A B ¥ 15, 886 Q)& 1 0.5k
7) & & 9% 0.1k
A % 2o 1715 | @ 71 1. Okw
GUA | g7z 19.78 | * w1300
10 ) d 177, 0m
G EA A4 2| 4,867 | & & 407
o g &2
T8 (BR8) 5517 | £ E : 18,04
ilg » = o | E 3 A0
7 8 & & 1,744
A 189, 889
H]
9,652 g 59 A7t
3§ = d o | WIARY L BTG L i
v 248, 585
g 2,652 ¢ 431 A7
- 74. 243t o ¢ 1813 170,685 | 3 . o1 | it
A = 388, 018
= 5 A A 446, 814
A B &% 60.9
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&Y BREFALAERAHE
7 S (715 : @18)/10a)
H} % B s 7 {d1E [ F9 &) H] bk
2| & & 8 79 4, 630kg 150 694, 500
£ 2 A &8 79 AEDE 1 88.9%
g A 694, 500
2 R oy 8.2 3, 850 31, 574
2728 v 21 97,387 |N:25.8P 1 19.4K : 21 1k
o F £ A 3690k
BIF| #7140 80 | 1,93 B.610 | Sam ol s 51060
¥ 009 10, 629 AA 2 10k
: AwA & 484 Occ.
| #4958y 3,238 } A 23 HA 833
R LIL 0le  “2iinos
A A B oy 1,253 | Hl d 4 0m
_ 3 1 12, kg
& F 7 M 483
1A 0T A 12, 780
% A A A 2 2, 361
29 (58 Y 1, 995
Hlg s = 9,561
B 8 2 273
A 131, 144
B
g o 2,917 Ta: 3.0 A7
TE=EH ) DY G 6.161 | o . 174 A7
Al 177, 305
2,917 ¢ 45,5 A7
yd = M LA 7
- g 4 BWL | o e LB | o L gy A
& 5 517,195
¥ 5 A A 563, 356
S-S (74 74,4
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IAF F

= L= =
EE5FEHE

Z 4 (715 413/10a)
H] g | £+ ¥ |74 | F4ED H| k)
z|F 4 B Y 4,185k | 166 694, 710 :
S8 4 F 9 AEEE 8. 7%
L A 694, 710
£ 2 A 6. 6t 7,360 48,578
25w 2y ' 93,507 |N:27.6P:16.8 K : 22 6k
Alz|e T &4 3850k
T RN R 481k 36, 063 S 84 7 G
F 9 oy 18,737 A : 1Tk
AFA §A4 545 7cc
$€ - FHY 3, 527 2 0.3k
2| = AZA $4 228 4cc
A A 5y 1,713 | 71 & & % 0.3k
f §:17.0¢
A ® 3oy L109 fwp 9 &:0.18
3 . 1. Okg
(A | g5 T4z 17,425 | o A : 8.0k
9T A4 A2y 877
T8 () 5,773
Hle 2 8§ 12,556
7 8 & 2 1,261
A 181,126
Gl
g o 2,801 g0 A7t
Z % kg 42,44 7 o L9T5 92, 075 o : 3.3 A7
Al 273,201
w2891 Y 32.7 A 7H
A = g oo 64. 6417 o 1975 157,538 o ¢ 310 Azt
A = 421,509
2 7 A A 213, 584
& = & (%) 60. 6
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B3 EFLTENE
Z 4 (71% « @13]/10a)
B} = | T ¥ |87 @ |29 &) H| i
2| F 4 B 49 4,727k 149 704, 323
15 4 & 7 4 AHEZE 1 90.5%
4 A 704,323
F B 4 1. 4dt 15, 617 21, 865
R 7} A 9} 8 H) 30,095 |N:30.4P:20.3K: 249k
o &4 8990k
A% | w20 ad | 1316k BON | Gan S s sc
o9 15, 681 A 2.0k
4FA F4 571 5ce.
#9594 4,59 27 1 0. iy
p| o~ A 2A #7160, 8cc
| S (R A) 8l 149 QA+ 0.2k
A A & ¥ 62,945 | 71 B % % 0.3k
A 7] 5 Okw
& & T L8 | & £ 20,00
H] g 38 0m
BIA | dE Py 12.076 g & . 108.67
A S| 50200 | ¥ @ ¥ 0.6e
3 ! 5. Okg
T8 {(EH) 4 5126 | g A 40k
o . A T 207
LI R . 20 | g e 500 0]
7.8 & 2 2,753
A 203, 643
Hj
¢ 2,533 EEBIE: Az
Dog A omeNn| oo | g e
A 272, 857
. g 2,533 50,7 Azt
A7 ke ¥ oy 103392 | & s B350 | 1 g A7
& 5 431, 466
2 07 A A 500, 680
& 5 & (%) 61.2
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e EELSEHE
3 4 (71 : |13]/10a)
H] = g T % 871 @@ |9 &) H] I
z|F 4 2 7 9 6,717ky | 141 947,097
s % 4 & 7 9 AE8E 1 90.5%
¥ A 947, 097
£ g ¥ 2.5d 5,369 13,423
L E R 36. 661 N:3L7P:16.8K:22. 6k
4 o T & A Y00k
R E-EE-E 1, 347hg %195 | 5y S+ 150.0cc
T Y% oy 12, 368 AA 1Tk
A A A 206 2c
#E - FHy 5, 365 2R 0 kg
{3 P Az FA4 94T
&\ 2 (kA M 167 Ry
A A E H 29,888 | 71 Bt % 9 : 0.5k
XX £ 17,0
& F T 4 1,561 | w) J S m
g 2 16. 270
TN o Tz 78S o a@:pam
% A4 44 7 % 3 i 13.0kg
z E : 2,767.07)
FE (BE) Y| 5,163
B9 #% = 3,000
71 B & F 5,570
A 152, 168
H]
g 02,798 324 A
L= MR g | BB g Az
A 918, 796
2,798 ¢ 0 59.3 A7
A 7t = g oy 117247 o 189 275,699 | o g A
& % 798, 301
¥ 7 7 A 794, 929
& 5 & (%) 76. 9
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IYAFE FELEFAE

Z 4 71& : |13/10a)
Cl g g ¢ # | gA@@) |[F9 &) Hi ki
2| F &4 B 74 4, 518kg 178 804, 204 _
s 2 4 B 79 AHESE 83 4%
¥ A 804,204
£ H ¥ 1. 1d¢ 19, 528 21, 481
27 A Y &) 37,376 N:34,0P:20.5K:25 8k
o 5 ‘g' ’ki Q 1 99, G’W
S R MELEL 520k LRI gy g4 805.6cc
FOOY ¥ 19, 046 UA ¢ 1.3k
AFA &4 : 554 2c.
%4 - F9y 3,798 24 ¢ 0.3k
A 2R §A 237 2c
i3 S
1 g (KFD Y 8 QA - 0.1k
A A B oy 18,643 | 71 B ¥ &: 0.2k
# & 18.0¢
2 % T ¥ 2,499 | v d ¢ 94 0m
g & 1 22,570
REREE R 62| 5 g agan
G 5 A4 A 7] 2,35 | ¥ A & 16. 0ky
A 5 ;107
FE (E) M 10,43 | £ E : 464 070
Bligq 2z = 13, 250
71 & 8 & 1,337
Al 184,893
H]
w2932 o125 A7k
T £ x ¥ g 49, 9A 7} o : 2002 111, 898 o 34 A
A 296, 791
| ¢ 12,932 ¢ 43 A7
Z} 7}‘ .8 84.24)7t o 1 5012 207, 406 q 409 A
A = 507, 413
R B B 619, 311
& 5 & 63. 1
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Pl EFLSENE
4 (71& : 918 /10a)
v} 5 | ¢ 7 g7 |F9 R H| k1A
2| F 4 & 79 4, 363 kg 154 671, 902
F| ¥ 4 8 9 BES:90.3%
¥ A 671,902
F H Y 0.9d¢ 15,831 14,248
27 A b 2] a8 655 |N:37.2P 21 4K : 255k
1 2 % ‘g' ’E} ﬂ : 540"79
716 54 1, 709kg 38, 606 d34 %A 578 9c
- | 14,905 JA : 1.8k
AFA FA 492 3cc
e - 8y 2,922 2 0.2k
2l | A zA FA4 © 140.8cc
8 (KF) 93 T4+ 0.6k
A A & ¥ 2,646 | 7 F.20.0¢
H} g 27 0m
A ¥ T oy 2081 | g Z 4010
od #1038
AWy A 649 | 210
G5 A4 1,778 | % E : 1,593.07%
xF A A0
T8 (BE) 8, 324
o a1 = 14,252
7] B & # 2,913
A 181, 867
2,702 g 143 - Az
3 =Yg 617 \
1 £ =] 49, 6417 Q: 189 105, 567 o : %53 A7
A 997, 434
g 2,702 g 55.6 A7t
7} e H ERE
A 7} G 102. 947 o ;1,89 239,912 o i 47.3 A7
& = 374, 468
£ o7 7 A 480, 035
a 5 £ (%) 55.7
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xA4: EF2SEAE
7 4 (715 : |12 /10a}
H] = = F F iag@ 4 H| i
2| & 4 B 79 1,781kg 545 970, 645
2|2 &4 2 79 | AEESE 0L 1%
¥ 2 970, 645
z g 1y 2.3 7,926 18,231
B2 H) g 95,054 {N:2L2P I 1L1K 1 13.2k
o F £ 4 3920k
MR AL R NI BTN gaa a4 - 308.8cc
F Y% 9,204 A 18k
AgH A 122 2cc.
349 59y 3,496 BA 2 0.2k
2| ¢ (kAN ¥ | AR R
A A & 9 27,578 | 7 1 17.0¢
H| d 240, 0m
£ 5 3w 479 | g % 15407
B 9 2168
FIA| gx 7y 34,121 4 1L Okg
CERERTY 7,627 | 4 % : 1.0
E AR A A0
+d (EH) Y 5,839
Bl o A & 20, 093
78 & 2 2, 365
A 191,276
B}
g 2,967 ¢ 6.7 Azt
S Bl ERERC T ek CRR Az
A 294, 105
92,967 g 9.6 A7
A 7 x d oy 198502 | & g 48981 | & . o A
% = 676, 540
= 7 7 A 779, 369
A = & (%) 69.7
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kA L] EEAEEAHR
7 4 (71%& : 913)/10a)
H| = = F ¥ g4 |39 E H| 1)
2| 7& &4 2 7 4 3, 302ky | 715 | 2,360,930
£ 2 & 2 7 9 AESE 1 90.9%
4 Al 2, 360, 930
2 B ¥ 2. 2df 92, 568 49, 650
B2 H 8 4] 44,185 {N:42.2P 2L 2K 1 37.0ky
)‘ .
A5 | gnaman | 16k 35, 151 z%ﬁ“ 4%:1;ilgég_"gcc
U 39, 632 2 0.1k
A 173k
3e - &4 7.342 | &34 &4 1,3%. 0cc
2| 2% (KF) ¥ 5,210 €4 : 0.5k
T ' AzA #4166 Tcc
A A4 8 v 143, 468 QA : 0.5k
A 7]+ 35.0kw
& F 7o L710 | & 3400
B} g | 593, Om
ARl 5L741 | g ol
Q%544 42 633 | A F o L08L0)
‘ H d & 1448
T (BE)Y 5187 =] : 118, 0kg
A 1.
Iy A4 e 152 |5 2 oo
7] 8 & F 10,058 | &% 4 =1 29004
A 401,209
H| -
g1 3,8 ¢ 7.8 A7}
T4 w g 513412} o 1908 108.3% | &1 | 4o A
A 509, 541
¢ 13,28 ¢ o: 1312 A7k
A 7} = g H 951.7A1 2 a4 1908 856,051 | o . oo s A2
ES E 1,851, 389
55 A F 1,959, 721
& = £ (%) 78.4
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3 4 (712 : 4413 /10a)
W o= o9 |+ F @A @ |[2A@ | v z
2% 4 B 7 9 3, 501 kg 465 | 1,627, 965
i 5 A B 79 AEEE87.0%
4 A 1,827, 965
2 5 A 1.2 35, 463 42, 556
B 7] 3 v 84| 40,491 IN:33.0P:19.3K 30, kg
A :
B|F| 4712w 8H 1,406k 36, 389 ij%%;i %3} gg 83
24 ;0 1k
cr e o AL A ﬂ;‘} é83kg
. A A4 JTec
} FE - FHH 7,038 vin %_;3} ' 0.2k
2| = (kA8 593 ZA #A ¢ 196.3cc
¥ CRFD) 44 0.4k
A A B 127,793 71 B % o0 ik
A 7] @ 18, Okw
L % 7 o4 912 1"5 zr:sz.og
- 8 846, 0
AR EPE Ry 47 (g = aph
A = o 2500
o5 A4 A ) 6205 |y w & 6.73
A §1 4.0
H | o 5 g 59 ¥ E ], 528 07
? A D% 4 x A 260N
7 8 & 2 1,809
v 324, 541
H
2,621 o714 A7}
& x 8y SLANZE| o ey 96571 | o 4 g i
H 421,112
2,691 W 123.4 A7
}.
A e 3 | aema| g0 smen 5080 O
A £ 1, 208, 853
L 1,303, 424
A 5 &% 741
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32 EFLTEME
7 9 (712 : 418 /10a)
Bl =5 | F FigAE [F49 @) H] kil
z|F & 2 7 9 2, 079k 566 | 1,176,714
I HEHE 1 9L.2%
L A 1,176, 714
F B oy 10. 2df 5, 460 55, 700
22 g 25,210 |N:28.0P:15.3K:19.2k
o ¥ ‘g‘ A 3 57, 0kg
B|F| AR | 15k B85 gan oa: 189 0cc
¥ o 9,399 AA 21y
AFA #4208 3cc
B¢ - 58y 2,768 2 0.1k
A x2A &A 16l lee
z
wE (A Hl 47 : 0.5%
A A 8 H 5366 | 71 B & % : 100.0k
T F:13.0¢
2 % F Y 2,99 1w o B l4g
3 : 49, kg
A | YNy 438 | 5 2" 4 21929 07
QA4 2, 563 -
T8 (BE) Y 16, 689
Hle 4 =2 13,539
71 & 8 & 2,210
A 189, 837
i
g 2,917 g 52 A7t
¥ & = ¥ oy 49, 57 71 o : 1,956 101, 819 A i 443 A7
Al 291, 656
92,017 g 43.4 A7t
- 87,0417t o 1056 211,879 &+ 436 Az
A = 885, 058
2 7 A A 986, 877
A = £ (%) 75.2
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273 EFAFSEAHE
S| 718 A418/10a)
H] Z | T+ |97 E) | F9 %) ] Nl
2| F 4 B 9 2, 461k 495 | 1,218,195
|2 & 7 2 9 AESE : 90.4%
4 A 1,218,195
# ® 3 4.5d 9,411 42, 350
B7 88 84 o 94,563 [N:246P: 151K :17.0ky
. o T &M Y750k
BIF fAAuEH | 158 B85 | Gan Sl 4L 1
0% | 14,048 | AFA #A : 513 3cc
AzA A ¢ 230 0cc.
BE - FY 3,498 AA 0.9k
‘ A 71 ¢ 3. Okw
\_}.' 2
A A E 125,584 | ®l d : 517.0m
2 g .20
A x 2oy L3 2 = d: 7504
B 4 B2
[B (A | osTFaz 15. 168 3 %60k
A B 5711 | ® E 30,04
BB X A A 128074
+8 (EE) 5,125
il & = 1,390
- 1,667
A 268, 215
L]
. g 3,317 g 2.9 A7
%% x gy 27.3»\1{% o 1046 0L | g gy A7
V| 325, 316
3,317 g 86.5 Az
A 7 = d o 174. 6412 o+ 104 68,363 | &1 | ge | A7
2 % 892, 879
¥ 4 A A 949, 980
Fo 5 £ (%) 73.3
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7 4 (& 413]/10a)
H] =3 | & F (84 @) |29 &) H] 2
z| % 3 & 7 o 5, 660kg 603 | 3,412,980
sl® 4 87 9 AEE 1 90.6%
3 A 3,412, 980
2 8 o 254 | 18510 | 46,276
2 7] 2§ & n) 42,354 |N140.7P:23.4K: 37.0k
A Y1140
B|%| 4712 8 1, 580kg 62, 047 Z%% 433141 :1.004.kgacc
%= o B 45, 809 o ;j;*} ;?:ég
A fA 1340 Tec
39 - 599 34,00 x E;ﬁ; 0 tky
Y Az g 2 22.6cc
2| %9 (KFH) 8l 1,043 . ;»Ez_;i:o.gg
7 eF ¢ 01
A A4 E A 200, 406 x_g 7] : 266. Okw
% . 67.0¢
, A2 % F oy 1, 507 ﬁi %:30.07]1
B : 823.0m
Al s 4 o7, 858 s:it . §:33&gyﬁ
A H 79,427 | A + 200.07
% 5 A A7) 9 . ]j & 598
v (BHE)r 15,918 X : 188. Okg
*H ] % A 10k
e 2 =& 4,009 | A T 47,07
z E 20207
71 g 8 F 4,409 | X & A = 36307
7 505, 966
H]
g 2,972 g 29,3 Az
R ST 144, 4N 7 a0 176 0116 | & . yps g i
A 886, 082
312,972 ¢ ;2607 E
A 7 x g ¥ 499.7X7H o 1768 L2028 | 3\ pug g A
& 5 2,526, 898
2 7 2 2,817,014
& = £ (%) 74.0
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AMEY EFLSEHE

| (71& : 913/10a)
o] 5 - F ¥ |87 | F9 @ B| kil
Z|F 4 8 7 4| - 4600k 529 | 2,470,430
Sl R 4 B 9 AEHRE 92 7%
e A 2,470, 430
F ® ¥ 5. 640 8,693 48,683
2728 24 33112 |N:345P:18.9K : 25.4kg
73 o & A 20k
F| 5748 24 2, 383kg 49,700 Sad S 498 g0
F Y% 9 20, 164 QA 1 0.5k
- A& A 703 3cc.
#4939y 15,319 21 1 0.1k
A xA 4 6L 2c
Zl- A
g (KF) ¥l 944 A7 + 0.0k
# A & ¥ 243,637 | & 7] & 253, Okw
H 242,00
& 5 F oy 10,123 | w] g 017 0m
Z Z 4317
AR EE S L I I R
o 35 A| A A} 2] 57600 | 81 9 ¥ 598
3 : 97, Okg
27 (B8 Y L4755 1 4 - oA 16,00
' . ¥ E : 1,617.01
B
e A = "1 E % 4 230
7l g 8 B 3,017
A 523, 694
H]
w1 2,956 o 20,4 Nzt
H L 2A J- ,
24 x ¥ oy 79. 247 o4 1 1717 161, 262 o : 55.8 Azt
A 684, 956
g 2,956 g oo 220.2 ki
B }
A7 = g oy 408, 7A) 7t o ¢ 1717 974, 565 & ¢ 1885 A7k
Ent 5 1,785, 474
2 74 7 A 1,946, 736
o 5 &) 72.2
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2 EF2SEASE
4 (71% : €12 /10a)
H] g E £ % |d7@E) [ F9 @) H] kA
z|F &4 & 74 9 83ky 2, 766 229, 578
|2 4 2 7 9 6,350 | AHEEE 86.7%
4 A 23, 928
Es B Gl 1. 2ky 2,420 2,905
B.7) 2 8] g 4] 10,237 | N:12.7P:7.1K 5.8k
o 5 ‘g‘ )5" i] . 30"9
B1%] 47120 2n 628ks 1,920 | 2% "o+ 147 70
O | 9,499 | &4 FA FA : 16.7cc
A2A A 127 7cc
RN 1,401 QA 0.5k
[+] 2 s
}. e i ™ - 7»?
A A 5 4 1,627 | ¥ € &:028
3 6.0k
A2 % F 4y 806
9|A | g7 10,301
g 5 A A A2 1,179
Tz (BE) Y 1, 867
H | ¢ a3 8 2.349
71 8 & 2 24
Al 47,116
H]
g 2,739 0.7 A7t
e I R Do B ] e A
A 57, 805
2,73 g 42.9 A7t
A 7 e § 4 87. 6717t o ;2,218 216, 647 o ;4T A7
A = 178,023
2 1 A A 188, 812
& = & (%) 75.4
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9492 EFLSPAHE
4 (71& . 918]/10a)
H] ) g T ¥ a7 9 E) Hj k1)
2|2 4 & 2 9 268 kg 5159 | 1,382.612
I R S AZE g 1 98.7%
4 A 1,382,612
F 7 ¥ 0 [EHAdHTAELTE
7] 5 u] £ 24,082 |N:13.1P:10.4K: 219k
T 5 4 330k
B|F| #7134 84 1, 252kg B84 | 5 e e e
F 9%y 13, 464 B : 14 kg
AFA A 271 Tcc.
#d . 5 39,823 | A x4 SA 3778
. A 0.1k
‘l- A
T g (KF) Y 0 g oF 37590
A A E B 40,416 | A 7] & 115kw
f £ 1814
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H] g E F o8 (4@ |9 ) ] I
2| F 4 2 71 9 186kg 2,840 528, 240
S8 4 B 7 o4 2,207 | 45EE:92.9%
¥ A 530, 447
&3 B H| 11. kg 3,011 33,431
B 7] 28| 2] 19, 357 N:G7P:13.5K: 1.6k
o T % 4 31530
A% a7 8y 832k 15, 338 Sad A4 31k
2 ¢k 9,600 | ATA FA : 361 Occ
B 0.1k
39 - Fd€y 3,38 | A=A 44 261 7cc
| &9 (o) 0, YEi0d
I 154
A A E ¥ 11,630 | ® d 922, 0m
Hod  2:0.38
A 5 F 9 1,578
GIA| 3w FAZDE 29,297
GE A2 1,454
T (EH) 9, 346
ilg % = 2, 167
71 8 8 # 2,305
Al 131,930
H|
o 2,679 3 59 A7
T8 E 0 B3| & L gy g Az
A 186, 321
2,67 46,6 Azt
A 7 = 8 9 97. 94 7t d : 2016 228, 262 o @ 5.3 A7
ol = 334,126
& 7} A 398, 517
& = & (%) 62.9
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= 3 (715 413 /10a)
H] = | F g |97 @) | E9 &) H] 3
2| & &4 2 7 9 956k 4,973 | 1,273,088
212 4 82 7 9 5877 | AE88:98.2%
4 A 1,978, 965
F By 0| B J4TAEALER
2748 gy 09,150 |N:16.7P 1 14.5K:27. 0k
. o ¥ ‘g' &! ﬁ] . 470!59
B|%| 47144 gy 1, 641k 30.219 | Gate 5 Al L 496 70
% oF 16, 695 B o 0.4k
AdA A 429 0cc.
9 - FHy 54, 987 B 0. 2%k
- AzA 4 538 9cc
2 48 (K F) ) 0 51 8 % oF 4005t
A A4 8 H 26,009 | ® 7] ¢ 179w
% 2 ;9944
o 4734 | 4 g 1 22,07
I g 856 0m
T|A A TR By Ziiaw
o3 S A 4 AF 2] 13,356 | B ¢ &: L8
3 : 12.0kg
22 (8) Y 84,154 | g 7 1 25.0k
Blle a4 = 16, 222
71 g8 § 7,302
A 301,574
o]
2,476 o287 A7t
}.
T & x 9y 86. 741 7t o : 1890 180, 681 & 560 A7
A 482, 955
g 2,476 g 1 136.0 A7t
].
A 7 = ¥ w 253, 441 7 o+ 1830 558, 622 3 1174 N
2 5 796,710
S ) S 977,391
2 B g% 62.2

_184....




J¥ EFLSEHE
-1 1 @ A13]/10a)
B} E W S I I O VI = I ) H| z
zlF & 2 7 9 414k - 14,122 | 5,846,508
22 & 2 7 9 NHEHE:93.9%
Y A 5, 845, 508
x g oy 5.84" 22, 408 129, 972
‘?‘7]@13].@.‘3] 4,829 N11.3P12.0K12.8k9'
' % & 4 8180k
G L E L A UL | a2 o 1,900 Occ
S 122,703 2 1.8k
QA 11,5k
9 FYy 17,633 | 484 4 5397 2c
7} )"t'l]()'j( |)H] 0 'E‘xﬂ35k§'
G E ORR A2A G4 841 Occ
A A g 3 767,911 A 0.2k
71 & % % : L0k
& % 7 H 3,98 | B 7] ¢ 1, 008kw
¥ 2754
F|A A5 Tay 19,512 ) d @ 453.0m
o A4 A Zh) g3 | & % 583.870
Bl ¢ 808
23 ()| 19, 830 | 1 028.0kg
Mla 2 = 3,678 | ° A ¢ 25Ok
71 8 & 3,623
A 1,650, 968
H]
g 2,354 W 1%3.7 Az
2 £ = g 431. 54 7 & 1850 85,659 | o . 507, A7
A 9,516, 627
2,354 & 255.4 Azt
A 7 x g oy 485. 347t a - 185 1,026,526 | g3 | oo g Az
X = 3, 329, 881
I (S S 4,195, 540
A B & 56.9
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Pt EFLTENE
s = (71% : é13]/10a)
H] Z, -] & 7 | g7 @ |79 1| A
2% 4 & 7 A | $56.00k %8, 164 796, 376
2i8 2 85 9|78 #7721 15,430 | APESHS: 100.0%
4 A 811, 806
F B v | ZFLeAdA 12,767 39,036
21.4 13,291
2714 u Zy) 26,214 |N:30.5P:13.1K: 17.9k
Alz | #7AH &N 919ky 18,446 | % & A 3 : 8.0k
A & -
s oo ma | 3 L s
#9594y 10, 020 44 : 1.6ec .
N AFEA SA ;450 0ce
2 2 (K F) | 0 o BA L3
A g B A ZA FA 738 8cc
A | 15,677 A - 0.5k
& F oy 1,237 1 71 & % 9F: 1.4k
. A 7] 9. 0kw
" o T4 2] 24,984 | o 2 560}
% 5 A4 A2 16,557 | @ g 9.070
H| d : 63.0m
Ty () 10,458 | = o] . 115. v
A 7 0. 38
% B
B| s | i7. 001 p p o L3N
9 F = 0 | * 10. Okg
A : 04, Okg
71 .8% & F 1,400 ;’i 2 ":60k
7 200, 598
]
g 2,267 g 47 Azt
K ; B }
2§k a ] 27,447} o 1667 48, 195 od M7 A7
A 249, 093
oo 2,267 W 149.3 A7
24 7w 8 K _
} 7 g o 333. 447 o 1 1667 645, 357 o ¢ 1841 A7
& = 562, 713
L I R | 611, 208
A2 B &% 69.3
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A3 EEASEAE
=2 % (N1&: A15/10a)
H] = -] £ ¥ [d¢74 @) |9 &) H] X

2| % 4 8 b | 21560k 883 | 1,908, 748
1% 2 B2 59 30,040 | AESE : 92.4%
% A 1,933, 788
LR 44,226 {N:25.3P: 17.6K: 23 Thy
474 v 84 1, 728kg 38,511 [% & 4 3 : 120k
T 4 A 20k
213 |% 4 98.2T4 1aad g4 : 3,478 3c
BE . 29y 12,028 A 0.2l
A ;0. 9k
g (K F) 9 0 |24 FA4 4386 0cc
B 01k
A A & 5,130 |24 &4 : 1,163 8cc
2 % 7 am |8 7 B
& 2 59,94
ol 5+ 43y 28,587 | Fol (XAFA]) 1310k
W4 2 46E
G | A o A A A Zh) 14,611 2 : 114, Okg
~ % 7 660k
TE (B Bz 3 43 w60
2 4 41,704 |H] d  678.0m
Wle A4 = 4,167
78 8 2 4, 285
Al 454, 010
H]
g 2,350 9340 A7
A T R R EECH e 29659 | o . gy N
A 663, 669
g 2,950 . g 140.0 A7k
A 7 = & WAL | o o 9417 | 3 s A
A = 1,270, 119
R R 1,479,778
& 5 &M 85.6
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3ol EF2SEAE
& (71% . 413 /10a)
H] E ] £ ¥ (g7 @) |24 (& 1| i
2|2 4 2 2 A | 1,840.0k 956 | 1,767,644
18 4 2 g 9 7,104 | AHEES ¢ 92.9%
4 A 1,774,748
274 v 8 ¥ 42,477 IN:23.1P:16.6K :23.0k
%7) 446 g4 1, 308kg 37,007 | & A 8 :124.0k
AEA KA 01,0728
BlFls o w 50,123 g%ﬂ : 0. 3k
.= AFA FA ;2,043 Tcc
#e T 08 BA 0.5k
8] (KF) 4 0 (Al 24 $A : 657 2cc
2 AA 0.7k
A B I Y 115,077 | 7} 5. O
% £ 1 46.64
£ 7 2,0% Fol (E34A]) : 48.0kg
o 5 F 44 18,151 48] ¢ & : 338
' 3 1 100. Okg
DA | gy 1,550 | g A 9.0k
~ EZA A 124.04
+ (5E) 540 | o
2 4w 52,202
g 24 = 92,472
71 8 & B 3,649
A 359, 784
H]
2,381 Y 18.9 A
H A2 s
Z 4 % g 85. 1A% o 1622 165, 617 o 662 A7
A 525, 401
312,381 3 140.9 A7t
A 7 x g b 250. 01 74 o ¢ 1.8 537, 907 o ¢ 1L A7t
A 1 1,249, 347
B J 4 F 1,414, 964
A 5 £ (%) 70.4
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IX RFLSEAME

712« @13]/10a)

Y - F % a4 4) |29 &) H} kil
% & 2 7oA | L6140k 1,720 | 2,776,080
& d ' A9 165kg 4,439 | APEEE @ 94.2%
! A 9,780, 51
B &b &4 33,909 [N :20.3P:15.9K : 20.0ky
£ 7] A o] 4] 1, 781 kg 35,978 1% & M & :137.0k
- A LA 1407
2l o 57,157 o5 A g:} éﬁ; (cc
. % B .04 g}ﬂ : O.Gkg
%4 hld 9018 AaA &A 1,976 6cc
8 (KF) Y 0 2a ;0 1k
_ A 2R S4 : 5648
A A o500 |1 R e
[+] =
A H 9.7 T 5 44.62
& 7 B 2o zg2) : 377
g T4 DY 19,208 |¥] d & ! 4.68
3 + 37.Okg
G 5 A A Ak 2] S92 % A 4 A 19.07
28 (£8) ) 7,599 H| Y 5378.0m
£ 4 ¥ 41,314
d F =B 1,250
718 & & 5171
# 403,614
g 2,467 _ 34,3 Azt
T & = g 97. 6413 o . 105 23,305 | 5 pas i
A 606, 919
W 2,467 g1 157.8 A7
3
A 7 = ¥ oy 274. 1A 2+ o 187 607,355 | &1 - 1153 it
A = 2, 173, 600
2 5 A x5 2,376, 905
& 5 £ (%) 78.1
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g2y ¥

gt

) =
AERHE

1 A/F)

& &
H] ) |- F g g E | F9 &) o
| & &4 2 7 9 0.9% | 1,350,500 | 1,215,450
£ % 4 2 7 g 55,833 | ©4g% : 0.98
4 A 1971, 283
z & v 1. 0% 79, 263 79.263 | W 3 A} B : 9610k
XA &Y 206, 493 : 58.9kg
T 8.0k
AR YA 21, 218 - 1,026.0l
F & FEHy 15, 809 2 1 910k
14 A B o9 16, 192 : 11,1830k
. 167. kg
A 2y 2,345
s 7 % ¢ 063. kg
A | By 11,692 | A ! 42, Okw
23 (8) 9,943 | T ®oIT.04
5 » = 017 | &S0
N ' H] 2 1L0m
e A 8 0|7 Q1 195 0kg
71 8% 8 & 5508 | 4 A 75 0k
A 500, 933
i : 2,558 A
g = 8 oy 0.6412 s 1,391 N3
| 502, 324
: 2,558 Al
B ! '
A A w8 oy 275. 04| 24 1 e 651, 396 At
& = 768, 959
L I 770, 350
A = & (%) 60, 4
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gul%S EXLSEAE
F 5 (71 A/5)
H] % E T F |87 E [ Fd&) H| 1)
z|F &4 g8 29 646. 3kg 5,554 | 3,589,550 | AXFATF 1 383. 9y
A2 % 8 7 94 57,681 | W&+ 1 1.38
4 2 3,647, 231
2 & oy .95 | 1,721,628 | 2,238,117 {wj & A = : 2,070.0k
¥ 3 A E 375965 11 ¥ 133k
Alg|2 4 5 6,301 | 2 T 2.0
L+ 2 1 970, 0ky
&5 % dH 9,167 | A & 1 530. Oy
A A = ow 1,729 | A € & A 120
of 2 1 510k
A u 1,847
s T 4 T 454,04
o 5 74 7] 7,525 | » 7] 1 33.0kw
B[ A | gEA8aa 9.339 | % F . 0200
3 () 6,93 (® ¥ 60
7 2 2 227.0kg
B g 0
L % A : 182.0k
gl a2 = 89
71 g & & 1,441
A 2,746, 763
)
12,433 g7 Az
b
& xd oy L9 o eso L3061 0 A7
7 2,751, 269
A 7 = g oy 208, 5A1 71 #0243 670, 360 w2185 A3
TRl o 1,850 ' o 750 Az
& s 895, 962
2 7 3 900, 468
& 5 £ (%) 24.5
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54 EFLSEASE
F % (712 : |/100<)
B] g ] F g (g4 @) | E) H] 2
| F 44 B 7 o9 957. 3kg 960 919,008 | AFM % : 935. 4k
|8 i B 79 18,373 | vl && 4 : 473
L A 937, 381
F % o 484. 15 370 179,314 | w) & A} & @ 1,977. 0k
= X A g 509,005 | 7 & 1.0k
A2z 4 & 9 o |F 5 0 286.0¢
A 7] ¢ 143 Okw
da a4 A3 & 1000
&% 3o 17,603 | & g 0 33.07
A A4 2 oy 11,375 | ¥ g 3.0
7 3 640k
A B 2,726
&7 % 2 11870k
W F T4 7,940
DA | Gz 12, 802
T8 (BH) 6,811
z 2 B 0
8 1e 2 = 0
71 8 8 2 2, 887
A 765, 976
H|
g 2,317 W48 A7
H
o & x ¥y 6. 541 7% o : 1939 14,417 oq 17 Az
| 780, 393
¢ 2,817 31018 A7
!
a7 x g oy 153.84) 7 o 1939 336, 698 o+ .0 A7
o = 156, 888
827 s A 171, 405
o 5 & (%) 16.7
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2 e 196

F e 197
o B 198
e Z o 199
3 B 200
7L B e 201
g 202
oF B & e 203
o % 204
= r R 205
E omh g e 208
A b4 S 207
R Q6] e 208

T A ¥ =

SR EOE e 209
A E Y e 210
A FY e 2l
o] 2 e 212
2] W] e 213
A M RLE e 214
A} A R 0] cieeeeen 215
ALEGE e 216
A AT e 217
A A e 218
2 T e 219
= P I 290
o 2o 291
R T 299
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gLy EFLAERHE
2 ¥ (718 . d138/10a)
H] 5 | T ¥ (g7 @ |59 &) H] I
2| F 4 B 7 g 5, 69271 154 876, 568
12 4 2 7 9 26,600 | AHE8lE : 93.8%
¥ A 903, 168 |
2 EH oy 2. Bkg 5,108 14, 303
_\?_7];5,3]5.3‘ 98, 204 N127.6P113.4K217.0k9
A o F &4 3660k
K REREY] 2,231k 850 13 "0 4140k
% ef W 5065 1 45A A 233 2c
A 670k
BE - T8y 3, 269 AA ;0.3
A Z2A A 198 dcc
\1- A
1 ‘I”E](j(ﬂ)ﬁl 0 ?Jxﬁ' 1”09,
A A &5 y 55,004 | 71 B & F: 0.2
# 2174
& % 3 oy LO017 | d:1,1720m
: 8 £ 3530
A | s T4 2 0881 5 g &m:oom
B A Ak 11, 603
T8 (BE) 6. 496
Hliea 2 g8 8,278
71 g 4 2 2,764 {.
A 198, 7068
H]
o 2,8%8 % 453 Az
IR B I Ci I 6,53 | 5 e i
A 245, 249
oo 2,828 3 :59.8 A7
S I SRR A PP A2
A = 657, 919
I T 703, 462
& 5 & (%) 72.8
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Z EFASEASE
F 9 (71% : 413/10a)
H] g = F % | g1 @E) |29 ) H] I
2 F 4 B 7} 9 199kg 1,503 299, 097
- 3,607 | AEEE : 87.8%
4 A 302, 794
Z 8 A 7. 1kg 1,371 9, 737
7] A 8} g4 11,611 N:4dIP:6.3K:58k
o F & 4 3830k
CAA Rk LR 750k 11888 | 5 a%s e ¢ 313 e
S 6, 940 A A ¢ 0.3k
AFHA &A ¢ 201 2c.
FYE - T8y 1,256 B 01k
A | A2 A 287 7ce
1 T'E](JK%I])B] U %11_“‘0.2&9
A A 7 1,453 | .0
8 d #1028
E 1,455
(A | o5 P44 7,608
G54 4] 0
T (EE) 2,413
Bl 2z 8- 10, 888
7 g 8 2 1,363
q pii 66, 811
). |—
' " 3,022 EadIN| A7t
T € = g oy 5087 o © 1980 10, 004 o A
A 76,615
¢ 3,022 3 :37.2 A7
2 b x g o 74. 147 o © 1980 185, 480 & 3.9 A7
& £ 996, 179
R 236, 183
E = £ (%) 4.7
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¢ EF2S5EME
$ 49 (714 : A13/10a)
H] 5 | £ ¥ | d@E | F9 @) H] k)
2| F 4 & 7 9 116kg 1,907 221,212
2|l2 4 B 5o 1,828 | A58 86.4%
¥ A 223, 040 |
F H 1y 5. 5ky 1,786 9, 826
5 an 2 11,734 N:45P:7.4K:6 1k
4 4 3800k
CAERETELEL 653k 055 | o A\ 3% 1
A 6,386 | 474 F4 : 18.lcc
A x2A A 215 Tcc
Fd - Ty 1,933 A 1 0.6k
is A 'lgr %': 109
7‘:-' 'T'a (ZK-#IJ) H] 0 B] % 'E : O.ZE}'
A A4 B 9 1,529
A = 3 oy 820
A Qe ALY 7,965
% 5 A} A A 2] 155
8 (BH) 8 2, 662
g o 3 & 4, 167
7 & & 2 454
A 56, 586
H)
g 2,644 312 A7k
A=A TR s | B a6 A2
A| | 72, 085
92,644 1 dg:3L9 Az
A b = 9 o 4T | g | 18070 gy At
El 5 150, 955
£ 724 A A 166, 454
A& 5 & (%) 67.6
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4F EF2EEME
e (71§ : %18 /10a)
H] ) | + F | | FF &) ]| 3
21 F 4 & 71 o 494 kg 823 406, 562
2|2 &4 8 7 9 4,878 | AEHE:92.1%
4 A ' 411, 440 '
2 g 8. 3kg ,643 13,642
2y 3y & 4] 17, 599 N!i61P:11.7K 9.7k
o T £ Y 730k
F| oA | LW D078 | 50 e+ 500 sec
% o 6, 940 AA 1 LTk
ATA 4 922 .
g Edy ' 2,234 2A4 0.1k
A zA A ;224 3cc
(.S
A A 8 ¥ 41,205 | o d ;8% 0m
: B¢ E:26g
& % 7 oy 993 3 : 10. Ghg
P W5 T4 2| 8,358
% %514 Az 1,053
s (EE) 3,743
Hle 2 g 0
71 8 & 2 1,364
A 117,229
¢ 2,533 321 A7
53
S el TRV B PRy A%
p | 151, 608
' o ¢ 2,533 g 47,9 Az
L 4A1 7
2 = 8 oy 98. 4417 o ¢ 1867 216, 624 o 505 A7
A z 259, 832
L S 204, 211
a = & (%) 83.1
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=5 EFLEEAHX
T ¥ (A% €418/10a)
H] & | £ ¥ (g% |29 &) H] 2
Z|F &4 5 7 9 Odkg | 3,401 319, 694
13 4 F 7 9 317 | BE8&:87.8%
4 A 322, 811 |
z 5 oy 3. kg 3,037 11, 845
L= R IR 9,420 N:4L8P:56K:5 Ok
o 9 % ¥ & A 8800k
B|%| 471408 8y 739k 12,09 | 5 2% o @ a1k fic
¥ o9 ou 4054 | ATA A4 945cc
BA 0 1k
39 - E9y L238 | A 2A &4 : 227 3cc
‘l. N JF:T ‘?T . 79
2| 8 (kA I
A 4 8 b 1,495 3 ' 1.0kg
A & F o 757
A | s 9, 584
o A4 A 2] 344
2] (EE8) ¥ 3,784
Hie 4 & 4, 167
71 B & & 864
A 60, 508
)|
¢ 2,617 g:1.3 Az
G- ) 3.6/ 7 o 1883 7,733 a A
AH 88, 241
'3 0 2,617 37,8 A7
A e d M| BN | g | 1000 GG Al
A 5 254, 570
L S 262, 303
& 5 £ (%) 78.8
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BE EFLSPNE
F 9 (71& 1 A18/10a)
H] = | & ¥ | g7 @) | g9 &) H| I
zZ|® 4 & # 9 4, 659kg 249 | 1,160,001
L1 2 4 E o9 AEEE 94 5%
% A 1,160, 091
F B ¥ 7. 8¢ 10, 680 83, 306
B 7] 2 v 84 98 606 N:25.6P:16.7K 20 2k
o & ‘g‘ &1 j—] : 84.0kg
B1%| ¢7144 8y 1, 949k %15 | S 0 2ok
A | 7.08 | &34 HA : 344 0cc
BA 0.5k .
3¢ - 54y 5,136 QUA © 1.6k
~ : ALFEA A 369, 5cc
| 42 Ok 0 e
A A & ¥ 70,648 | A 2A H4 . 158 3cc
AA 0.2k
£ % F oo 208 | 7] & ¥ %01k
. A 7] : 50, 0kw
I ds Ty #ER | o <o
% F A A 2] 34,005 | Ml d : 608.0m
K Uiy 1 155, 270
g (15 8) 8,31 |®v ¢ B:lL1e
i =2 = 4, 889
7 g 8 F 3,119
] 318, 196
H|
g ;2,622 g 46 A7t
Z & = g 75,54 2 o 1ol 51, 980 o209 At
A 370,176
g 2,622 580 A7
2k 7b x g o 102. 447} o 1010 236, 880 ey A%
& 5 789, 915
¥ 7 7 A 841, 895
2 B &% 68.0
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ey EFLSEHE
* 8 (71% : 413]/10a)
i " =] & F | dAE) |29 H| k1l
2| F 4 B 7 4 4,881k 147 717, 507
212 84 8 7 g FEE : 62. 0%
3 A 717,507 ‘
F L+ H] 7.8df 3134 24, 447
F & 4 3760k
B1% | #7134 | L5l 2798 | 5 %0 20 g o
N I | 9,329 | &5 A 1 303 Oce
AA : 1.7k
34 Fdn 4,362 | 424 #A : 374 5cc
AzA FA ;145 0cc
o2
{- ']"a] (K}:]J)H] 0 7] a_ 16-_ g_}:: 0.31\')9
A A B A 2,084 | B:02.00
H] ¥ 50m
. A % F o 2033 1y ¥ &:01¢
3 : 22, Okg
(A | 574z 13.997 | o A 1.0k
% F A1 A2 1,227
T8 (EE) 5, 706
Blle 2 & 0
71 & & F 872
A 115, 826
] ,
92,699 : W 3.4 Az
S 0 B B C el B 71 el i
A 169, 266
. 32,699 $:51.9 Al 7
A 71 = ¥ oy 99. 1A 71 q 193 231, 504 o 1472 A
A .= 548, 241
2 7 7 A 601, 581
& = £ (%) 76. 4
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AglF EFLSEYE

3 | (1% : A13/108)
o] 2 ¥ T+ ZF (g7 Y& H] X
2| % 4 2 2 qa 8, 294 kg 131 | 1,086,514
#1742 749 HEDE 1 93.4%
¥ A 1,086,514 '
F B H 1.3 14,023 | 18,230
T 7] 2 W] § 1] 95,735 N:30.1P:16.1K:21.8k
a & 4 7570k
BIF| #raven | Lasy BIR) gaA A 460 %
F 0% M 12, 482 A 00,3k
QA : 3.0k .
B3g - Fdy 4,908 | 274 & : 568 0cc
AxA SA ;168 lcc
7
T A MR Y
A A 8 oy 19984 | & 7] . 12 Okw
& £ 90.0¢
A % 3o 1,908 | ] d 115 0n
: g 210970
FI|A| BTy Rl R R
' CERER 417 2 120
% A 5.0k
T (BHE)Y 4,523 | £ E :1,952.0M
e a =2 1,907
N 8 8 2 2,784
A . 142,708
H]
e o 2,023 g 65 A2
T & x 8 i 32. 7474 Sl IR N (N I A
) 4 | 213, 484
2,923 63,8 Azt
A 7 = @ § 126, 1412 I LT | . go s A7
A = 873. 030
2 7 A A 943, 805
& 05 &% 80.3
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PG EFESEHE
F 9 (712 : ¥13)/10a)
8} £ g % g7 @& | F9 & H] i}
2|3 4 8 7 4 4, 799k 148 710, 252
212 a4 2 7 9 AEBE 184 9%
d A 710, 252 '
& 3 0. 9df 21,617 19, 456
27 A H gy 34 507 (N:38.7P:24 2K 26 4k
A o T £ A 3560k
T | 712w 8y 1, 856kg 53456 | 2 ' 3 110k
= ok 7,800 | A %A A : 35%.8cc
QA : 0.3k
Bd  Fwy 219 | 474 ¢4 212 2c
Al - A 0.1k
78 CRF) o 00 424 #4: 147.9¢c
A A 8 ow 36,140 | & 7] 0 17.0kw
# £ 800
A% F oy 1,93 | al J ;3960
g Z: 1759
G4 | dsFan 0,569 |y w2088
% FAAL AT 980 3 : 47, Oky
X E:1,000.04
2 (E8) Y 11, 383
Hle 2 g 0
7 8 & 2 3,817
A 182, 243
o] :
g o 2,417 g L7 Azt
].
24 =gy 35. 7413 &+ 9005 12,98 | o gy g A2
H 255, 201
g 2,417 '3 67.6 A7t
A 7 o= g oy 133443 | G 0o oo 206,64 | o e A7
A = 455, 051
2 2 7 A 528, 009
A = £ (%) 64.0
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f & 664
A % 2oy 1,705 | d @ 1,020.0m
g 29379
BN A| 35Ty B |y w =z 1g8
5 A AE 47| 15, 195 3 : 43, 0kg
% A 17 0kg
T8 (BR) Y 6, 637
Hleg 2z = 5,542
7 8 & 7 4,172
. #| 213, 428
H]
, 2,720 w234 Azt
lﬁ H . \,1- ]
4§ =8y 72. 177 o 19 157, 249 o487 Az
A 370,677
@ 2,720 | 1423 A7
A 7 % g p 268. 6417 oL | 629, 804 o 1%.3 A7
& = 794, 018
L I S 951, 267
A2 05 &% 68. 1

- 222 -




Q% EF2ZEME
& (71& : €138]/10a)
H] g -} F 7 |84 {79 H] k1)
2| F 4 & 71 9 423kg 186, 707 7,067, 061
&2 4 B 4 4 13,383 | HFEHE:97.2%
¥ A 7,080, 444 |
% BE i 5. 9de 26, 231 154, 768
"‘?‘ﬂ%ﬂ‘ﬂﬁﬂl 5, 103 N:1L9P:3.4K:2.7k
AR SIS ¥ &4 3430k
T &ABH | 6066k 189,295 | S an o ¢ 1831 5cc
F 9y 105, 942 213k
AA 8.9k
3 ) 17,640 | A 3A &A : 3,933 dec
7| - ‘ 24 0.3k
# A & 4 551,875 | A A A 566. Tcc
71 B F 9 0.4k
A % T od 4,877 | A 7] ¢ 6kw
% # F 92
A o5 T A 2 42,506 | 5 2t 1.0k
o 5 Al A2 2,600 | ¥l g 655 0m
_ Eig Z 487,21
23 (BE) ) 3,083 | v @ &:5.78
B . 3 ! 1, 116. Okg
71 & -8 # 9,095
Al 1,281,278
H]
; 32,73 w1345 A7t
T A i ; i
I & g 422, 8X1 2 o : 1900 918, 222 o 1 288, Az
A 92,199, 500
2,73 o 248.9 Az
A 7w d o | 46N G | LOSLER o A7
& = 4,830, 944
2 A4 A A 5,799, 166
£ 5 & (%) 68.9
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3 EFLSEANE
T W (712 : 413 /10a)
B] 3 | ¢ ¥ (g4 139 $) H] 2
2| F A4 5 9 255, Okg %8, 145 809, 358
L &4 E 79 47, 2kg 7, 656 22,240 | AFEE 100 0%
% A 831, 598
R | 1. 447 10, 029 28, 186
Z1.4 10, 103
27128 5y 35,609 |[N:20.9P:16.6K: 24 2k
Alz| #7230 88 | 1664k 4,232 | 43A #3401 1,013 3cc
2 2.8k
R B 22,36 | 47A &4 : 6595
B9 - Fd 558100 | wA 05k
AxEA FA4 738 e
a1 TE KA 017 & % 9% 3.4k
- A 7} ¢ 95, Okw
B f
A A 8 39, 270 by % 0
& F T o 3476 | & g 3.0
EH d : 86.0m
o A3 A 2] 11,873 | M 7 0.28k
pp o o132
s (BR) Y 20,101 3 © 66, Okg
z A A 16,18 | # A : 63.0k
ol 2% %0k
q x4 & 3195 | % & A 3 1470k
71 B 8 & 3,152
A 973,137
el
' g 17 13,3 A2
& o8 o 1A 7 ‘ ,
T8 PSR G WIT | g ong A7
A 367, 654
w3174 g 162.3 A7
U B O Ed :
{ = 326. 817 o 2109 859, 961 of : 1635 A7
2 = 463, 944
2 7 A 2 558, 461
4 5 £ (%) 55.7
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) (71& : A100%)
H] g g ¢+ FigAE (F9E H] I
2| & &4 & 7 9 6, 382k 1,716 | 10,951,512 | @AME 4 138
2l 4 8 7 9 129,802 | 4F8& 95.7%
% A 11,081, 314 |
z F ¥ 773. Okg 1, 164 900, 222
WA A Z W | 13,419k 55 743, 527
B1% (3 7)) AEA §A 0 227.8¢cc
BA 0.1k
FO94 ¥ 12, 024 AA .8k
A4 &4 272 3cc
B3d =8y 361,733 2R 0.1k
| s 7 & % %183k
2| Fe (k) 5,52 | o 20140400
A A 2 oy 631,208 | & 1 208 07
A . 7 490.0kw
A % 7oy 1,881 | u] d ! 683.3m
X L4 28
A dEFag BLUS | 4 o = 1gH
3 Al 2] 349,766 | £ F & 2 WBhn
¥ 8} 1 8. Okg
8 (B8 28,484 | 7] B 2.0k
. | 7} 1 0. Oky
H' QEJ Z]' E. 0 % .K]- : 18k9
D B 4 2 5, 545 E A A A 2,040,000
A 3,171,248
H]
g 2,717 1080 ANz}
T & &g oH | ULeND o - 100 568,871 | o1 . 144 5 A7
A 3,740, 118
g 2717 ' :325.3 Al
A wow M| BBENT | o e | LB | G S
& = 7,341,195
CRE R 7,910, 066
A &% 66.2
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A EELSENE
= 9 (7% : 413/10a)
H] = H I S U 4 S DI = ) H] ki)

| F 4 2 7 9 | 2520k 794 | 2,002, 468
LR 4 E 7 A 163 kg 3,318 | AE8E 1 92.3%
4 A 2, 005, 786
571 2 4] 4| 39,825
¥ & A 3140, 0k
Bl g 1y 80, 804 e
B9 5y 17,469 | & A : 2,979 5cc
BA 0.1k .
¢ (KF} 0| 474 &4l : 3516 2%c
A x4 FA4 : 97 0cc
s
A A g » 182, 837 3 2 ¢ 12, Okw
2 % F 3,164 | T 51 60.8¢
%01 (E3A) @ 24 1ky
5 T4z 4,971 1wl d 2348
3 : 43 Okg
B A | gEAaA2Y 11,514 g A+ 330k
+d (BE) 19125 | £ & 4 A 15404
d] g8 0m
2K ¥ 25,897 | 7 g} @ 1,103. Okg
e 2z g 0
78 & 2 12, 564
A 487,155
) :
o3, 153 353 A7t
&k F | IR e | BB e Az
#H 760, 996
W3, 153 w1816 Az
A b = @ oy 224,62 7 o : 1864 588, 286 Q93,0 A7t
A = 1,244, 790
B 7} 7}. A 1,518,631
A = & (%) 62.0
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W EELSENE
2 ¢ (712 413/10a)
H] = | £ g |g@ |[FF &) Hj kil
1 F &4 2 7 A | 2,550k 1,053 | 2,658,825
L2 4 & 7 9 2,603 | AEHL 1 05.1%
4 A 2,661,518 |
2728 8y 39, 948
‘?F?]Z‘BIH]E-B] 9. 953k 47, 263 N-33.9P223K285k3
7 : ¥ & A4 3 1060k
Tls % BLEM | 433 &4 : 27935
34 - FYy 12, 044 BA 0.1k
. 474 F4 4083 3cc
8 (KF) 8t 0| A z4 #4115 2c
2lA A4 2 299,388 | 7} 46 Dew
% £ 463
A & 7 ou 9 505 | &0l (E#A]) : 270. 9k
B g & 368
Y 5 74 2| 3,769 2 6.0k
5 % A o 8. 0ky
AL sAgy 035 | 5 34 2 16100
&3 (5R) ¥ 14,938 | ¥ g 5.0m
71 E} & 675. Oky
I | 21, 470
Mleg # = 18, 056
71 & & & 9,872
: A 527, 390
B}
g 3,538 %1335 A7t
H A 7Y ,
Z 4 x g v 128 1417 % 2150 322, 764 o o6 A7
pil 850, 154 |
_ 3,538 w1394 A7t
H ) }
A 7 = ¥ 8 236, 5413} o+ 5159 702, 836 4. 91 A7
& 5 1,811, 364
¥ A 7 A 2,134,128
ool 5 £ (%) 68.0
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ol EZESEAE
& 4 {(71& : 413]/10a)
H] z | ¥ (A& [ F9 &) o] k1)
| % 4 B 7L 9 | 1,89 0k 870 | 1,651,260
22 4 2 7 49 2,750 | ArEE  93.9%
¥ ) 1,654,010 |
2712 u 8y 29, 226 ‘
fo1aAwan | 230k 40,842 [N:28.4P120.3K :21. kg
= : 84 81170k
BlElE o 078 | a8 ;2 18L 2
3qg - 28y 13,608 | 4 TA A 2583 3cc
A E2A F4 901 e,
8 (KFH) 8 01 7] ¢ 31 Dkw
[e] L=
;1"_1- = i T K 73.73
oA e T g0l (234 ¢ 63.7i
& ¥ 7 1,872 18 @ 2238
: : 3 : 34, 0kg
o & T A 2 22,333 | & A2 0k
' A4 A 13804
E | A BTy 2 L
S (EHE) Y 11,286 | 7 gl © 668. Oky
2 4 ¥ 24, 092
Hleg =z = 3,167
7 B oo @ 4,047 -
A 301, 650
Gl -
¢ 3,122 27,6 Az
£ 5 | L0412 )
28 =9y 91. 047 a i 1807 N6.437 | g gy N
A 508, 087
g 03,122 ¢ 138.6 A7t
H
GE b= B BN O ey | B8 A7
& = 1, 145, 923
L 1,352, 360
2 B 2% 69.2
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Ix EFL5EHE
:F ¢ (7% 913]/10a)
H| £ ] T ¥ |8 E) | F9 &) H] k1
z|F 4 % 7 9| 1,820k 1,602 | 2,902,824
08 4 2 7 o9 983 | A¥EE95.7%
¥ ) 2,903, 807
2.7 2 8 24 36, 130
27 2 8 89 9, 213k 41,458 [N 18.1P 245K 120 kg
F £ 4 3123 0k
BlF|lx o4 4w 42, 590 A T
BE - 5Hy 8274 | %A FA: 948 Tcc
474 BA 3,154 8cc
T8 (KF)n| Ol AzA 4 : 846 7cc _
L] .
} A 1 0.3k
ZiA A & W 130,882 | 34 okw
A % F n 2,133 | f F36.3¢2
Fol (X3A) 1 51 0ky
R e e A 320 | v @ #1488
o 3 » 3. 0ky
B gsaaazu L g o A 380
T8 (1) 22,756 | Hl d ! 1i6.0m
2 A 39, 673
B9 =z =B 0
71 8 & & 4,811
: A 379, 156
] : _
' ' 12,884 ¢ 20,1 A7
% % gy 79,24 7 o 203 185,928 | o . ey A7
A 565, 084
g 2,884 g1 166. 1 A7
A b e | 62242 o : 2,036 TRTTE 1 o 1961 A7
& E 2,338, 723
o7 A 3 2, 524, 651
A = £ (%) 80.5
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@S EELSEYE

) (71&: 4/5)
8] g =] F F a4 {FdE) B] k!
z|F 4 8 7 4 0.95 | 1,501,627 | 1,351,464
218 8 2 7 9 44,753 | 434 0,98
4 A | 1,39, 217
2 2 1.0% 82, 505 82,505 [ & A} 8 : 7050k
% A 89 151,600 (@ 3 fr 0 550k
iz &4 8 4 9,669 |° F 710k
5 2 11,1260k
BE YA 27,928 ;
al 2 1 32,0k
A
FEEI 5315 1y % 1 852 Okg
A4 A 8y : 15,696 |0} % 439, 0kg
A ¥ 7oy 2,426 (A 7] & 58.0kw
05 T A2 11,020 % 2 :01.0¢
A | a4z 8 472 | 8 10.0m
s 3 174, 0kg
o (EE)H 11, 339
T 3 A 1720
2 2 g 20, 931
Ul 2 & 0
7 8 8 2 3,003
A 441, 054
' | @285 30,7 A
2 H 947 ;
T4 x d oy 0.94] & 1950 27 | o oa i
A 443, 441
12,854 1548 A7
H !
A 7 = g 217,04 7 o - 1950 563089 | & | gy g A7
A = 952, 776
2 o7 7 A4 955, 163
A 5 £ (%) 68. 2
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=] O O
1$u 49 EEASENE
& g (718 : 4/5)
H] £ W gt ) | F9 ) H| i
| F 4 2 7 9 5877 | 2,935,561 | B03A 391 4k
sl a8 7 9 93,355 | 1834 103
% A 2,958, 916 '
2 2 1,723,050 | 1,723,050 [l & Ab B : 21640k
¥ % A2 age, 605 [ F fr 0 285k
A%z 4 2 9 64,911 |2 8.0
A8 9 A 28, 767 * &+ 846.00
h | % 1 3.0k
P
TEREH 5,613 |y 2 75Ok
A 4 = ow 9,058 o} % @ 202.0kg
A % F 8 1,150 | T ! 383.0¢
EEE e 7,919 [ 7 ¢ 75. 0kw
B A | AL 9,089 |™ 7 9.04
H]| d : 6.0m
S (BE) 10, 065
T ] Bis F . 116 Okg
H
T T B 0 2 A 1.0k
e = = 139
N 8 4 2 1,414
A 0,945, 877
H|
1 3,183 335 A7t
H
T g = g | a0 Az
H 2,256, 817
: 3,183 W :193.0 Azt
A b w @ oW O Il oodl IR ILTLY By e
P 3 702, 099
R N 713, 239
2 5 &M% 93.7

-.231 -




Gy EF2SPAS
" | (N1&: 4/%)
H] L= = + g g4 E | F9E H] 3
212 4 B 7 o | 57127k 428 | 2,445,035
I - A 844,444 | Wi < 0.83]
4 A 3,289, 479
£ 3 oy 105 197, 998 197,998 [ & A B . 3,517.0k
% % A 8 1) 730, 671 “’i T f 3
7 5.0k
A2 2 A H N
tE vl R AR
AR 60,531 |y 3 1 1,9%09.0k
&% 3 d 19,871 |2 2 1640k
A A 78 4 10, 526 A 2 1 3 606. 0kg
A A3, ,
A% 9o s 1€ _l 3,379, Okg
_ o Z 120, 0ky
- RN 36,618 2 E 1 098.00
G 1A | Qe data 14,865 & 7] & 244, Okw
T2 () 18,190 F 29,06
u .
z 8 g 2,877 | e 140m
o | g ] o z 3 2370k
A B 1w yiom
71 € 8 2 7.514 |g A 10k
| A 1,547, 241
H) ;
- it 3,357 ¢ 18.8 A7
1 * a:] 0A 7
G R I MO | Y B2 | AR
A 1,622, 483
W 8,357 9 917.5 A7
A g = g oo BAI 7 .
U ) BLEAZ | 5 B19:203 | o1 4 g A
& 5 1,667, 016
£ o A A4 1,742, 938
& 5 £ 50.6
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HAE EFLSEHE
F 9 (71&:4/%)
H] £ B F F g4 @®)[F9 & H] 3
| % # & 7 9 19.25% 1 35022 672, 422
F1F 4 E Y 16,111 | {4z :2.19
4 A 688, 533
£ 2 oy 1.0% 22, 580 22,580 [ ¥ A B 12410k
% A 8 8 251, 379 g F L8k
A2z 4 = 250 [% T 4
A2 YA 20, 932 K =10k
h e 5 ;60304
A
T3 6,470 1y 7 114 0kw
1A A & 4,278 % 219,00
& ¥ T ¥ 1,383 vl d o [0m
0% 74 2 2,707 [ 3 5.0k
3| A | Qa4 9,502 (¥ A 20
$2 (7)) 7,349
z B g 96, 949
e 2 =2 185
7 8 & 2 2,002
H 355, 796
H]
_ 2,977 : g3 A2
}
24 &9y L3N] G0 3810 | 400 A7
A 359, 666
2,977 g 87.9 Az
A 7 = g i 125,842 a0 U064 | &3 Lo g A
A 5 328, 867
L I T 332, 737
A B £ 47.7
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M4E EF2SEAE
F 9 1E 9/5)
H) 5 | £ ¥ |27 @) | F4 1) ) k1
2|2 24 2 9] 206k 1,275 | 281,265 | AXEAY 187.3k
sl 48 9 13,967 | ¥1484 2,38
¥ A 29,939
F & 0w 035 | 798| 7RI ¥ A Z 5040k
5 5 A & 133,160 @ ¥ F 0.8k
3% &A].EH]' o T 5 0 124.0¢
I 507 [ 7+ 47, 0kw
f F 400
FERA B84y 9 0 8.0m
214 A 8 ¥ 2,683 |z 3 170k
£ % T ou 1,054 |9 A 2.0
WE T ALY 716
G A | gpaaazy 6,795
a3 (EE) Y 2,698
F 2 = 0
LTI 0
A8 8 3 1,189
J Al 235, 893
2gxan | orwg] 5NN e
A 240, 284
A e g | oasiz| g0 s | 500 e
& 5 54,948
S 4 ] S 59,339
205 &% 18.6
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AR EEAEEHE
2 9 (712 : A/1005)
Hj E | & F (d7@E) [ F9 &) B} il
=& 4 B 7 9| 2700029 54 | 1,458,010
S5 4 F 79 67, 449
4 A 1,595, 459
x & vy 100. 0= 2,551 255,111 [ & A B 43200k
¥ F A2 ) 836,014 T £ 1162000
1% 2 A4 8 ¥ 0 v 7]+ 234 Okw
4 2 (L0¢
AgYgAHe 91,807
§ 1l @ g 2.0
t g 16,978 |, g 16.0m
1A A4 8 4 5310 |z 3 Lok
& F T ¥ 1,395 1% A 66, 0kg
05 74 4y 4,588
G| A | Fegz 10,491
=8 (E8]) 9 16, 546
F % E 0
Al 24 =2 2, 689
71 8 & 3 5,712
A 1,174,332
B]
#3538 7135 A7}
H
S 18.04 o 12,206 57,690 o: 4.5 A7}
A 1,232,022
3,538 2832 Azt
A A = # oo 121. 0412} & : 2 %06 377, 748 o 3.8 A7
S = 993, 437
2 % 7 3 351, 127
2 5 &% 19.2
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A EFLSEAX
z ¢ 71€ : 4/100)
H] £ d Sl A B VI = I B} 2
z| % 4 8 7 9 851. 5kg 915 | 779,122 | AEAY 812, Thy
S % 4 B 79 21,460 | Bl &4 4.48
¥ A 800, 582
2 oz 140, 9% 310 | 137,077 M @ A 8 :189.0k
%A g ¥ 432,257 [T 51500
Alz|z a4 8w 0351 7] ¢ 118.0kw
% % 1 98,04
A8 94 21,266 | ;}r ot
FERE 16,67 1y 9 0 19.0n
HlA A4 8 4 9,024 |7 2 1 3.0k
A x oW 811 | A 1 1010k
ol & 7 A ZH) 3,970
AR RIS R 6,954
e (B8) ¥ 8, 236
2 1 g 0
il a4 g 1,296
71 ¢ 8 & 1,914
' A 636, 196
8w g 6,041 71 ggg;g 17,590 332 :E{
A 653, 786
A e aon | ez | 30 e | 50 e
& = 146, 796
% 7 A 184, 386
E 5 & 18.3
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e 239

B e 240

B e 241
P mp e 242
B o7 oz e 249
7 &7 A 244
» B 245
2 -SSR 246
S R B e 247
2 df F oo 248
7 %lﬂﬂ Foowe 249
P A E 250

2}
AlF A
T b
= o}

7} 2]

A g

x A g7

A A g7

.........

.........
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G @ R e 263
0 FANI 264
of F SERTIPTE 265
LElRl AL s 266
B 0} e 267
o N 268
FEPAL e 269
.t O 270
W 4 B e 271
H & B e 279
A @ A e 273
& . RO 274






A8 (71% : €13]/10a)
B =3 L 2 # ig@ | F9 & Lt x
z|F & 2 7 9 8, 3507) ° 150 952, 500
2| B 4 &8 7 9 29,001 | AFZ8Hg : 93.8%
o A 881, 591 |
2 @ 3.0kg 7550 | 22,650
2528 g4 29,171 |N:32.3P:20.3K 1 19. 4k
A% | g2 8n | o6k ooz | 58 A0
F 09 ¥ 6,416 A 1Ok
A FA . 143 3cc
#4949y 3256 [ A 24 #4187 7cc
| 49 kA i I
A A 8y 105,272 | ¥ 7o 13
7} A0 1, Okg
A = F o 2,289 | w g 1,094 0m
1914 | gs7423 8,515 ;% 9 giaggﬁ
oA A - 1,451
g (BE) Y 8, 230
Blle & =& 7,178
8 8 F 7,201
A 250, 531
H]
g 2,760 g 9.6 A7
Z & x gy 50. 44 7} a1 80 101,568 | 4o s N
A 352, 099
g 12,760 3 :50.6 A7z
A 7 = 8 oy 101. 8413t of 1840 233, 864 o502 A7k
s =3 629, 462
L S 731,060
& = & (%) 64.1
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$ EFLSEAE
4 (712 : 418/10a)
H] =3 g F F a7 %) 98 ] 3
|3 & 2 7 9 1 1kg 1,381 291, 391
| % 4 7 2 9 3,020 | HE58&:85.3%
4 A 294, 411 '
2 B oy 8.9k 1,273 11,333
273 v g4 10,383 | N4 1P:6.8K:6.7k
o F &4 370k
BIF| 4714080 705kg 15,100 | 5.5 "0 115 quc
N 5,100 { 224 &4 56.7cc
A 24 A 100 0cc
#g - FEy 1,272 QA : 2 4k
3 874
} Py hin hin
4 (KE) Y 010 u B osy
A A g W 2,170
A % F 9 1,017
[ A 57y 10,734
o 5 A Az 1, 804
T2 (EE) Y 784
i 2 g 4, 500
7t 8 8 & 1,592
A 65, 879
H]
2,442 g 1.2 A7}
T & x gy 28492 | o | g %48 | 51 i
A 80, 362
2,442 w350 A7
A 7w g oy BLBNT | ) g M0.838 | 3 g’ s
& = 204, 049
L 298, 532
2 B (%) 69.3
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¢ EZ2SEME
A oE (71€ : Q1% /10a)
B] = H ¢ 7 (g7 | FY9 ) H] 2
2| 4 8 7 4 107ky - 1,797 182, 279
1B A4 28 7 9 2,238 | 488 :83.8%
Y A 194,517 |
F 8 5. 5kg 1,784 9,813
253 ¥ & vl 9, 041 N:62P 68K 6 1k
2| = 5 & 4 320k
° | #71dn s 317k 803 | wam 24 15.0cc
) 3,391 QAA 1 0, 1k
AgA FA4 ¢ 239
#9 - F49y Letl | Al z4) &4 :128.3cc
2| %2 (k) 0|, A0k
T .74
A A E 4 1420 | 91 ¢ £:0.3
| © 2.0k
A& ¥ F oy 744
A grFgy 12, 376
Q5414 42 1,483
T (EE) Y 3, 486
e o =B 0
78 8 F 1,242
A 52, 249
H]
) g 02,196 ¢ 0.0 Azt
28w gy B9 | o o e 838 ) o5 g Az
A 61, 647
| ¢ 019 99,2 A7
A A e @ R 12471 | g locn A7
~ = 132, 870
R 142, 268
2 5 &% 68.3
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ZFv EFLERME
A B (71& : 413/10a)
B] Z | £ F (g4 @) | F9 &) 1] 3
2F &4 & 71 4 1,812k 487 882, 444
218 24 2 7 9 10,280 | AESE : 84.3%
L A 892, 724
£ 8 100. 6kg 549 55, 280
27 A Y gH 18, 044 N:12.7P:1L1K 1 17.4kg
A o T A 8430k
AR ERET %45ky 2080\ gam 441 66.9c
0% 9, 640 A : 1.5k
A E2A A ;44 5cc -
#g . Yy 2,454 Q1A @ 2 1k
4 :
2| #2 (KF) 0|7 [ 1Bk
™ "o
A A 8 oy 28,433 | Bl d : 544, 0m
2 z: 7.8
& F F 4 824 v ¢ L8
cg ;ﬂ D2 Okg
A qq.g«-?»},rz}a] 11,176 g A 1ok
%G 5 Al A A 4, 644
T8 (ERE) Y 3,137
B e 3 = 0
71 8 8 # 2,541
Al 156, 763
H]
g 2,486 g 5.7 A7
H
2 £ 5 gy 22. 1A 2t o 1 1857 44, 625 o 16.4 Az
A 201, 388
g 2,486 g 45.4 Az
& LTA 7Y ‘
A 7} g g 94, TX 7 Qi 185 204, 414 o493 A7
A E 691, 336
2 7 7 A 735, 961
A = £ (%) 77.4
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274 EFLSEAE
3 B (7€ @ A131/10a)
H| 5 L F HF g4 E |[F9 &) H] X
2|2 & F 5 9 1,995k - 502 | 1,001,490
2|2 &4 B 5 9 1,848 | AE8E @ 91.2%
Y A 1,003, 338 |
2 7 Y 167. Okg 625 104, 399
B2 &4 93,838 |N:122.0P:15.4K : 16.0k
2 . £ &4 8110k
F|lg7149 89 1, T45kg 30,283 | Sa% o4 - 38 s0c
F % M 8, 641 oA 10k
A3A A ;163 3cc
FE - T 3,134 A 103k
7| 2 A2A FA : 33 3c
S8 (KF) v 0 94+ 10k
A A4 E 9 70,619 | 71 B % & : 0.5k
A 7] i dkw
& % T ¥ 8719 | & 2 150
4 ] d : 9%.0m
Al g s A 12,061 | g ol
G A A A 2] L26 | ® & E:i0TH
o 1 22, Okg
+2) (5B 2721
Wie 2 = 1,983
/8 8 2 2,750
A 962, 500
H|
g 2,674 B o43 A7k
iy
T8 =Y 042 | G s 66,180 | o . 4 7 A7
H 328, 680
2,674 1640 A7t
A 7 = 8 oH H03NZ | oy g5 241513 | 4. g6 5 oo
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SRR LR BT GO0 gA A4 1 0 0ee
4 9 13, 690 A 0.2
A ¢ 0.2k
3d - 9y 17052 | &34 $A : 222.5cc
vl A 2A FA ¢ 4LL 2c
s ‘I"E](j(ﬂ)ﬂg 0_ ?J;‘uﬂ:o_%g
A A B 9 25,512 [ 71 B F % 0.2k
A 7] © 52w
£ % 2w 1L083 | 780
H] g 1,043.0m
A | g5 T4y 13,2% | g 21 24, T
G FA 4 A 7059 | Bl @ #: 13}
3 : 16.0kg
2 (B9 | 3635 | ¢ A 1 3.0k
Hle 2 &8 14, 953
7l 8 8 2 7,287
A 178, 063
1]
g 12,793 w249 ANz
3§ =Aw | WWT| e | W] i
A 380, 575
Yo 2,793 w1415 Az
A b= d oW oA | o | BBETL oo A2
& 5 854, 998
L I S 1,057,510
£ = & (%) 69.2
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A4 EELZEHE
A n (1% : d181/10a)
H] & 4 F 7 |gAE |79 ) LH k1l
z|F 4 B 79 380 kg 16,873 | 6,411,740
2% 4 g 7 9 58,237 | AEHE 1 04.6%
¥ A 6, 469, 977 |
£ g u 6.2d0 30, 545 189, 384
o £ 4 3620k
B1F| e71aw 8 6, 311kg 148, 527 SaA SA 116 T
¥ O H 85, 161 BA 0.4k
A : 13.8k .
9 - gy 13,904 | A 3Al &4 @ 3,127 9cc
e
].
2| 48 Ok 9 0 24 - 0.3k
A A ' oy 401,313 | A &A {4 : 352 lec
QA 20 Thy
& ¥ Ty 3L L 7] B % ¢ 2.9
i :
G A | oAy 21,300 | 2 Qé%‘w
N o
o A A A 7] 4,811 | Hl g 478, 0m
B Z ;314,67
T8 (BE) Y 12,658 | v 9 &:618
i | o . 3 L 1,256, Okg
78 8 # 16,522
# 958, 495
H| '
- g 2,696 3114 A7}
] A 7}
i gk d ‘l 419,541 71 o+ 1864 874, 632 o 308 1 A7
| 1,833,127
g 2,69 g 957.5 A7t
].
A 7 = 8 ¥ 510. 44 2} o © 1864 1, 165,625 & 200 A7
S = 4, 636, 850
S B B 5,511, 482
4 5 & (%) 71.6
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3 EF2E¥AE
A % (71 : A13]/10a)
8] & | T OF G @ | F9E) g] z
| F & & g 2670k | #8201 910, 591
. F48.1 * 17,732
TR 4B oy 11,448 | AFEE & 100.0%
[o] -
e A 922, 039
F B H | #1143 11,749 37,211
1.4 12, 312
N:30.1P:15.8K:20. 1k
3|z TR D96 \gpa g4 1,29 8cc
#7138 8y 1, 258kg 23, 624 B4 16k
A 1 2%c
T % 16,804 |4 FA 4 : 946.7cc
B9 - £ 8108 A 0.0k
7 ' A 2A A4 668 8c
e CKF) o 0 % %i*%li : 1. Okg
) 7] 46 Okw
A A4 B y 19, 376 Ey £ 907
A B F oy 1,286 14 g 407
B] g 45.0m
G4 | BETFHDY 19,978 |2 o} & 99.5q
A] A A 7 068
G FA G A 27, 47 PP oYy
&g (1) 4,661 2 1 18, Okg
% A . 580k
H| £ 4 N EE : 16.3kg
4 A B 0% & 4 3 9.0k
1 & & 2 4,450
A 210, 635
H]
e . 2,655 g 10.8 A7}
—’ }r' B . \.} 1
& gy 41. 1417 o 1 1897 86, 153 o303 A7
A 296, 788
g 2,655 g 166. 4 A7t
]
27 kg oy 375, 1N o ¢ 187 837, 695 o 9087 A7k
A = 625, 251
B 7 A 711, 404
Y 5 £ (%) 67.8
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»elg A EEAERAHE
A& (71& : 418/10a)
d] 5 E F ¥ g4 @) |[F9 &) H] X
x| % 4 B 79 6, 347hg 1,598 | 10,142,506 | AAWE+ 1.53
22 4 2 7 9 99,091 | 4=8& 93.2%
|4 A 10, 241, 597 '
z #F 743, Okg 1,274 946, 803
W 2 Az oy 12, 736kg 59 754, 366
(8 7)) A2A F4 642
3|3 B3 0.5k
= o 17,734 A 1 0.9k
AFEA 44 64 2c .
Bd - =@ 359, 782 2 0.7k
) a ]
Al £ £ 1,415.00
e (kxFH) 13,189 | o w : 248, 07
A A g ¥ 360,520 | A 7] ¢ 912 0kw
H] d 717 2m
& % F oy 2,522 | » 1038
B oo =:2.74
A g Fen 6.7 | 5 = 5 ~:70.9m
9% A) 4 Azt 285,395 | ™ 7 1 6.0k
A A} 11, Thy
T8 (BE) Y 66,750 | £ F A b : 1,564 0
o z B8 19, 833
71 ¢ 8 54, 656
bl 9,951, 299
H]
g 2,950 3 118.8 A7
H C3A 7Y
Z & x4y 364. 3412} o 9 064 857, 172 o o455 A%
A 3,808, 471
3 ;2,950 ¥ 316. 4 Az
A ?} - ) 585, 44 2 o+ 9 064 1, 488, 596 & 30,0 A7
& = 6, 433, 126
= o 2R 7,290, 298
A B 2w 62.8
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5ol EFLSENE
4 5 (7% : A13/10a)
o] Z | * F (271 @Q) |29 @) g i

Z|F A B | 18700k 1,045 | 1,954,150

2182 4 2 7 9 1,439 | AEEE 92 1%

4 A 1, 955, 589 |
27 R g4 28, 638 N:23.7P:16.1K:21.6ky
$ 7] A v By 2, 453kg 53.935 |% & A 3 . 1180k

24 $A4 2 402 8cc

BI%|s 4 .13 Ly g4 164l 7cc

e B 0.4k
o 7,
CA R 98 A 2H & .1 640, 5cc
& (KF) 9 NE 7] ¢ 2.0kw -
o % 1 38.9¢
A A 7 87,910 go](wzﬁ . 31, 2k
i 4 &3t
..)l‘- H [
v L3 3 : 145. Okg
W F T A 31,143 [£ & A = ;12707
]| d Lo

_°§ A | o5 Az 1,928 "
2 (BE) Y 8,791
=S 113, 792

Bl # B 1, 667
71 8 & 2 17,348
A 411,994
1 ,
g o2,0M g 22.0 Azt
] x ! L BAL .
SRS 117.54 % o ¢ 1810 247,767 o 055 A7
A 659, 761
92,971 g 144.7 A2t
a4 7 x g oy 272, 0A1 7+ o ¢ 1.910 673, 046 o 1903 Az
& = 1,295,828
2 7 A4 A 1, 543, 595
A = £ (%) 66.2
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dE EFLSENE
A 2 71& : d13/10a)
H] 5 ] £ g (g7 (") | F9 &) H| i
2| F &4 & 7 9 271, Okg 5,430 | 1,471,530
213 3 87 9 1,250 | AE8E:89.8%
% A 1. 472, 780 |
o A 8 96,690 |N:20.8P:13.4K:19. 4k
SRR A 1,826k 37,683 |5 & A 3 50.0k
H2A $A 561
Bl%|%s o ¥ 12, 760 g3 ?;r;q% 3_53,5“
A A fA 218 8cc
‘. H 1
AR AL 895 23 0.3k
&) (kF) 8 0 A A 0. Lk
A 2A L4 513
A A 5 A 5,708 | ;g,q} ola, e
% F 15.4¢
&% T Bip b o g 1L
5 T4 4y 2L, 114 [l 4 B 148
3 274. Okg
G| A | dxAga 872 | g A 17. Okg
22 () ¥ 5,351 E A A 2 80A
2 A 37,356
ig & B 745
7B 8 2,516
7 183, 630
H]
g 2,836 g 15.7 Az
U S | 47.34 7 a 179 101,184 | o' A2
A 284, 814
g 2,836 ¢ 78.6 A7
A A = 8 oy 139, 0A) 74 o 11703 BL206 | oo g A7
& = 1,187, 966
R S 1, 289, 150
A B §(% 80.6
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FLHAL EFLAERNE
% 71E: /%)
H] =3 -  F g @ 2 E) H} i
2| % & 2 7 9 0.9% | 1,268,833 | 1,159,949
N - I 54,342 | B¥ 4 0.98
¥ A 1,214,291 |
F & 10% 73,750 73750 M@ A E 7150k
5 F A E oy 58,842 (& 7 60k
Alalz & 8o 108,652 1% % ¢ 169.0
4 F F 4 E50
A8 A 22,268 TAE S
3 3 959, 0ky
2 o
£ 5% 4583 1y 2 11200
1A A4 8 ¥ 17,513 |y % 1,658, 0k
L2 % 7 i) 819 jo} % 17210k
9ETad 14,766 T = 133304
EENKERERT 8105 4 71+ 46.0kw
Q = : .03
22 () ¥ 5,466 | i
Bl g 1L.0n
H
2 % g 19,97 |, o 00k
R I A 0w g0
1 8 & 2 2, %3 |4 7 1 99,0k
A 437, 694
H|
@ ¢ 2,380 g:8.2 A7t
. 4A] 7F ' ;
28 x gy 3492 | o ] TN D i
A 445, 648
' g : 2,380 1913 Az
A 7w g oy B | 5 Ve | ST | G g s
A& = 768, 643
I 7716, 597
A2 5 W 63.3
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g4y EFASEAE
q 2 1% /%)
Hj £ E T ¥ |24 | F9ED) ]| 3
2% & B A 9 | 55048k 401 | 2,211,434
218 4 8 4 4 048,520 | WIS 0,98
4 A 3,159, 954
F = 1LO= 180, 211 180,211 o) & A E :39%5.0k
_ L AV 867,806 [ ¥ 7675k
A2z & g 266,573 [° 7 1 3.0
A E R A E DL
1EAS %25 30 10270l
&% 3 gy 23,536 |2 Z @ 3130k
1A 4 8 4 11,751 ¥ 2 1 5,520.04
A g A 2590k
A x® J oy 2,182 .
of Z 333, 0kg
o 5 F 4 2| 3,772 | £ 7080
G| A Qe gz 7,140 1 7] : 984 Okw
23 (1) 17,632 1T 70
v 7 2 L0k -
iy A 8 6389 Ly o U003
71 g 8 F 5,748 1% A 58,0k
A 1,308, 569
H|
g 2,813 w215 Azt
31 v B TA 7}
TR = B G g I 70 A7
A 1,382, 757
- 12,813 g 245.2 Az
3 !
A 7 = F oy 366. 0A] 7+ o 1904 919750 | & o0 g At
A 5 1,777,197
R O 1,851, 385
A 5 (%) 56, 2
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MAE EF2EEME
3= (7% : 4/%)
B| = | F g |d4E | F9 @) H] 3
| F 4 2 7 9 18.05% 37,339 672,102
2182 4 2 7 9 23,218 | W45 F 213
E A 695, 320
F & ¥ 1.0% 31,758 3,758 ) & A B 10840k
& A g 230,074 1@ 0§ fr Sk
+ £ 0 1,083.00
A S YA 18, 807
A 7) ¢ 72.0kw
T &3 gy 7,335 s 2 000
ZIA A & 10,694 |y d 9.0
A 5 3oy 493 |2 o 107.0k
U5 T4 4,905 7 b Y 0.8%
F(A | g4 g ¥ A - 250
s ()Y 6,627
£ ¥ g 37,572
i #% =8 0
71 B & & 4,008 |
A 368, 822
B}
32,623 g:2.3 A7}
u B 8A3}
SIS B 2 C 3 Dot B 4 ey Al
A 375, 775
o 2,623 ¢ 1 89.0 A7
27k 9oy 138. 24| 2 & 0182 324, 073 o 49,2 i
& = 318, 545
2 7 A A 326, 498
4 = £ (%) 45.9

- 271 -




NEE EFLSEAE
4 U2 4/%)
H| 5 = $ ¥ g7 E) | F9 € o] kil
=12 4 8 7 9 250. 3k 1,391 | 348,167 | A0SAF 2119k
=18 &4 & 7 9 24,344 | niE3 4 2. 58
4 A 372, 511
3 & 2.5% 38,697 06,743 (3 A & : 6150k
¥ § A 2 198,951 €@ ¥ 7 0.8k
A3z 4 & ¥ 39 2 ¢ 3.0k
A8 9 A vy 7,215 K 8.0
N = % 116700
A
T5RE 418 1y 7) ¢ 44.0kw
1A A 8 ¥ 3.721 |g = 600
L2 F T oy 523 4] d :80m
U % T AL 1,948 12 3 410k
9|4 | Gaggz gog 1 0z
‘ A 40k
sol ()Y 2,868 |°
£ ¥, 5 )
Ml #- = 58
N g 8 @ 1,742
A 952, 225
]
g 2,777 g2 At
]_ £l
2 ¢ = gy 2292 | 5 0 g 5109 | 5.0 s
A 258, 334
g 2,777 o+ 50.5 A7t
A 7 = 8 oy 68. 8A1 7t o : 1.9% 175, 667 o183 A7
& 3 114,177
2 7 7 A 120, 286
A B &(w% 30.6
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A3Ad EF2SEAE
A ou (712 : 4/100%)
o] = g F g (24 E [ FdE) H] 3
Z|F 4 & 7 o | 258839 57 | 1,472,783
12 4 2 7 9 102, 430
L A 1,575,213
F 2 100. 0% 2,703 270,368 [ ¥ A B i 3,944.0%
¥ F A B 762,066 2 & 42. Oky
75%‘ 2 M B H 323}‘5 % 7.0k
4 1 343,04
ARG A 23, 334
A 7] + 250, 0kw
+ £ 3 @y 29,866 |o .
1A A E v 9,412 | @ : 35.07)
A % T ¥ 1,200 o) g 55.0m
0% T4 2y 2,458 [ 3 U0k
B | 95842 o177 1 M0
# 66,0k
29 () ¥ w1z |2
F B # 0
Hlla z = 0
N g 8 4,063
A 1,118, 393
H]
2,726 w60 A7t
H
T4 x ¥ 17.3A12 & Lo 7,814 40113 A2
A 1, 154, 207
2,72 3915 Al
A4 7 = ¥ o 141. 741 ¢ o : 1809 344, 758 o 1 50.2 A
& = 421, 006
2 7 A A 458, 820
A B &% 2.7

- 273 -




A EEESEAE
A% (715 : 4/1005)
Hj = | T #F g7 |29 H] X
zl & &4 2 7 9 951, 2k 1,008 958,809 | A7rEAF 866. 5k
#3289 2,77 | 484 4,99
¥ A 986, 585
2 0z W | 407e 4| 208266 ¥ A} B : 18670k
¥ % A &y 445,427 |# F 1 16.00
1%z A4 7 9 0 |7 £ 63.0¢
S Az 'Ag ) 17 822 A 7} 1175 0kw
h A N 21500 .
25 34y 30,583 |y 4 0.0
A 4 8 4 21,305 | d 82 0n
A ¥ oy 1,240 |2 A 93 0k
U5 742 2,164 % A . 304, 0k
q|A | gxAga 6. 465
s (sm) 4102
F * =8 0
Bl # = 217
78 8 2 3, 706
A 740,878 |
H] .
32,914 3165 Azt
k1) B A
T % w9y 19. 2417 o 2 204 54, 031 a0 A7
A 794, 909
2,914 ¢ 1027 A7
2 7w d oy 157. 712 Sy W47 | e g A7
& E 191,677
2 A 4 245, 708
sl 5 & (%) 19.4
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YERY EFLERHE
A ¢ (718 . 413/10a)
H] £ ¥ F O | FY Q) H] b
2|2 84 2 4 9 3891y 720 | 280,080
Al2 4 2 9 9 3,504 | AHE5H& : 95 2%
4 A 283, 584 |
2 ® 17. 3kg 684 11, 841
By 2 14, 653 N:12_.3P!11.3KI7.51W
A% snanan | Lk oy | 58 AT
F 0% 4 5469 | 4EA A . 38.9cc
A ZA 4 401 dec
9 -5y 1,582 AA 11k
[e] =2
2| 48 (kA N A
A A 8 2,558
Aoy 7w 1,195
FIA| g FADY 8,130
o FA A A2 1,274
g (B#) Y 4, 154
e = g 12, 469
71 8§ 8 3, 346
A 91,574
H]
: T3 A7
2gxdn | osonn| DB |80 o
A 108, 680
: 2 25. t
44 s a | oaoz| g bB e | 2O s
N s 174, 904
N 192, 010
&2 5 g% 6.6
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9554 FFLSEAE
A 4 (712 : €d1%8]/10a)
H] g ¥ 2 7 (@) | F9 & H] kil
z|F & & 7 9 5, 7157 136 777, 240
2B 4 2 7 9 98,294 | AHESE 1 93.5%
4 A 805, 534 |
£ HE b 2, kg 6, 490 17,525
2 7] 2 u) 2 ) 96,067 |N:25.8P:16.6K 19,2k
F 404 81320k
T RAANE | 2085k B39 g2y oA 6l
¥ % 10, 006 qA 1.8k
A#A F4 ¢ 201 8cc.
BGd - 54y 2407 | A 2A 84 : 163.2¢cc
72| = AA : 16k
A A4 B 9 80,118 | ¥ W 994, Om
2 :183.67
2 % T ¥ L123 |y 9 #:0.98
3 2 0kg
AL 574 8953 | ¢ A 10k
%A A2 , 2,123
8 (B8)Y 4,918
Bl o % &8 5, 804
1 8 8 2 4,726
7| 208, 969
g 2371 g 6.8 Azt
d }
AR B R B PP Azt
2 | ' 277,893
W ;9,371 48,9 Azt
H
A 7 = 8 98. 141 2+ 3+ 1.7% 200357 | G 4o s A7
& = 527, 641
2 74 # A 595, 565
A2 5 &% 65.5
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T EZ2SE4E
"I 4 (715 : A13]/10a)
H] g o + F (g4 E) [ Fd$) H] 2
z|F 4 E 7 4 173kg 1,432 247, 736
&% 4 g7 9 1,905 | AESE:83.2%
3 A 248, 961 |
F By 7. 6kg 1,358 10, 351
274 8] 24 11,995 N:42P:7.0K:6. 1k
= % A 81060k
MR REE LR 83k W) gan 440 307 7cc
A 7,355 | ATA FA 194 fcc
AzA4 #4100, 0cc
g - FEn 1,782 A A ¢ 1.6k
(=] 2 -
1_1' A hip 7. 8@
1 Tﬂ(ﬂ(ﬂ)‘ﬂ? 0 B] % J‘_:r..: 075}
A A4 E 4 1,443
A2 F F OH 1,050
A | s FAZy 5,867
G5 A A 4z 871
=8 (BHE)Y 2,024
Bile 2 = 4,125
71 8 & 2 899
A 62,187
B]
2,220 % 0.8 AN
S T B XL I 2189 | 0y A7
A 83, 346
92,220 w291 Azt
A 7 = g oy 65. 9A] 7¢ o 167 126, 094 o 36.8 A7
A = 185, 615
-3 7} 73 186, 774
A 5 £ (%) 66. 5
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2 EZ2EEANE
3 o0d (71& . 413/10a)
H] 5 2 F #F (24 E) |79 ®’) B] X
2% 4 &8 7 9 110kg 2,037 | 224,070
18 4 8 7 9 375 | AEHE  84.8%
¥ A 24, 445 |
F g 5. 4k 2,095 11,318
5748 g 10,676 | N:5.2P:6.4K:7.3%
= T £ 4 600k
SRR aG L RN 5| ggA 44 5.1
S S| 6,080 | 224 A : 183.3cc
AzA &4 ;193 3cc.
Bd - FYy 1,481 QA : 1.8k
[o] 2
J. A ™ T - 74
A A E v 807
£ F T W 1, 167
B|A| o5 A2 6, 521
%4 524 Az 876
T8 (BE)Y 1, 696
Bl oz g 2,805
A8 a2 1,257
A 63, 257
B]
2,125 g 1.5 A7
L& =gy 9.0417H o+ 156 14827 | o) g Na
7 78, 084
g 2195 g :25.5 Az
A7 e g o 60. 54 7+ o 1552 108,507 | & 1ge g A
& = 146, 361
R 161, 188
£ 5 & (%) 65. 2
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g EF2SEAE
3 g (712 : 918/10a)
H] 2 - F F g @ (29 &) B k)
2| & &4 2 7 9 694ky 764 530, 216
22 4 2 7 9 2,066 | ME2L:92.9%
4 A 532, 262 |
F B H 7. 9kg 2,265 17, 898
B A Y| 17,556 N:123P: 182K : 9 4k
= 4 4 8§ 1000k
BIE| #AAdEA ) Lk DIB 1 gaa 44 23690
F 09y 7,137 A 0.2
: QA 1.3k
4 58y 2,00 | 474 £ : 1916cc
~ A 2A A 205 6cc
Zl' Ta(j(ﬂ[)ﬁl 0 01:]*“: 1]_]6‘.9‘
A A B ¥ 54,823 | ¥ g 114
H) d : 711.0m
A % 2oy 1,175 | & 21 16407
A | %7y go3 |°1 ¥ T:LEH
o %A 4 23] 1, 400
¢ (BE) Y 4,282
oy a &8 3,628
71 8¢ 8§ F 3,136
A 151, 164
H]
W 2,493 9 L7 A7t
SIS I 2 Lo DAl 2 L P i
A 203,634
' 2,493 469 AT
A A x= g oy 015N | G 0 s W82 | 1oy g A7
A = 328, 648
Bz o7 3 381, 118
A E & (%) 61.7
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=% ZF2SEAE
A ¢ (713 : 413]/10a)
H] 5 - | F 7 [ @) |9 &) o] )
AR 90ke 3, 022 271, 980
|2 4 8 7 9 680 | AE8E 86 4%
4 A 272, 660
F B ¥ L kg 3, 004 12, 320
2734 84 11,325 | N:5.0P:6.7K:6.5k
7 0 ¥ 44 870k
% 74 v &) 649kg 15,550 | Say eal : 308 3
A | 5,043 { 474 fA : 218.2cc
A 24 F4 173 3cc.
| %9 - 54 1,223 A : 0.6k
T N & = 71?
| +8 GRA) 2 01w g 258
A A 8w 873
A 3o 1,210
BIA | o T4 7,481
| ez 722
T8 (EF) v 1,777
Blleo 2 8 2,433
A 8 8 F 775
#) §1,636
H]
¢ 2,310 gLl A7
18 B AT
SIS0 T B T3 el B UL D, aa
A 79, 556
g3 | ¥ 26.6 A7
=
a7t g 60,547 o 178 120,025 | 5 .39 g o
A = 193, 104
2o A A 211, 024
2 5 &M 70.8
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LFv EZLEEHE
g (71% : 4131/10a)
H] 5 g F ¥ |87 @) |29 @) H| i
2| F 4 B 9 2,373k 313 742, 749
1R 4 B 74 23,030 | HEIE:85.4%
4 A 765,779 |
F E ¥ £04. Okg 390 40,628
E7] A v B 14, 876 N:9.5P:8.3K:20. 6k
3 o = £ 4 3620k
AR R R 1, 107kg 28, 664 Sad 94 88 e
F % 9 5,731 AA : 2.5k
. AzA A : 167 3cc
%€ - T 2134 QA : 1.6k
Z_} A %]_ 7] . ‘H{W
e (k) 0| 10
A A E oy 30,927 | ¥l d 186, 0m
¥ Z: 15.87
& % T oH LO72 [ w] 9 ®&: 148
9 3 : 10, kg
Al g7 1,820 | o A Lok
% T A A A 2] 1,212
8 (BB} 4,232
Hleg = = 1,861
71 8 & 2 1,735
Al 144, 892
H|
g 2,595 g o46 A1zt
].
I 4 x 8y 28. 7417 o 1093 57,959 o 91 A7
A 202, 851
W@ 0 2,5%5 2 43.5 Azt
A 7 = g o 93. 4N 7+ o 193 205, 795 o499 A7
& = 562, 928
g2 7 A F 620, 887
& E £ (%) 73.5
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2z EEASEHE
A 04 (71& €18 /10a)
H] g = £ % 1gu @) | F9 &) H| 2
z| %2 & 8 7 9 1, 873kg 398 745, 454
S8 A4 F 79 AETE 94.2%
4 AH 745, 454
=z g o 164. 5kg 654 107, 728
| 2728 2y 19,988 [N:19.0P: 119K : 12.4kg
¥ & 4 3890k
’5. 871298y 1, 419k B10 | Saq oA 47h e
F I | 13,059 oA : 3.0k
AFA &4 113 3cc.
39 - 5449 3,080 BA 104y
o Az2A A4 1338
T 9 (kF) A 0 QA ¢ 15k
A A4 8 H 58,205 | A 7] ¢ 2bkw
. & 2. 1%
& 5 7 1,324 | u] d 1 890, 0m
_ g % 10,07
AR E ST OB | 5w agse
FFA A 775 ! + 10.0ky
g () 3,430
Bl A4 E 3,305
71 8 & 2 3,473
A 260, 872
H]
¢ 12,57 oot A7
}
T & x ¥ 26, 97| 7h o 90 56, 859 4248 N
A 317,731
g 2,571 Y 45.4 A7
A A x g o4 1017412 a4+ 9078 233,56 | o .o g N2
& = 497,723
L S 484, 582
& 5 & (%) 57.3
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"I (1% 913]/10a)
H] = | ¢ F (24 @) | F9 &) L] k)
2| F 4 & 79 1, 640ky 389 637, 960
22 4 2 7 9 502 | AEBHE : 89.6%
4 ! 638, 552 '
F R H 167. 8kg 456 76, 564
2544 g | 99,151 |N:18.2P 166K 16 1k
Al=a| e F £ A 3540k
T | #7129 8y 1, 245kg 26, 962 SaA Al 408 3cc
¥ 09 ¥ 9, 284 AA : 0.8k
A FA4 ¢ 200 5cc
#9 - FEy 2,928 B 0.1k
A A %A FA 116 7cc
A A 8 ¥ 38,002 | A 71 10kw
+’r 2130
A x oy 1,234 | v d 333 0m
. ' & Z: 14.57%
G A gz 10, 169 Wod B0 58
%3 5 A A A 2] 576 3 : 5. Oky
% A L0k
o (EE) Y 5,024
H | ¢ A g8 333
7 B & F ' 2,705
A 196, 022
H] -
g 2,401 g 6.4 A7
4w d | BN e SL045 | 4y A7
Al 247, 067
32,401 W 46.9 A7
A 7 = g o 0.992 | o o g | 900 | g A%
& =3 391, 485
F 7% A A 442,530
Pl 5 £ (%) 61.3
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)= 2 2=
BY EF£TENE

Ay (71 : ¥13]/10a)
H] £ -] ¢ HF (a4 E) [F9 &) H] 1
2| F 4 B % 9 4, 294kg 200 858, 800
a2 4 B 7 A 0| HEHE 1 03.2%
4 A 858, 800 |
2 ® ¥ 6. 5df 9, 493 61, 708
7] g6 2 97,520 N:34,7P:157K: 16.8k
o ¥ 44 3: 130k
A% | 87124 8y 2, 063 kg 43, 066 S oA - %98
¥ 9 8, 594 A A ;8 4k
' AFA &4 : 227.8cc.
g - 584 2,999 | A &A $A 16 %cc
b o ?}Zﬂ . 0.5’99
Z— 'I"‘?'] (ZK%J}H] 0 % %: 1909
A A B H 88,921 | *l d : 658.0m
2 Z 819,770
A 5 F ¥ 1493 | v 9 & 2.4g
& 3 v 4. 0kg
A | o5 A 14,481 | o A 1 8.0k
A A4 14,507 | & T ;35074
z E @ 44.07
2 (8) 7,980
e 24 2 747
71 g & # 1,676
#H 273, 692
B]
g 2,406 3101 ki
}
& % g u 40, 04 7 o 11892 80, 871 o 20,9 Az
A 354, 563
» oo 2,406 g 55.3 A7t
A = ¥ o 110. 38 7 & ¢ 180 237, 111 o 550 A7
4 = 504, 237
¥ 0% 1 A 585, 108
E = & (%) 58.7
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ey EELFFHE
A (71% : 413 /10a)
H] 5 9 & 7 | g @ | Fd ) H] 2
zi& 4 27 4 5, 028kg | 120 603, 360
2182 &4 2 7 9 AERE 92.9%
4 A 603, 360 |
Z 7 8.8l 3,387 29, 813
—?—ﬂ%ﬂiﬂl 95, 454 N:26.6P:15.4K:17. 3k
% & A 3 1070k
BB AR L T 43a 44 : 582 7cc
F %y 13, 474 AA : 1. dkg
AgA A 534 dec
g - 54y 4,244 | A 2A A : 235.8cc
A QA ¢ 0.2k
| e (k) 15 8 % o0k
A A E ¥ 5,494 | A 7] @ 6. 0kw
-Pr £ 03.04
A 7 oy 1,456 | n| d:l0m
o od 0.9
(A F47y 8,997 2 18,0k
G A8 A 2] 500 | ¥ At 9.0k
¥ A A A 0.07
2 {(EH) 4 3,238
Ml & = 6, 652
71 g & & 2,481
H 139,913
H] :
2,687 g 6.0 A7t
T4 = ¥ oy 32.34 7 o 9105 71, 509 o 26,3 A7
Ay 211, 422
g 2,687 w383 Azt
R BB o yge | OB G s A7
& = 391, 938
2 7 5 A 463, 447
A2 B &% 64.9
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B3 EF2SEAE
4 9 (712 : 4413)/10a)
H] E ¥ s F | g4 E) {Fd ) H] a
z| & &4 & 71 4 4, 970kg 260 | 1,292,200
212 4 8 5 9 RESE : 95.8%
4 A 1,292, 200
£ " N 1.3d0 11, 675 15, 178
Ty A u) & ¥ 98,971 |N:34.9P 114 1K :22.0ky
5 & & 31190k
B3| s14uEn | 2148k @27 | 3 5 e . 2ce
¥ o 13, 885 A L1k
A4 FA4 701 8cc.
3g - 54 5.47 | A=A &4 : 225cc
2| #e (AR L4L | 4 4?};3&
A A B v 184,576 | £ 2500
H] d ;784 0m
& 5 T o4 1,957 | & 21 628. 70
1) .
3|4 sy 2,090 | * : l&‘:%:g'g
o 54 A A 37,502 | 4 T 6.0/
x E 0 3,614,074
#2 (8)y 7,988
Blle 2 B8 2,458
7 8 & F 6,661
A 370, 481
H]
2,860 182 A7t
o H Al 7}
14w 54,547} o 1801 115, 850 s A
A 486, 331
g1 2,860 g 719 Az
B }
A 7 = @ 9 142. 34 7 o : 1851 338, 760 o 1 70.4 e
£ = 805, 869
L Y 921,719
2 =3 &%) 62.3
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e F EFLSEHE

A4 09 (715 : |@13]/10a)
H] 5 g & F (g1 @)|Fd Q) 1t =
| % 4 8 7 9 7, 926kg 127 | 1,006,602
L8 4 F 49 AE38:91.2%
3 A 1,006, 602 |
F ®H 110 15, 189 16, 708
B gy 94, 872 NIZ?.ZP:I&SK:I&S’W
7 . ¥ & 4 3 U0k
| #7139 8a) 1, 929ky 42, 046 S3A 84 Bl 7cc
¥ Y% ¥ 21,238 AA : 3. 3k
A FA A4 550.0cc
Bd .7y 4,148 <80, 2k
2| 48 (kA) ¥ o | HEA FA LB
A A B Y 30,088 | 71 BF & F: 0.1k
& 292300
& F 7 ¥ 1,533 | ¥ d:5.0m
34| o574 11, 148 3 g gggg
o FA| A 4 2] 728 3 : 21, Okg
% A1 0ky
42 (8) 5637 | 4 T LoA
Mlg & = Lo | X £ a0
17 g 8 2 9, 543
A 164, 669
H]
2,770 Y 6.6 E(
14 x @ll 1) B2 | gy o 33. 0_50 3204 A
A U419 |
g 2,770 g 40,7 Az
A4 7 e g ¥ 07682 | G 7 5 o 25,222 | o g7 g A
ES = 758,883 |
2 7 7 A 841, 933
A B 2% 75.3
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il EFLSENE
4 4 (712 . 413/10a)
H] 5 -}  F g @) | F9E) H] i}
= F 4 ¥ 71 9 5, 261 kg 160 841, 760
212 4 8 79 FESE  93.3%
% A 841, 760 |
= 8 0. 84/ 19, 177 15, 342
2718 | 39, 485 N:36.9P:17.3K : 24 34y
o 16" ‘g‘ ’5:]1 §] : 1250"‘5’
B|%| 712w 8Y | 158k 51 | San o ot Sec
¥ o 20, 783 B 0.2k
QA 2. 1hky
g - E4n 2,647 | &4 FA &4 : 356.7cc
BA 0.3k
oA
&g (KF) B LI amza o4 166 7cc
A A 4 21,676 QA ¢ 1. Thy
F 2 15.0¢
A % 3o 1,474 | w] J @ 490, 0m
b1y 5.9
1A | Tz L T !
3 A1 A 4 i 261 2 : 10, Okg
1% A 3.0k
8 (EE) 3,100 | 4 A 1.07
o % X E : 766. 07
Mld & = 0l % 4 2 27000
7 g8 4 2 4,793
H 149, 506
H]
. . 2,879 ~ gt A7
1
CIE A B R Tl I mpong) B Deppes e
A 236, 480
¥ 2,379 ¥ 63.2 Az
A 7 = ¥ o 121.843 o+ 1808 256301 | 3 . gg. 6 A7
& = 605, 280
LI T 692, 254
2 F g% 71.9
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AgH EFLSEAE
4 4 (715 : 918/10a)
H] = - S B B ) B = I ) H] 3
z2iF 44 g 7 9 1, 600 kg 369 638, 400
iR A B Y AEGE 93 0%
o A 638, 400 |
F 5 54 8df 630 34, 524
7] A 2 95,405 |N:27.8P:18.3K: 15.8k
. £ 04 31200k
B|%| 47124 84 1, 652k B | a5 e s0g acc
5 ol H] 8, 261 24 0.2k
' AA : 1.7k
| 2,32 | &7A A 205 dec
2| £2 (K5) 1173 TA 0l
T ' A xA SA : 207 4cc
A A B 9 9, 746 QA 2 0.2k
‘ A 7] ¢ 6. 0kw
A2 % 7 i L3719 | & 006
H] d 45 0m
T|H| A Taa BT\ w w m:3gg
oA 4 A 2 637 k) : 34, Ol
YA % A 1 8.0k
=g (EH) 4 4,136 | £ & & #6107
H e 1 & 883
71 8 & & 5, 399
A 140, 352
H]
g 2,556 g 45 A7}
T gmA | ueNn| 5| B S o
A 228,327
2,556 g 52,0 A7t
A7 = ﬁ H] 126, 7A) 7H & @ 1,932 277,232 o747 A7
A 5 409, 073
7 7} 7} 2] 498, 048
&5 W 64.0
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EAAF REAERENE
4 ¢ (71& : ¥13/10a)
H] 3 B F ¥ |gd7 @) |24 &) H| Nk
z|F &4 B 7 9 1, 818kg 425 772, 650
2|82 4 B 79 AEEE 1 91.2%
¥ A 772, 650 |
E 5 Y 2.8 6, 438 18, 029
272 ¥ g4 94, 148 N:27.06P.13,6K :16.0ky
¥ £ A 31200k
B % $74M B | 1806k 50,578 | a9 - 274 8cc
¥ 9 8,076 WA - L3k
. A §A 328 Tee.
Y - Yy 314l | A 24 &4 247 lec
& A A 0.5k
'ral(ﬂiﬂ)ﬂi 20 7} E}‘%- 9—]‘02@
A A 8 H 15,640 | A 7] ¢ 4.0kw
# 21404
A & Ty 1,323 | ¢ : 86.0m
2 537
FIA| w7 Dy 10,721 M 9 216
% 5 A4 A 2] 1,195 3 : 29, Okg
A 5 ;19,07
T8 (EH) 4,899 | % E .07
Wlg 2 = o | 3 A AL
7 8 & 2 3,233
| A 141,003
H]
12,833 g 23 A7
}
T4 x gy 32.7}1{ o 2153 71, 359 o 504 A7
A 212, 362
¢ 2,83 ¥ 1658 A7k
A A = g o MLBAZ | ) jag 38,519 | & 26 A7
A = 560, 288
L I 631, 647
& = & (%) 72.5
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W5 EFASEAT
A 009 (71 . 413]/10a)
d] =3 |- ¢ F g @@) |9 Q@ H] 3
2| F & 2 7 4 3,112k | 367 | 1,142,104
% 48y NHESS : 92.3%
3 A 1,142,104 |
£ 5 oy 9, 6 3,555 34, 130
272w g 8| 33999 N:3L2P:18.1K:23. 3k
7 o ¥ & A 31290k
T asavaE | 1,757k 55,183 | gay $A ¢ 9772
R 25, 828 AA 44k
oA A4 962 1cc
39 Fdy 3, 966 A : 0.1k
2|~ AzA fA 214 8cc
4 (&) 8l 690 A 19k
A A4 8 9 12,540 | 71 B & 0.1k
A 7] 1. Okw
A% 7 ou) 1673 | & £ 19.0¢
: d 64 0m
1A s TN 5114 ] g Z: 13,17
354842 o666 | M 9 E:288
3 © 48, Okg
8 (BR8) 1 8084 | 9 A 10,0k
illyg 2 = 2,9% | '
7 8 8 B 3,628
A 200, 850
H]
g @ 2,661 15,2 Az
812 |
R UV~ I 85. 842 o ¢ 1,00 181, 223 o 70.6 A7
A 382, 073
2,661 o 65.4 A7
!
A 7 = 8 136. 34| 7t o+ 109 315, 404 & 70.9 A
A 5 760, 031
U S 941, 254
A 05 & 66.5
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%35 EFLSEAE
VI (712 : ¥13/10a)
B} g -] F ¥ ig4@) {59 €@ H] N1k
21 F 4 & 7 9 2, 599kg 404 | 1,049,996
18 4 g 7 9 A58 1 92.9%
% A 1,049, 996 |
£ B M 186. Tk 581 108, 577
%74 8] & 4] 30,016 |N:20.2P:19.6K: 20 1y
o 2 04 71270k
3% | 47128 8y 9, 305k 19,684 | 3 a%n e+ 664 500
T 9% 18, 862 AA 3.8k
SFA $4 ;540 8cc.
49 - FEy 4,164 BA 0.1k
~ A 24 &4 105.6cc
& | 22 (kA 580 B
A A 8 4 49,721 | & 7] ¢ 10, Okw
H 19,04
A % 7 o 1,813 | y g 529, 0m
B = 0.2
A dE Ty W2 | g g 2 pog
% 544 A 2] 5,479 3 D 27.0kg
. 4 A 2.0k
8 (E8) 9 58% | A A 113070
Hiag 2z =& 050 A4 A .00
7 8 & # 1,825
Al 289,179
H]
W 2,602 w10.7 Al
28 = 8y 70. 941 7+ o 1o 45,080 | 2 e s A
A 434,229
g 2,602 @ 60.6 Az
A 7 = 8o 131, 02 2 iy 294750 | 704 A7
& % 615, 767
L I S 760, 817
2 5 &% 58. 6
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oty EZSSEME
Aog (712 : 918/10a)
H] =3 -} S S I O ) B = H] 2
2{F &4 & 1 4 2, 526kg 362 914, 412
208 2 B o9 AESE93.3%
4 A 914, 412 |
£ H 93. 2kg 3,732 347, 848
=7 4] 8.9} 31,902 N:34.5P: 244K :23 4kg
b o 5 & A g 110k
R R BT g3 94 30 3cc
) 15, 550 AA : 4.8k
AFA FA ;326 2c
349 . 5gn 2,575 B 0.1k
3 A z2A A 1943
1 "r'ﬂ j(ﬂ ] 0 ‘{]Zﬂ:l.Okg
A 8 oy 44,037 | # 2:16.0¢
H] d 707 0m
2 5 3oy L756 [ d &: 38
|| W FAz o | 3 (0
A 5 Al A2t 2,139
T2 (BE) Y 5, 584
H e x B 610
71 8 8 ¥ 2,131
A 498, 826
H]
o2, 256 g 1.7 Azt
1 ' ;
$ = gy BOAL | o e | 1063 | o) At
p! 604, 162
2,256 W :63.3 A
A 7w d o WA G g | BB g.gg Az
~ = 310, 250
I 414,586
A = & (%) 33.9
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A EnE EFLAERAR
Ay (7)2 : d13/10a)
H] = |- £ 7 (87 &) |49 % H] X
Z|F 4 & 7 9 2, 845ky 460 | 1,308,700
£ F 4 8 7 9 NESE 04.2%
¥ A 1,308, 700
F g 2.6 17, 265 44, 889
3|3 gnauas | 20 0.685 |5 25, o 5 e
oF 30, 626 qA L2k
s % v $FA B4 UK
#d - T8y 6, 309 B0
A2 F4 283k
%8 (KF) 1,358 A 0.8k
o .
A A 8 o 111, 704 ;1] % % ;{;f’f{;ﬁw
% 130,00
& % 7 5% 1y d 667, 0m
A | T 10,604 | % 2 1 1032
A F o o2160.07
ALY | 6802 4 9 E:078
3 2 43, 0ky
¥ (EH) Y 6.886 | g A 8.0k
i 4 1L oA
e A = 01z E . 17307
N8 8 2 3,004 |2 B 4 A 1604
A 315, 509
Cli
9 i 2,646 g 0.0 A7t
T8 x gy 51. 4N a5 208 L9 | G o g i
H 427, 430
g 2,646 w1207 A7t
A 7 = g oy WAL | G5 e 576,005 | o1 1 13,5 A7
A = 881, 270
L 993, 191
& £ & (%) 67.3
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77 BEESEME
A9 71&  418/10a)
H 2 ] F g7 E | FY9 &) H] 3
2|3 4 2 29 2,774k | 438 | 1,215,002
a2 2 2 5 9 HEDE 92, 6%
8 A 1, 215, 012 '
z B 1. 240 27, 073 32, 488
A% | a7 4y 2y 1,963k 59, 658 §%ﬁﬁo§ éggoggkg
L tgor1 |4 %7 %gj ;ggg.gcc
: ' 1.3
*g - Ty 3,785 '%&ig gf‘{ :5%8.?0(:
}| o~ A= : 336. 2cc
7 MR
A A & 50.749 13 7] 3. 0kw
& 8204
A E 2oy 1,670 i ) :591'0]?
9 A , & I6LT
il 10, 470 x% z ﬂ 2256.52711'
1,029 | 2 34
%5 A4 A2 . 3 ) :32'00,”@
+2 (8w 5,657 'L
g ()Y 5 4 1Lon
g = = 1,722 | & E 1,008 07
R AA 1350
71 & 8 & 4,310 7] B 1350k |
Al 2%, 418 |
H|
g 2,507 g 5.7 AF)
24 xd || 2ol e g N
A 289, 612
% 1 2,507 ¥ 89.0 A7k
O G R RN R LR PRt Az
PN = 995, 400
L I S 988, 594
A B 8w 76.1
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A3 FEAL5EHE
q 009 (71& : 413]/10a)
G = -] F B g | F4EQ) H] 2
2|2 4 8 7 9 1,901k 458 870, 658
12 4 8 79 APESE 0 92.2%
4 A 870, 658
2z g 1 5.5df 7,928 43, 607
2748 g4 29, 346 N:27.3P:14.7K 1 19. 9%
o = £ 4 396 0k
B|%] &40 89 1, 766 kg 9,05 | 525000 e e
F 9% 4 10, 068 A : 0.9k
AFA A 974 Tec.
34g - FyH 3,640 B : 01k
AE2A £A 126 Tcc
Y| o~
T oedg (KF) 113 QA ¢ 0.7k
A A & 4 176,710 1 & 7]+ 3.0kw
. & £ 16.0
A % F oy 1134 | n] 1§04, Om
¥ Z 023
1A a2 B0 S = 1000
9 A A zhg] 5887 {8l 4 &:L8H
&S] ¢ 44, Dhy
| 48 (R 5,283 | 2 A ¢ 0.0k
. £ E 69,070
YA s 0% 3 4 2: 1m0
7 B & 2 2,419
. AH 339, 031
H]
g3 2,611 w30 A7t
28w g 24,547 o 1835 00 | oo A
A 386, 101
W 2,611 3795 Az
A 7w ¥ oy 168. 54 2t a1 39,999 | 3 L go g Ad
A E 484, 557
LA 531,627 -
A B &) 55. 6
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LA #H] EEASEME
qa 4 (715 : d13]/10a)
H] B =] £ % (a4 | F9 &) H] 3
z|F 4 2 7 9 2, 056ky 532 | 1,083,792
12 4 & 79 NEHE 01 1%
4 A 1,093,792 '
z E ¥ 1. 9d¢ 35, 567 67,578
274 v 2] 98,008 |N:26.2P 151K 18 8k
o ¥ & M 1270k
Z1%| g728 2y 1, 627k 0,186 | 500 el aee
A | 20, 448 24 0 0.1k
QA : 1.8k
B9 - FHH 4,34 | 474 &4 1,077.8cc
H .
b o~ A4 01k
G| FExADH S| g2 4 1 17.8cc
A A g oy 71,853 dA : 1.3k
A 7] 18, Gkw
&2 % T o L43 | & 21800
H] d 1 840.0m
3|A| A5y nez ) g = 1 258.07)
g 5A| 4 A2 559 | Bl 9 &:o2.68
' 3 : 162. Okg
S8 () 3,59 | ¢ At 1.0k
] ¥ E: 1,150 070
Alle A = 0l x 4 4 2 12600
7 8 & 2 2,819
A 248, 857
H]
g 12,558 g 6.0 Azt
£ x # i 35,847 o 1 1908 72, 206 o 998 Azt
A 321, 083,
g 2,558 g 107.2 Az
P ] 211. 0N 7 a0 1908 28 | 4 s N
A = 772,729
27 A A 844, 935
A 5 & 70.6
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b e

4N

=
G B

A ¢ (1% : @18)/10a)
o] 5 E F F (g4 E) |39 &) H] )
z|F 4 8 7 9 2, 302ky 479 | 1,102,658
202 % 27 9 BESE : 93.0%
¥ A t, 102, 658
F 5 2.5d 18,191 45,478
25 4 2y 31, 110 N:22.6P:19.9K : 21.5k
o 5 & 4 3 1250k
A% | fo12d 8N | 2060k S.687 | S ax A+ 1 0% oc
R 30,358 2 0.1k
¥ AA 0.3k
C ] 5515 | A 4 : 1,080, 7cc
2| % (k) 560 iy
ST H2A FA4 153 0cc
A 4 8 59, 975 QA 1 1.2k
71 B & % : 0.5k
A % F oy 1,331 | A 7] ¢ 40. Gkw
f 2604
S|4 dEFAg 10,842 | 2 - 7%, 0m
A A A z}e 9,448 | & . 176.97
F A H A Moy B e
£ (E#) 4 7.023 3t 266.0k
i 4 o 4070
e A= Wigs =0
171 8 8 2 9,928
A 258, 366
) ‘
92,713 g 6.7 Azt
gk F oy BTN G g o BT | o A7
# 337, 083
9713 W :80.0 Az
A b = g oo LS| Y g BLET | g1 g s A7
g = 765, 575
L I 844,292
& 5 (%) 69. 4
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A7) BESSEHE
A ¢ (712 : A15/10a)
H] Z | £ ¥ | g2 @E) | F9 &) H] I
2| F &4 & 7 9 1, 135kg 1,402 1,581, 270
2 28 79 AE5S 04 0%
4 A 1,591, 270 |
F ®E ¥ | 68142 39 | 269,129 |
2 7] 2 o] & H) 32,927 N:25.5P:21.8K :19 6k
o F £ 4 31200k
B1%] 47144 84 2, 143k 5,210 | a0 oA+ 50 fcc
% H 24, 079 BA 0.4k
QA : 1.6k
3g - FEH 3214 | 274 A : 904 8cc
N 1“—%*“ ‘?I‘xﬂ : 131, 9cc
A A & oW 43,517 | 71 B & %1 0.3k
A 7] 1 1, Okw
& % 2oy 1,458 | & % 18.00
Hj d : 926.0m
B g FADY 8, 726 2 = 1 990 )
g 5444 g1 {8 4 B:I0TH
) : 54.0kg
23 ()Y 3186 | ¢ A 29.0k
] A o707
H
e & = 0.75 | 57 4 216000
71 8 8 & 2,172
A 453,743
H]
g 2,430 2 6.8 A7
I & x 8y 65. 92 7} o 1775 121, 426 o 150.1 Az
A 575, 149
g 2,430 1040 A7}
A = 1, 016, 121
2 7 7 A 1,137,547
& 5 & (%) 63.8
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Ad4% EFESENE

A 4 (71€ : ¢13/10a)
1} 2 E & F iagAE | Fd &) o] ol
z|F 4 8 7 4 3, 584kg 600 | 2. 150,400
|2 4 8 7 9 AHE S 1 95. 5%
4 A 2, 150, 400
£ B ¥ 2. 5df 8,313 20, 783
2724 24 36. 106 N:48.6P:253K:29. Ty
¥ & A 31340k
o o 13,032 QA 0.8k
ArgA A ¢ 311 0cc.
BE - FYY 14, 645 A 50, 1y
A 2A A 50 0cc
}- R
A A B y 227,995 | A 7] : 341. Okw
& £:37.00
2 % 7 ¥ 1,497 | u) d 906, 0m
o 2 21 62L 77
A w7 A2y 23,072 g 9 & 308
G 3§ A4 A zhd) 113,547 | ¥ 5 217.0M
. k4 E:1,112.01
+ (BE) Y 2438 | T 2 A A 68307
Mo 3 =B 0
71 8§ & 2 6,378
A 534, 545
B]
Y 2,962 g 14.6 Azt
@ o 977
T & x 98y 87947 o+ 9195 199, 607 o733 A7
AH| 733,552
2,062 g 1548 Azt
B . 7}
A 7 = @ Y 327.6A 7 o © 9 1% 825, 717 & 1728 A7
A £ 1,416, 848
B o7 7 A 1,615, 855
& = £ (%) 65.8
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NAZ%F ¥

ey

| =
£25FAE

a4 (71& : A13/10a)
H] = - £ F | gAE) | FdE) H] Kl
2| F 4 2 74 4 2, 786 kg 1,566 | 4,362,876
s 82 & B 74 AHESE 1 02.7%
¥ A 4,362,876 '
=z g i 1. 4dt 30, 425 42, 596
5728 8 ¥ 38,970 |N:35.1P:22.9K : 29.0k
| 5 £ 4 3 1400k
T | w12 By 2,511k .55 | gax 8- 157 6cc
S S 39, 871 A : 11k
AFA A 2186 2%c
#4959y 80,564 | # =& £A : 125.0cc
~ 7] B F oF: 0.3k
| 8 GRFD A 5L A ) ot
A A 8 ¥ 576,670 | 442,00
H] d 1,637 0m
£ F T L760 | 8 2 48570
A F 548070
B As R Ly gz
A4 4z 144, 810 3 930k
4 o : 296,04
2 (B H) Y 19,809 | % E ! 2,404, 071
71 8 8 2 13,304
A 1,078,398
1] ‘ .
2,783 Y 34,9 A7k
!
SR N B R Ao 52 e s
H 1,432,798 '
; oo 2,783 Y299, 8 A7t
A7 e g v 506. 44 7t o g 197 1,485,973 o - 796, A7
2 = 2,930,083
2 7 7 A 3,284,478
A B &£ 67.1
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ool EFLSEHE
A g (71& : 918 /10a)
H] 2 | £ 7 (2@ |74 &) H] ol
=z F 4 & 71 9 11, 228kg 983 | 11,087,124
% 4 8 9 AESE 94T
4 A 11,07, 124
F B 2.9d¢ 35, 627 103, 321
By A8 88 62,508 N:55.3P:26.4 K50 5k
‘ : 4 A 31710k
7 %—. 47 d 8] 29| 7,551kg | 364, 319 e
= 9 3 125,808 | 254 A @ 2,022 7ce
2A 0.1k
B - Fgy 940, 341 AA 30k
a4 4 3 5%. 9cc
}. ]
T (KF) Y 1,767 24 ¢ 1 4k
A A & d 763,104 | 71 B & & 1.0k
A 7]+ 2,530, Okw
2 % 7 . 6,497 | & B ;542800
; H| g 1,277.0m
G4 | Ty 207, 027 3 = 9.6
| @ENLA 92,723 | ¥ ¥ B2
3 : 157. Oky
T8 (BE) Y 79,208 | u o : 200. 07
} F E : 397507
|
e # = Bz 3 4 A 20
171 & & & 24,202
A| 2,967, 285
Gl
g1 2,468 go44.2 A7
k1 H 1A 7 .
T & x| 202115 o 1956 DULE:H D A7
A 3,385,223
' 2,468 g 407.1 Azt
*
3 7t = 782, 5A} 7L o ;195 1,739,005 of : 375.4 A7
& = 7,651, 901
7 A A 8. 069, 839
4 5 & (%) 69.3
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A ¢ (71F : 413]/10a)
H] & ] F ¥ (g1 |29 @) H] 3
2% 4 8 7 9 7,353k 999 | 7,345,647
2 4 2 7 4 AESE  93.4%
4 A 7,345,647 |
2 HE ¥ 9. 6de 22, 862 59, 443
B 74w g 4] 41,758 IN:30.1P:25.9K :30. 34
o T &M 81790k
B8] a2V | 418 13208 | § % e |t tec
U 56, 044 A : 2.8k
A A HA 1,707 9cc
39 - £ 105, 252 BA 0.3k
AxA F4 59 7cc
1_]_' N
A A B oy 718,328 | 71 B ¥ 9 : 0.1k
A 7] © 324, Okw
A x 2w 2,080 | & £ 1 503,00
) d @ 1,4%5.0m
9| 0T 4054 | g Z 707 9
Q%A A A 2 173,169 | A1~ F W . 670.0
B d & 548
S8 (BH)Y 41,374 3 : 210.0kg
o 4 -3 ;783 0%
e A = L8z =080
71 8 8 & 9541 | £ F A2 49.01
A 1,384,112
H]
W 2,453 60,4 A7k
Z & =g o8 | 166687 e BT | 1 1062 A
A 1,737,876
g2, 453 g3 Az
Z}. 7 ow g ¥ 615. 04 2+ o Lg% 1,348,410 q 309 A7
Pe s | 5,607, 771
R T 5, 961, 535
A2 B W) 76,3
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Adse EZASEAE

34 04 (7} 1 E13/10a)
H] 2 i £ 7 g @) |29 &) ¥ I
z|F 4 E 7 9 5, 647kg 665 | 3,755,255
s 8 4 8 79 AE5E 94, 2%
3 A 3, 756, 255 |
2 8 8.3d¢ 8,637 71,692
=7 %8 2| 32,060 [N:35.7P:18.3K 128 1k
= o & ‘g' ’§| i] . 151, Qkg
B8 | %7140 20 | 2050k 8,409 | a0 e L 1 568, 6cc
0% v 22, 834 dA 1.0k
AdA A . 980 Tec.
39 54y 18,785 24 0.3k
A 2A &A ;108 3cc
7‘1- A
& | F e R 01 = 7] : 90.0kw
A A E ¥ 404,574 | 54400
% g 35.07
2 % F ¥ 2733 | v d 1,132 0m
g 37724
1B A | a5 Fan 026 | 5 = - g9.00
%3 5 A) 8 A 2| 118,850 | Bl 4 & : 568
3 T 135, Okg
8 (EH) 44,751 | 4 # ;339,07
) x £ 1,189.07-
5]
e # = Ol % 5 & % 4000
71 8 & & 24,297
. A 934, 190
H|
2,692 3378 A7k
v @ u b
T4 = gy 109, 4] 7} o 2050 248, 537 & 716 Azt
A 1,182,727
g 2,692 w2388 At
A W B R J- , ,
(v 9 o 451,517 & 1 2050 1,078, 884 & 1 919.7 Az
& =3 2,572,528
2 7 7 A 2,821, 085
2 B &% 68.5
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AR EELS5EHE

a4 (71% . 418/10a)
L = | ¢ 7 g @) {59 &) H] X
2| F 4 2 7 4 2, 643kg 2,232 | 5,899, 176
212 4 8 7 9 AESE 1 96.0%
% Al 5,899, 176 |
2 " 9 | 10,865 7% 40 444,373
574 8| & v 48,710 |N:326P: 314K 322k
= ¥ & M 3 147 0y
BIFAAAAEN | 3460 W) gam 44 0 00 2cc
S ) 34, 888 A0 Ik
AA : 2.2k
#E 8w 18,732 | 434 &4 : 648 Tce
A | B ;0 1k
SI R LAY A zA 84 10300
A A B 9 437,972 QA 1,2k
7] B ¥ o : 0.8k
& % T 4 2.076 | A 7]+ 347 Okw
f 5. 46.0¢
F|A| U Taan 16,578 | d: 1,723.0m
%G 5 A4 Az 164,115 | & Z . 755. 270
, A F s
8 () 50,864 | 8] 9 =47
. ) : 39,0k
Miag 2% =& 205 | o+ 50
7 B 8 % 7903 | £ & 4z 483.0%
AH 1,344, 231
H|
Y 2,563 o 40,0 Az
& x g o8 | 28347 a1 504 U223 | ) e s N
) 1,786, 444
2,563 22,9 Az
A 7 = g 3802 | ¢ | e | 1O | G loe ity
A = 4,112,732
2oz 7 A 4,554,945
& = & (%) 69.7
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3% EFLSPAE
A ¢ (713 : @13)/10a)
H] 3 |- F F a7 | F9 4 uj 3
z{ % 4 &8 7 9 196kg 2,622 513,912
12 4 8 9 1,755 | AEHE 1 92.8%
o A 515, 667 |
F B H 12. 3kg 2,659 32,716
F.7] A8l &) 21,608 | N:7.0P: 145K - 12.8ky
Y ' - ¥ & A 31140k
Z|%| 4712 8y 839y B | G ol 126 200
O | 11, 269 AA : 36k
, A7A FA ;U3 Tec.
#d 58 2,609 | A zA &4 : 150 0cc
AREIEYIE 0|, RN
™ o
A A § o9 15,638 | ¥l g 830 Om
_ B 9 B4
A x 3oy 1, 255
VA oE T 7,059
% & A4 A4 7 941
e () 3,037
Aoz B 3,589
71 &8 8 ¥ 1,988
A 197, 555
H]
| ;2,604 Y49 A7
].
2% % g 29,3412 o 2053 63,293 | & s g N
A 190, 848
. AL 42,9 Azt
A 7t x g oy 86. 9] 2+ 8+ 2053 205,904 | &y o A7
& = 324, 819
£ 7 A A 388, 112
A =5 %W 62.9
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gdx EFLSEAE
a4 04 (715 : 913 /10a)
H] 3 - | T F g E) [ 29 H] il
2| % & g 7 9 296kg 4,490 | 1,329,040
sl % 4 8 o9 HEDE 99, 0%
4 A 1,329, 040 |
£ B 4 0| BNAYIARTATT
2 7] Ay g 4| 41,529 N:20.6P 196K :29.2ky
o 5 = F 24 810k
BB a1 EN | 1409 0.5 | 525 e 58l oo
¥ 9%y 18, 186 BA 0 1k
A 1.2k
P 5y 4359 | A#A £ 332
A zA A 33.8cc
1 A
A A 2 oy 50,508 | 71 B} % ¢ : 376.3k
% %@ 23¢
A ¥ 7 ¥ 1,266 | u g 1,025 0m
¢ 220270
A | 9542y 8600 | ) o oz
G FA A A7 10, 250 3 . 71, Okg
% A 1920k
=8 (BE) Y 8,027
o 2 g 5,333
71 8 8 .2 4,351
A 199, 973
H]
¢ 12,650 g 219 Az
24 x 8 o 74, 6217 o - 2067 166,965 | 53 | o 7 A
A 366, 938
¢ ;2,650 g4l Az
A 7 = 8 oy 268. 841 7t o+ 2 087 637, 870 o 1907 A7
A = 962, 102
2 73 7 3 1, 129, 067
A 5 & (%) 72.3
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3 EFLTENE
Ao (7|1& : 4138]/10a)
o] = - + 7 |27 @’) |79 &) H| I
2l 4 8 7 | §60.0w | 8092 847, 020
sle g g og| TH | TN 12,472 | AE8H8: 100.0%
L ) 859, 492 |
2 B H|% L84 1. 597 39, 205
2 1.6 11, 455
Bduge | 29,969 |N:34.5P:16.8K : 19. 2k
2= 7148 B A 1,725kg 37,99 (234 A : 579.7cc
S 20,929 i
_ B 13,537 (A #A 1,148 3cc
%953 A4 0.8k
4 g (KFH) 0 {AlZ2A §A : 618 7cc
A oA 0.9k
A A B M 19,866 7] €} ¥ o : 2.7k
. A 77 0 19.0kw
A % F o 2,295 f; E:SS'MH
H 16, i} 20,07
ol | AETEAY a3 | 2.0
% Al A ALz 22,831 | ¥ o] : 35.87
. A 7] 10,38
T8 (R 18,011 |[pp o} 1 : 454
) : 8.0k
. z 4 ¥ 17,510 | 73163.02
4 & & 3333 |2 ¥ WIS
F 448 1320k
7 8 & 2 3,200
A 45, 607
H]
w2, 414 ¥ 9.9 A7}
B }
T § % ¥y LALECH - 9,089 | 3. a5 A
A 339, 676
2,41 ¢ 157.8 Az
].
A4 7 = g 364. 74 7t o : 1887 766, 895 o 1 206.9 A
A = 519, 816
27 7 A 613, 885
A 5 & (%) 60. 4
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e EZLSEYE
a ¢ (71& : 4/100%)
H| & ] £ @B g E) | F9 &) H| i

|3 & 2 2 9 7,025k 1,570 | 11,029,250 | 33434 1.88
2 4 8 5 9 138,751 | BESE:94.8%
4 A 11, 168, 001 |
z ¢ 798. Okg 1,082 863,633 RH2A A : 464 2cc
2 0.1k
W x A 12, 995kg 62 814, 957 ,
A% A A ¢ 425 0ce
'Y of ] 96, 472 A : 0.1k
A ;0. 1k
%9 - %94 H9.2T0 b g % oF ¢ 0.4k
2| 8 (KF) 4,808 [ CRE A
\a F i 495.00
A A 8 485,567 1y 7] ¢ 859.0kw
A 5 3 o 3,159 e 732.2m
q;%;}gz} ] B o] X 447
o 35 4 A4 23] 219,605 |y = 5 ~ : 55.8m
¢ (BE) Y 40,683 & ut 59, Okg
i 7 1 20.0ky
H -
g 4 & 14,729 .y R 45k
7 8B 8 2 12,774 |= & A4 7 1,742 00
H 2,811,791
B}
9,547 w120, 1 Az
24 x gy 379. 74| 7 & 170 L3 | g0 A7
A 3,553, 157
g, 847 ' W 303.6 A3
A e ¥ oy 8.4 | oy L | 7m L.216.999 | 5 . ogs g Azt
A = 7,614, 844
2 7 A A 8, 356, 210
A 5 &£ 68. 1
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W EFEZEHE
q g (1% : @18/108)
B] Ly = F ¥ 871 |29 &) B] 3
2% &4 & 7 9| 23300k 1,010 | 2 353 300
a2 4 8 9 9 NHZEL 1 92.9%
4 A 2, 353, 300
27 By 34, 091
&7 A8 28 9, 508 kg 64,008 {N:20.9P:21.4K 278k
¥ & A 3 1390k
CACH L BT gan 941 3,057 ec
FY - FHy 9,429 Va0 1k
A @A FA 4,645 6cc
2] (K F) v 0| AzA & : 868 7cc
A 7] ¢ 2. 0kw
A A 8 oW 14,550 | o = . 50,00
A % T oy 9,710 | FOI(EAA) @ 284. 4kg
B od #0508
W 5 7448 34,399 4 : 35. Okg
% 7 1 91. Ok
3| A | guQuazy 6.5% | ¥ % 4 2 15 0
T8 (BE) 17, 740
D 92,711
Wi B 8 0
g & 2 7,078
A 429, 041
H|
o 2,691 ¢ 43.4 A7
IR I 136.74) 7 o 7 08 311, 226 o o3 A2
A 740, 267
12,691 31374 A7t
I 249. 34 7 %+ 5084 602943 | o 1\1 g A7
A E 1,613,033
2 74 A A 1,924, 259
2 5 &% 58.5
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ool ZTFLERME
I (71 : ¥13]/10a)
H] 5 | & ¥ 8271 % [F9 &) 1] !
2| F 4 B A 9| 14560k 971 | 1,413,776
R - HESLE: 92.7%
% A 1,413,776 |
2728 84 34, 346
F £ A 3109 0k
B|F|s 4 v 422 1 gz 84 2,09 0c
BY - Ty 10,919 BA 0.7k
AA 0.3k
42 (K ) ) 0 434 #1980 5c
A A4 = 71,208 22 0.4k
: AxA 4 744 2cc
A % 3oy 2,576 Q1A 0.5k
. 3 7] ¢ 7.0kw
o % F 4 2y 14,65¢ | & 0 47.00
Fo] (£AR) : 7.3k
FIA | GeAug L99 1 pp o g :0.5)
T8 (EE) 4 763 | Bl € E:3.2¢
' : 3 : 31. Oky
2 4 2,976 | A 1 42,0k
Wl # = 1. 667 E 4 4900
1 8 8 2 6,021
A 283, 329
1]
g 2,675 _ ¢ 240 Al
T PR 95. 9] 7t o 1908 201, 385 e A7
A 484,714
¢ 2,675 ¢132.3 Az
Z 7w ¥ o 938, 44| 7+ &+ 1006 566,341 | & 6 Az
A = 929,062
= oA A A 1,130, 447
A2 5 8w 65. 7
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97 EFASEAE
4 04 1%+ 413)/10a)
H] 5 | £ F g7 @){F9 &) B k!
z|F 4 & 7 4 1, 053. Okg 1,250 1, 316, 250
8 & B 79 AZ84: 91.9%
4 A 1,316, 250 |
By An 2 33, 241
¥ £ A 3 1060k
AR I .50 1 gax &4 2,109 e
#4959y 6,727 BA (. 2k
' AA A - 1,708 3cc
$ 2 (K F) H 0 A ;0. The
A 2A G4 : 746.9cc
}.
A s o180 44 : 0.2k
2 % 74 3,22 | * % :33.5¢
Zo| (ZAA) : 0.2k
o5 742 16,801 | v & 2368
4 : 79.0kg
B | A | e gz 3,359 9 A1l
2 (58) 9 g474 | 2 A A A :8L0A
= A4 H]| 17, 645
Blle 2 &8 472
A8 &2 3, 854
Al 235, 471
8]
o 2,567 3245 A7k
2§ = gy 47. 0412 o : 1958 106, 946 e A2
Al 342 417
o o 2 567 w044 Azt
A 7}. wod o 08N e | TR ey A7
A 5 873, 833
2 7 A 3 1,080,779
A 5 £ (%) 73.9
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W% EFASEME
A 04 (71% : |18 /10a)
B} 5 -} @ igAE) |29 &) H] I
z|F 4 2 7 9 235. Dk 6,299 | 1,480,265
2|2 4 2 7 4 7,017 | AHESE  86.2%
4 A 1,487, 282 |
o5} w8 ¥ 24, 490
2 = & A 3 1000k
Tls o4 208 | gaxn A 1,380 %
BE - 9y 13,223 1A ¢ 0.1k
AFA A : 639.8cc
=8 (KF) vl . 0] A2A &4 : 647 2c
y . A 71 © 30, 0kw
A A & 4 16,789 | o RO
& % T 4 9,378 | PP ol ol : 18.7H
a9 Bl3g
o % 7 4 2] 21,620 3 * 65,0k
A | 35842 2617 | g 1 26.0m
8 (E8) 2,611 '
R 21, 428
Bl 2 = 21, 500
7 8 § 2 7,677
A 903, 227
H]
2,502 18,1 A7k
T8 = g oy 46. 9N 74 o 102,195 | &3 gp g A7
A 305, 422
2,502 ¢:90.1 Az
R R RS i RS Az
A = 1, 181, 860
5 7 7 R 1, 284, 055
& 5 £ (%) 79.4
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=1L © o o L= =)
Iy e EFELSEHE

w 71& . 4/%)
H] = g £ % g7 &) | FA ) H] i
=|F 4 8 7 9 0.9% | 1,408,861 | 1,267,974
S8 4 & 7 4 80,474 | w1454 (.68
4 A 1,398, 448
E 1L0% 69, 676 69,676 |1 & AHE 1 641 0kg
¥ %A} 2 8| 145,706 |4 F #1627k
F| 2 A & ¥ 119,436 | 3 F 880k
AE A w0 | 3 80k
A a . ,
A A 2 may |¥ F A0
o} L 1,782, Okg
A % F o8 2,111
& %o 2,371.08
o 5 T A 2| 9, 956
S I, Z 71 45 0
A4 A zte 7,491
& £ 1 12.0¢
2o () vl B2 |0 u s
= H
% = B9 15 3 a0
H]_ 2] A} g 0 A oo U o:0.3%
71 8 8 2 3771 | g A Bl Oky
A 44, 969
2,494 v 2.4 A4zt
EY L :| A7) !
- 3. 0471 o + 2,000 7,185 q: 06 R
pl 449, 454
. 2,404 3 :183.0 A7k
4 S H . QA 7H .
bogt g 260. 9217 o 1 2,000 612, 202 o T A7
A = 878, 994
L L 886, 179
2 5 &% 66. 1
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%S EELTEYE
A4 (1% /%)
Cll 5 = F ¥ 824 @E) |59 §) 1} x
2|2 4 8 A 9| 4890k 5,710 | 2,782,100 | A543 : 370. 6k
218 &4 B 7 9 85,029 | HI&3 < 1 0.93
¥ A 2,677,219 |
z 2 1 LIS | 1,384,566 | 1,523,023 | W & A 2 : 22810
5 %4 g4 48482 |9 T %303k
Alzlz 4 g 4 67,449 | 7 % 1 510k
AE YA 17,590 | w 3 763.0k
&% 3 qu 7981 | A 2 1 40.0kg
A A 8 oY 24,606 | A 2 1 595, 0k
A% 3w 2,365 | of 2 7.0k
W % T4 7| 6,293 | B 71 ¢ 114, Okw
A | Qx4 6211 | & 012,00
+9 (58) vl 14,877 | ¥ g 8.0m
£ 2 g 0|z A 1 189.0kg
il B = 1,403 | ¢ A 1403, Okg
8 8 3 5,959
" A 2,124,086
2gsd | sl M0 me o e
A 2, 144, 168
A 7w 8o | 25147 32322 614, 186 312;: f\}%
N = 733, 051
2 A A A 753,133
& = £ (%) 25.4
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4 EFESEME
A9 &:4/%)
H] E - S T - S O = A ) ] k1)
213 &4 B 7t 9| 53420k 419 | 2,238,298
{2 &4 B 7 9 824,208 | NAF%:0.98
% A 3, 082, 506 |
T % 4 LO0% 180. 624 180,624 | u) g+ A} B : 3,379, 0kg
5 A B 744581 |9 F & @52k
1% |2 4 &y og6, 440 | B F 160k
AlZTEAR _
A2 9 A4 68, 466 AEF4E 1 280k
- H Z ¢ 1,382 Oky.
# & 3 ¢y 2,214 | R
1A A & 30,240 | 2 : 38150k
E 2,480 { AL 9 & A : 1,481 0k
5 7 4zt 38,125 | °F £ 1 813 0kg
A | gEaLad 13,306 | & 7]+ 352.0kw
' & £ 14708
&2 (B R) - 30,38 |
H| d : 35.0m
B
L = 202 1 A @ 109 Ok
Biag oz 8 7 {7 o o 0.6%
7 B & F 7,240 | & A o 481 Okg
A 1,451, 255
B]
.| 82,870 w210 A7t
K A H : h
T =B AR G 68,911 5. 38 Azt
# 1,520, 166
32,870 g 205.2 A7
% & B 4A|7
b A g 1 279. 4417 o 297 TS654 | gy g o
& 5 1, 542, 340
ERE A 1,611,251
& = £ (%) 50.3
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HAE EEFESEAHE
A g P& a/%)
H| = | ¢ F g7 @) |34 ) H i
z|F 4 2 719 17.7% 36, 839 652, 050
Sl E A4 B Y 21,278 | W45 2.13
L 2 673,328 |
2 2 1.0% 23,199 23,199 | W) & A B : 1,010.Dkg
= & A g 27,848 |1 F H: 0.8k
A% 2 A 8 9 2,018 | % 1 43.0ky
A8 9 A4 11,127 | 4 Z : 550k
R 6,883 | ¢ X 1 123.04
24 4 8 9 14,434 | 2 7]+ 117.0M
A % T 9 98 | % F 1 5.04
U % F A zHe| 4,073 | ¥ d :10.0m
G A | oA daay 10,516 i3 3 1 103.0ky
P (BE)Y 3,657 {74 Wb o 0.4%
F ® R 27,222 | & A 151, Okg
Bl o & 217
N 8 8 F 2,444
’ A 334,370
28 xR | 63N 3 z%g 18, 118 3; gg i}g
A L4 |
A 4w g o | 130,042 j;gj oo | a8 3‘;2?:2 i}g
A = 320,840
B 7 7 A 338, 958
2 5 & 47.6
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MSE EFESENE
B g V& 4/5)
1] % - F ¥ |anE | Fd & H] 3
2% 4 8 7 9 242. Thg 1,264 | 306,772 | AFAF 201 4k
2B 4 2 7 4 18,220 | v1& %1 2.58)
¥ g 204,99
2 & 2.5% 36, 867 92,169 | W F A E : 675.00k
¥ & A & 9 148,889 | 7% F L0k
B1E| =2 A4 8 9 8| & 2 1.0k
A8 gAY 7,382 | # E . 55.0¢
&% gy 2,432 | B 7] : 38.0kw
ZHlA A B oW 5473 | & 400
& % F 4§ 1,047 | o g 12.0m
g s FARY 2,063 | 2 -3 180k
S| A | gEAE4 3207 {74 o Y4B
s (@) 8l 5% |9 A 460k
2 % &8 0
i le & 0
A 1,082
' A 266, 310 |
Jagwau | oawe| 20 |30 e
7] 277,575
A ow 9o 52, 8412 flgg’lig 142, 640 ‘jfzg j};{
2 % 47,417
2 7 2 R 58, 682
& 5 g% 14.5
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FA EFALSFHE
Ao (71 1 4/1009)
- R RO R R bl 2
2| F 4 8 7 4] 10154k 1,070 | 1,086,478 | A3 AT 785, Thy
- 37,211 | BI&3 %528
¥ A 1,123, 668
F 2 q 517.0 302 156,25 [ W @ A & : 21330k
AN 570,422 | 4 7] + 236. kW
B3| =2 2 B oy 0| % Fo14.00
A8 YA 2,244 | 4 & : 53.07)
& £ 3 g 25,478 | 9] d:3lim
A A 2 o 16,441 ¢ 71 ® 9 :0.3%
A % T oy 1,586 | % 7 ¢ 274, 0ky
W% T4 2] 1770
9IA | gL 4,321
8 (ER) Y 6, 661
T * 8 0
H o 3 g 400
18 8 3 3,53
) A - 807,718
2gwa | opeun| s 2B g 0 i
Al 852, 855
A7k = o 136. 041 ¢ 32% 33,951 3222 i}j‘j
& 5 210, 834
R A 315,971
A& = 2 (%) 24.1
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245 EFLSEAE
- 713 d13/10a)
H] 5 g = g gt | Fd &) H] 3
2| F & 8 A9 616k 564 347, 424
22 48 7 9 15,130 | AFE3H& 0 90.9%
e A 362, 554
B b 2. Bkg 2,540 6, 606
272 ) § ) 19,836 {N:2L4P:13.1K ! 13 9k
3 o ¥ € 4 3510k
AR HE LR 1, 245kg U | Sa ea] - 30,0
A | 6, 664 24 1 0.2k
, . AA 2 0.7k
I R 3,952 A@A A 17.8cc
72| - A 24 §A 333 3cc
| %@ Ok 0 e
A A & n 4,80 | # %160
7} A 1 1. 0kg
£ % F 871 | w d : 397.0m
A | aprygu o | T 4 EIOT
g A A A 226
T8 (E8) Y | 5,331
Mlg x = 1,861
7 &g & 2 1,159
#) 94,576
H]
¢ 12,399 g L5 Azt
2 & & 8 o 12. 247 a 1910 24, 035 o107 A2
A 118, 611
g 2,309 471 A7t
A4 7 = ¥ oy 87.3A1% 3 1910 189,774 | & 4o’ s
P =3 243, 943
2 N 7 A 267,978
A B & 67.2
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T EF25E4E
q B (712 : 4131/10a)
B} Z -] £ % (a7 | F9 %) H] k]
zIF &4 2 7 9 171 kg 1,589 271, 719
218 4 g 7 9 3,977 | AEHE 87 3%
4 A 275, 696
F g5 A 7. kg 1,401 9,953
2720 24 12,233 N:59P:7. 3K 6.4k
¥ &4 3910k
BAE | fAguae | 65121 9374 4 2.3
¥ 0% i 5931 | A & 14 Tcc
A 2A §A4 428 5¢cc,
39 - F Y 2,588 A A : 0.8k
] 2
A A § 9 1,861
A ¥ T oH 1,003
(A | gsFagy 12,028
o 5 A1 A 2] 459
| 8 (BH) Yy 2,210
Hla 2 8. 0
7' 8 & 8 640
H| 85, 508
B]
Y 12,872 30,5 A7k
T4 =9 T3 G5 5702 | .5 i
Al 81,210
g 2,872 ¥ :39.6 N
A 7 = 8 Y 76. 2A] 7t o+ 2008 190, 518 o 1 3.6 Az
A = 194, 486
2 # A A 210, 188
A = & (%) 70.5
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2 EF2SPHE
4 5 (712 : d18] /10a)
B} 5 | $ F 8@ | EAE@ H] k1l
z|F & g 7 9 1099 2,189 238, 601
Sl 4 & 79 2,906 | AEEE . 81.9%
% 7 241,507
£ =2 ¥ 5. 8kg 1,821 10, 563
B3 A b £ " 0,730 N:iB1P!6.3K: 6.1k
o F 44 3510k
B F| AR Sl | A A e
¥ 9y 4,540 | A4TA A 208 8cc
A xA &4 145 0cc
g FYH 2,404 A ¢ 0.8k
A & & 114
& 48 OkA) v 01w o 204
A A E oy 1,852 | : 10, Okg
& F 7 oy 988
A | oE Ty 9, 950
4 FAE A 0
T2 (B18) 2,947
Hldg A = 0
1 8 & & 633
# 51, 158
H]
1 2,687 0.3 AlZE
Z % % g 2.8/ o 1 1980 5756 | o 1y s Az
A 56, 914
2,687 34t A7+
A b g oa | @SR | o | 18 G, i
A = 184, 593
2 7 A A 190, 349
A& = & (%) 76. 4
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9F TF2TEHE
4 B {(71% : 413)/10a)
H] = B £ % (g7 |39 @) H] 2
=z F &4 E 7 o 489kg 855 418,095
28 4 2 9 1,150 | AEE&:92.0%
¥ A 419,245
* R H] 8. Oky 1,195 8, 561
273y 8] 14, 283 N:10.0P:9.5K: 10 4%
o ¥ & A 8670k
% T 'IT7] ;‘t‘:].B] EH] 819109 13,792 ’Q’%Z‘“ _ﬁ,z.“ 1 905, 6ce
¥ % 7.521 QA ¢ 0.5k
A7A fA 400 0cc.
34 - %Yy JI04 | A zA A 355.0cc
2 % 5174
73-' "r"ﬂ] (K?U) B] 0 H] ﬁ : 68401’!!
i o 17,692 | & z 1L
A ! Hog .28
A % Gow 976 2 0.0k
B|A| a5y 12, 800
3 5 A4 A ) 89
T8 {(BE) 5, 069
Hled A =& 0
71 & 8 F, 2, 487
A 87,380
o]
: ' ¢ 12,038 g 0.6 A7
RTAN 3 h—.lél H| 12.2A 7} o : 1915 23,976 o 1.6 A7
Al 111, 356
o or 2,938 31 46.5 Azk
A4 7 x #@ 4 92, 27 7t o : 1,915 224,132 o 45.7 A7}
& 5 307, 889
7 7} 7+ A 331, 865
& = £ (%) 73.4
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27 EFASEAE
3 =5 (71& : ¢d13]/10a)
H] = = 2 g a7 @) | F9 KD H] i
= F 4 & 7 % 1,621k 454 735, 934
B 4 2 79 12,111 | AF3&:90.5%
4 A 748, 045
z 2 H| 78. 8kg 519 40, 974
‘“?"7}%3]3‘3] 14,737 N:11.3P:9.6K: 156k
¥ & 4 3 150k
B1E &7 4 8y 1, 156kg 22,695 GaA a4 ¢ 100.0cc
¥ 0% 3,294 dA : 1.6k
AzxA £4 . 10l 7cc
#Fd - FYy 3,823 AA : 0.8k
2| 28 (kA o 0|2 il
T 219
A A4 8 ¥ 30,458 | Bl d 482 0m
g 2 6.2
A % F 1,022_ H 94 £:058
G A | g7 9, 063 2 80k
%4 T A A A i 703
8 (E8) 4,907
Bl % = 0
71 8¢ & & 545
A 132, 221
Hj
2,98 3 L1 Azt
H 167, 026
g 2,98 o482 At
A= w0 g | BRI g5 Az
A 5 581,019
2 7} 7} 2 815, 824
& = £ (%) 77.6
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BERA EFLSENE
3 5 (71% . 413)/10a)
B] = - F ¥ |87 @) [ F9 8 H] 3
z|F 4 & # 9 1, 44k 371 647, 024
S| B A4 E 2 9 AEBE 89, 0%
¥ A 647, 024
2 2 146. Okg 747 109, 150
272 u 29 93, 242 N:I8.1P:18.2K:16. 1k
P : ¥ & 4 3 450k
81% | fo1awan | 163k 2,356 | 5 sty 9+ 270 boc
C I R 6, 786 A4 ;2 2k
AR FA4 162 2cc.
3¢ - 39y 3,343 2 0.1k
A Z2H FA4 108 3cc
‘l- A
| 42 () 0 0+ 0.5k
A A B 9 26,371 | 1182
]| d: 85l.0m
A %5 7 oy L617 | & Z:9.0M
; ¥Mood 2018
FA] s Ty 12, 624 2 50k
J A A A 43
w2 ()Y ' 3,412
Bl x4 =B 0
J 8 & 7| 915
A : 211, 859
B] -
g 2,667 3 3.9 A7k
].
I & = 9y 28. 84 74 o 1889 87,437 oo At
A 269, 296
. g 2,667 W :58.4 Azt
A7 = g o 109. 427} o 1889 252, 091 o 510 A%
& = 377,728
¥ 7 A A 435, 165
& = & (%) 58.3
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AezA E

N

) =
A5FEAR

3 % (12 : A181/10)
H] 5 = F T jad$) | F4H & H} X
z| %= 3 & 7 9 1, 202kg 494 638, 248
a8 A 2 5 d T4 | BEHE 0 90.0%
4 A §38, 992
2 ® ¥ 155. 2kg 517 80, 346
=74 v 2 4] 18,538 |N:17.2P 133K 1 16.8ky
FE Y H 640k
BLE | guEN | 1192k 20,865 | G ol 258 fec
F %y 6,152 AA 0.3k
AdA FA ;195 3cc
B34 - Fgy 3487 | A x4 &4 1 153 7cc
A A ;0. 5k
| £8 (KFH) Y 0 b 7} ¢ 2kw
A A g ow 19,788 | % LY
H] d : 205.0m
A B 3 oy 90 | g %53
B 4 I:0.68
1A | oAy 12, 254 3 + 38 Oky
A FA A7 - 566
g (B8) Y 4,910
Blle a4 =8 0
/1 8 8 & 428
# 168, 264
H|
g2, 73 CEEW Az
T & % gy 16. 74 7t o 198 B G0 A
A 202, 155
32,73 55,1 Az
A 7 % g oH 104. 5217t g Z N D it
A = 436, 837
2o A A 470, 728
A F &% 68. 3
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BE EFASEHE
- (71& : d413)/10a)
H| Z ¥ ¢ #F | g7 | F9 ) Bj kil
2% 4 g 7 9 3, 872kg 173 669, 856
12 & 8 7 9 AHEEE 90 7%
4 A 669, 856
F 8 4 5. 3df 9,149 48, 492
27124 8y 94,14 |N:25.3P:15.1K ! 18 2k
o T & A4 8820k
B|%| 47148 &9 1, 528kq 21475 | 30 e i 000
¥ gy 10, 966 qA ;LT
HFA A 255 Tec.
34 - 348y 3,639 2A 0.1k
A& §A ;193 8cc
I
L g (KF) 0 A - 0.5k
A A B v 22,251 | * 511804
H] g 356 Om
E 13' :?‘ H] 1.120 % ?;;—:91'77“
A F . 1504
DA | o5 7Fady 5550 | g v mipig
o 5 A4 A T 0 3 . 16. Oky
- 4 o : 92.07
e (BE)Y 5736 | = Z A Ak 19,04
Hle =z =8 0
7 g & 2 1,021
A 157, 392
o] |
3,011 g 58 A7+
24 g ¥ 248X 7 g 20 %6.850 | & .10 o
A 914, 242
| g 3,00 519 Az
Ak = | oL.5AZ o 2,073 238, 361 o :39.6 A7k
& = 455, 614
2 7 7 A 512, 464
A B & £8.0
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AeE IFLSENE
35 (F1& : 4d13)/10a)
H] = = £ ¥ |g7@) |9 Q) Hi 1

=l & & 2 7 9 5, 230kg 118 617, 140
|2 4 8 7 4 HESE 91 3%
4 A 617, 140
z 5 Y 6, 9df 4, 086 28, 200
27 &6 2y 91,003 [N:32.6P:15.6K 17 Lk
BlE| ¢ B £ 4 8280k
7148 24 968kg 11423 | Do 4 : 76200
C A 11, 074 A @ 0.9k
Agd A 198 7cc
#q - 4y 3,300 | A zA ¢4 129.2c
Ta (Kﬂ)ﬂ] 0 _,19[_ _re_l_: 1693
A4 A 8 9,482 | Hl d: 5.0m
W 9 058
S | 1,987 Q. .0k
9 |3 3 o3 | 2 A+ 2.0k
4% T B2\ 5 34 2600
A4 2] 330
+7 (E) ¥ 3,990
Wlieq % = 3,889
7l 8 & 2 917
A 107, 885
H]
32,865 g 85 A7t
. 8A 7k
T f =gy 26,847 o 1950 55, 672 o233 A7
A 163,557
g 1 2,865 49,2 A7
A A = g 93. 04 3t o - 195 26,762 | 5 | 4a g i
A 5 453, 583
¥ o7 o A 509, 255
A = £ (%) 73.5

- 33 -




IYAFE EELE5FAHE
3 8 (712 : ¥9138]/10a)
o) g ] £ 7 (¢4 E) [ F9 &) H] kil
z|F 4 & 7 9 3, 654k 201 734, 454
12 A & 79 AZ54 1 85. 7%
4 Al 734, 454
F H ¥ 6. 3d¢ 7,733 48,722
274 v g4 25, 467 [N124.8P:13.8K 122 4k
% 5 & 4 3 80.8k
Fl 4712 8y T48kg 19.706 | 5200 o1 - 483 9ec
S B | 10, 507 2A 0.1k
AFA & 378.0cc
34 59y 9,188 | & 22 $A : 160.0cc
P f :20.0¢
28 (KF) 0 3] d 33 0m
A A 8B 9 301818 49 &:0.58
. ] : 36, Okg
A % F 4 1,198
1A | Ay 19, 466
G 5 A A A7) 375
2 (BR) Y . 5,737
Hle % B 0
71 & & B 1, 655
H 145, 932
H]
g @ 2,601 v 6.5 A7}
}
TR - 28,84 2 o © 1998 81, 461 o 2.3 A7
Al 207, 393
W 02,601 g 50.6 A
H 5A T
A 7 e @ ou | 975AF o ;1998 925, 316 o 16 A7
& s 527, 061
I B B 568, 522
& = £1{%) 71,7
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il EELAS5EHX
2 (712 : d413]/10a)
H] 5 = S S I~ S S £ ) B - ) H] I
2|5 4 B 7 9 4,951k | 186 790, 686
22 4 2 79 A& 1 93.0%
¥ A ' 790, 686
z mz 8 1. 2df 13, 834 16, 601
27 A8 5y 94,990 |N:3L3P 141K : 18 4k
= 4 A 30k
T H71d9 8y 1,501 kg 082 | Sa el ¢ 55k dcc
A | 12, 101 QA : 0.k
AFA &A 504 0cc
#g . Y4 4,363 | A 24 %A : 100. 7ec
T &8 (kFD 1,083 | o s 2300
A A 8 W 49,766 | ®l d : 818.0m
& ;154290
& % F 4 L487 | A1 3 o : 9.0
B9 2098
AL o 7 A2 17, 204 4 7 0l
o A A A zha 3,152 | 4 m 2,07
¥ E 1 648, 0
¥ ()9 3,170
Aleg 2 =8 5,000
71 B & 2 1,255
A 166, 654
. g 12,386 ¢ 7.0 A7
T & g 35. 58 1 3 : 1812 68, 344 o5 A
A 934, 998
" 2,386 83,6 A 7H
}.
2 7} = 8 146. 4417} S 1812 313, 263 o 625 Az
Es 5 555, 688
L R 624, 032
& = £ (%) 70.2
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3 & (712 : 418]/10a)
H] 2 | 7 | a7 @) |9 &) H] 1
2| % 4 & 7} 9 8, 300kg 123 | 1,020,900
S| 2 &4 E 79 AHZ8E 90, 5%
4 A 1. 020,900
F 5 v 3.4l 6, 300 21, 420
=7} 4w 24| 97,180 |N:34 0P 144K 185k
¥ & 4 3 80.0k
73‘ | $7 2 a9 1, 150k U042 | 5 ate e o5 70
A ' 13, 096 A ¢ 1.4y
' AgA A 225 2.
34 - %9y 4,947 B 0.1k
vl o~ A xA A 147.0cc
18 (KF) 214 A 0.7k
A A 5 7.716 | 71 B ¥ % : 0.1k
| & B0
A F T oy 2,082 | u d:3.0m
g % 0.5
B|A | ds TG 1396 | 4 = g 1o
o 5 Al A2 3gp | Wl @ B0
3 © 19, Okg
T (BE) Y 4,422 | A 6.0k
1Ml w = s | * E : 2,462.07
71 8 & =2 1,473
A 121, 444
Hj
13,013 g 3.1 A7
8= 2.3 o ;2185 63, 328 o 24,8 A7t
) 184, 972
¢ 3,013 g 54.5 A7
H
A 7 = 8oy 104. 147 o 2185 272, 584 a9 et
& = 835, 928
R 899, 456
& 5 £ (%) 81.8
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3 % 71 4131/10a)
H] 5 |- ¢ 7 | gAEE |79 Q) L k!
z|F 4 B 7} 9 4, 130kg 206 850, 780
£ 8 A4 B 74 AESE86.2%
% A 850, 780
2 ®H 1.8 12, 459 22, 427
B 7] A ) g4 98,450 |N:33.1P:15.0K : 23.9ky
% o &M H 120k
AR EEEE] 987kg 22 | 24 94 598 7ec
C I 13,058 BA 01k
AFA FA  450.8cc
39 -5y 4184 24 0.1k
7| A 2R A4 194 bec
| 2 Ck#) W) 01" 8A 03
A A 5 ¥ 12,900 | &1 20.0¢
o : H] g 243 0m
£ F T Y 1,498 z: 3.8
v 9 & (.88
DA | B P 21,005 3 30
%3 5 Al A Azt 3,03 | ¥ A . 8.0k
X E 1 238,07
8 (BE) Y 9,827
v le = = 19, 167
8 & 2 2,263
#H 162, 236
H] ‘
g 2,488 g 5.4 A7k
. 1_]: »
o4 x gy 27,187 & : 1815 53, 909 o 93 i
A 1 216,145
g 2,488 54,7 Az
24 b= g 101, 147 o 1815 220, 309 o 454 A2
A = 634, 635
L L S 688, 544
& =1 £ (%) 74.5
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Fi: FFLTEYE
3 % | (1% : A18/108)
L R AN N b 2
z|E 4 2 7 9 4, 647hg 220 | 1,022,340
| ¥ 4 E 9 NEEE 90 6%
¥ A 1,022, 340
2 5 0.7d¢ 22, 885 16,020
273 8} 24 31,680 [N:342P:17.0K:23.0k
0 2 8 4 81110k
3% g7 4050 1, 965k 1912 | 3.0 T s e
9 12, 802 qA : 1.5k
HTA 4 487 2cc.
3¢ g8y 4,008 B ¢ 0. 1k
| #e (KH) ¥ o | F2A &7 U e
T §22.0¢
A A & u 22,935 | ¥l 9 304.0m
& & 1157
' & F T 1,685 { v d g3t
' 3 : 9. 0ky
(A Aty 2,50 | 5 £ ol
% A 442 s | £ & A 2 26,04
g (EH) v 5, 497
9l 2 g 0
7 8 & 2 2, 641
A 142,770
H]
' g 2,508 g 7.9 Az
4z ¥ 43,947 a3 1867 B1.025 | 3 Lo o i
A 929,795
W 2,508 3708 A7}
AU 13_7' L of ;1,867 301989 | o . 5.9 A7
& 5 792, 545
¥ % A A 879, 570
& 5 & (%) 77.5
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AEx] FEELAEEHE
3% (71% : 413]/10a)
CH = - s g g E&) I Fd ) H] ol
2| & & & 7 9 1, 498kg 508 760, 984
FIF 4 EF MY AEEE: 92.6%
d A 760, 984
2 5 80. 54 712 57, 370
271 u] & ¥ 91,788 |N:27.4P:15.5K 1 15,8k
F & A 368 0ky
Bl1F| 471298y 1, T04ky .26 | San o T
F | 13,629 AA ;1 5k
AdA FA ¢ 500 5cc
B3 -4y 4,001 | g4 A : 233 3c
[ =
bl o2& ™ #2102
| Sl (kAW B SN A
A A 8 oy 21,667 | ¥ % 8351
Hod &:d42g
2 F 7 ¥ 1.677 3 o0k
AEIEPE TR mop | £ ¥ A6
o F A A2 544
2 (BR) 9 5,797
Hie a4 & 0
7 g & 519
A 175, 108
H .
W 2,663 g 42 Azt
T 4w gy LA o e BL776 | & . 97 5 A2
Al 236, 884
02,663 g:6L7 Az
A7 x g ow 135342 | & | e NL2B | 5 s it
& = 524,100
2 % A A 585, 876
) 5 & (%) 58.8
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AT £

N

) =
A5EAE

3 ® (71% . A413]/10a}
H] £ -9 £ FigA@ |79 $D H| ki
2{F 4 B 7 9 1, 700kg 525 892, 500
22 4 g 7.9 HEEE: 02.6%
¥ A 892, 500
F B ¥ 2. 8d¢ 7,950 22, 262
| 254y 29 99 555 |N:265P 1 15.6K 162k
o - T & 4 3980k
S R LR I DO A g4 5
R 8, 094 AA ¢ 0.4k
AFH A 200 tec,
%9 - FYy 4118 1 24 §4 1 153
| o~ ‘ A A 0.4k
| %3 (KA 115 g 5 o : 0.2k
A A 8 ¥ 18,206 | # F 2104
| ¥l g 160.0m -
£ % F ¥ 1,388 | g 12130
B ¢ 12
FIA| o FAZLY 17,051 3 37, 0l
o 5-A1 4 2] 87 | £ A A 13501
22 (BE) Y 4,039 '
e a4 -8 0
71 & 8 F 1,163
A 129,143
H] _ .
3,036 L= Az
U 33. 217 of : 2013 69, 286 o : 30.8 Az
A 198, 429
d o 3,036 g :73.2 Az
24 7 &= g 9 149. 44 7t o & 2003 375, 625 o 7.2 A7
a = 694, 071
¥ 4 A A 763, 357
o £ & (%) .1
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g3 TELS5FHE
3 % (71& : d413/10a)
H] 3 |- F #F 1d7E) |79 &) H] X
2| & & B8 9 2, 762kg | 337 930, 794
s %+ 4 8 4 AEG& 03, 3%
¥ A 930, 794
& E oy 9,7df 3,749 36, 367
7 2 v 84 95, 837 N:32.1P:22.3K:21. 2k
A o ¥ & A 3510k
T H/IANEN | 1497k 06T | Sa el ¢ 798 80c
¥ 9% v 15, 023 B 0.1k
UA 1.8k
#9 . g4y 6,184 | &7 44 425.0cc
2| = BA 1 0.3k
72l Gk A ol Tl gz g4 o5ee
A A & 9 6,678 AA 1 1.0k
¥ 232,00
2 5 3 1075 | w) d:2l0m
g Z: 104
1A A TG 18182 |y 4w z:gem
o A Ak 2] 729 g : 52, 0kg
Fel (BE) Y 4,214
Hid 2 =8 0
A 8 & g 1,117
A 144, 424
Ll
33145 ¥ 3.5 A7t
].
g = gy 37,8413} o 2950 88, 319 o543 A7
A 932, 743
¢ i 3,145 ¢ 8.4 A7t
L T KRR Y78 Bkl R Az
2 = 698, 051
54 7 3 786, 370
& E & (%) 75.0
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xR0 EEAEEHE
38 (712 : 413/10a)
H = | ¢ F (g ig | F9E H] i
2| % 4 2 79 3, 443k 507 | 1,745,601
£ 4 5 71 9 AEEE92.0%
| @ A 1,745,601
F 5 2,98 25, 137 57,817
271 2 & 35,527 |N:87.7P12L5K 1 30. 9%
2 F £ 4 3860k
1% #7908 | 2,09k 15,692 | 5o ol 1007 %0
A | 13,253 A 0.2k
AA ¢ 1.2k .
Fd - 7Yy 8,692 | A %A 1,083 %cc
2| = B ;0.2
& e kA ¥ Y1 Az $4 13050
A4 A 8 101,561 | 71 BF % % 0.3k
=l 71 ¢ 5. 0kw
£ F T ¥ 1,863 | & 50 42.00
H| g 475.0m
? Al ds TR 31,65 2 & 276. 290
A4 0| A F 48407
W g 688
T8 (B8) Y 6,611 | ¢ A 30k
Wloa s 4 5+ 5804
Ifg 4 = 0] 3 E 1 1,305 07)
7 8 & F 485 | T 2 4 A 118074
! 333, 155
H]
3,445 g 6.8 Az
8 b
g | BN 123.746 | &4 i
A 456, 901
_ w1 3,445 W 139.2 Az
2 7 = @ o W92 | o |y e BULOY | & 1uy g M
& 5 1,288, 700
5oog A A 1,412, 446
& 5 £ (%) 73.8
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3 & {715 : 413/10a)
H] 7 - & 7 | g2 @) | F9 &) H] X
2| & &4 2 7 9 3, 253kg 515 | 1,675,295
18 4 79 AHEEE ¢ 90.9%
4 A ' 1,675,295
F 8 b 2. 940 23,734 59, 216
o7 28| 84 35,309 |N:32.6P 1214 K: 3L 4ky
% & A 8 123 0ky
B1%| 47128 2y 2, 067ky 5,050 | Jatu S+ 638 500
- 38, 658 oA : 1.0k
AA FA 1,043 5cc
#9g - Eg 6, 256 B4 0.5k
A 24 &4 50.0cc
¥l o
2| %8 (k34 0 o otk
A A 2 oy 124352 [ 71 B % 9 : 0.3k
R £ 129.0¢
& % T 4 1,897 | ui d ;74 0m
g 2 204,27
A gs Tz B2 2 & a0
o FAAE A4 o|d ¥ &:!6.68
] : 3.0k
42 (BE) Y 7,55 | 4 3 : 133.074
ol 3 E 2,012, 07
i A4 8 D12 3 4 2: 1300
7 8 & @ 437
A 348,473
H|
9 3,485 ' g4 A
L § x 9 33, 4A) 7 o + 239 90,263 | 3 14 g N3
A 438,736 ,
¢ 9,485 31181 Azt
A4 7 = @ W 237. 447t a4+ 2.3 697,421 | 1 115 i
& = 1, 236, 559
B 7 A 3 1,326, 822
A& B & 73.8
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JE EFE2SEHE
3 & (71& . |13 /10a)
H] 5 - & F | g4 F9 @) H] At
2|3 4 &8 79 9, 184kg 545 | 1,190,280
£l 2 4 8 79 ANEFE 0 03.2%
L A 1,190, 280
= g W 19, 24¢ 2, 526 48, 500
2.7 A b 84 93,957 |N:2LBP 1 17.4K 1 22.6k
=| o 5 & 4 #: 560k
(B F| A REE ) Lo eI\ oA g 0L Tcc
F 0% 4 14, 992 oA 1.8k
' AgA B4 563 3cc,
g . 4y 3,455 BA 0.4k
| % A x4 4 325 0cc
1 8 (KFD H 0 A : 0.1k
4 A & H 4,480 | £:18.0¢
Gl d: 6.0m
2 % 7 H 2,680 gz
| 1 29, Okg
3|4 BT 16,990 | o s
G 35 A A A 7] 39 | £ & A 2 180
2 (BE8) Y 7,394
|9 2 & 0
7 8 & 2 100
A 151, 754
H]
¢ 3,066 g 2.3 A7k
].
4 x gy 33,27 7t ot 9 0 75,711 o : 309 A7
A 227, 465
| ¢ : 3,066 g :56.3 N7
: b
A b x 9o 121. 971 2 o+ 9.9 38,319 | g g A7
& 5 962, 815
5 5 A A 1,038,526
A 5 &% 80.8
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A5 EFLEEAE
3 5 1% : d13]/10a)
i 2 o8 2 F (vA@) | 2d@ H] b
2% 4 8 2 9 2, 802kg 317 894, 574
S FE 4 EF A AEEE 1 02.2%
% A 804, 574
F B ¥ 5. 7df 7,009 39, 953
- RER) 29,503 |N:27.0P:16.1K :19.8k
0 ¥ & A8 1110k
B|%5| 47149 84 1, 152k 30,400 | 527 050 306 foc
AR S| 9,594 A 0. Thy
AFA $4 : 367.3cc
3¢ - 59y 5775 | 24 &4 : 197.0cc
| 29 (kH) g |, W0k
T 8 25.0¢
A A 8 9 124, 469 | HI d : 622.0m
ki3 2 151,770
& ¥ T ¥ L35 |2 F d:120.00
B d &:19%
F(A| g4y 18, 244 2 0.0k
F A A A 2] 414 | A o @ 100,07
¥ E: 1304
T8 (BE) Y 4,38 | £ # A =} 132.07
Higd A =B 0
7 E 8 F 3,433
A 267, 765
B]
2,042 0.6 Azt
£ x ¥ 18042 | &5 o BT | G174 i
A 304, 712
3o 2,042 J:78.1 A7t
A 7 e g oy 153,941 7 o & 9000 B0 | .o g Nl
% 5 589. 862
2 7 A A 626,809
A 5 & (%) 65.9
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2R3 EFL5EHE
75 (71% : d13/10a)
H] 5 Y & 7 g E |9 @) #j 1
215 & § 7 9 2, 225kg 811 | 1,804,475
S| F 4 & 74 AHSEE : 94.5%
4 A 1,804, 475
F R ¥ 3.6d 14, 136 50, 893
7] 4w § ) 47,493 N:37.5P: 244K 318k
&N g 110k
33| 7148 2, 371k 6,462 | 25 0 e
¥ 9 9 30, 150 4A 0.9k
A7 SA 1,287 3cc
49 g4y 7,229 23 0 0.1k
. A A A4 106 6cc
T &3 (AF) 8 0 A8 5 o 0.3k
A A 8 o 114,783 | & 7] ¢ 19, 0kw
% £ 33.00
& ¥ 7 49 2.211 | w 1 798, Om
L2 Z : 581 20
IKARREE S L 265 | 5y @08
o g A A A} ) 450 | 1 81.0kg
' A 5 @ 285. 07
Te] (B#) Y 8,565 | & E  1,110.07
il A = g | ERARIIBOA
7 8 & 2 2,376
A 333, 656
; H] :
02,087 3 4,9 A7
B }
I ¢ x ¥y 33.6A1 24 & 2019 72, 581 o987 A2
Al 408, 237
g 2,987 3 :110.8 A7
A 7 = g 934, 84 7t g 1 2,009 590, 027 & 1150 A7
4 = 1,398, 238
L 1,470, 819
A E g% 77.4

..348_




A5 RELAERALAE
4 & (71 : 913)/10a)
H] Z | £ F | g4 (F9 ) Hl 3
2| F &4 & 79 2, 665kg 455 | 1,212,575
NI AHESE 1 90.0%
¥ A 1,212,575
£ 8B 2. 4df 19,732 47, 358
2 7] 4 u) g9 99,05¢ [N:25.9P 153K 2.2k
| o 5 £ Al 3 1120k
B ggu g | 2165k .88 | g el ¢ 1550, 5cc
F Y 97,470 | & FA HA @ 908 5cc
B4 0.6k
#9594 8,581 | A=A &4 : 250.0cc
bl . 7] & % o 0.4k
2| 2 (KA 0| = g0
A A & 92,318 | ¥l 845 0m
iy 2 430.270
& %5 F 4 L707 | v @ B L4g
3 : 214.0kg
F|A| st S I - A
% 5 Al A zhu) 9,98 | & E 72804
¢ (BE) Y 3, 869
Hleg & E 0
71 8¢ 8 F 4,848
A 271, 850
H] :
g 2,763 w100 A7k
SR LR et BT e Al
A | 365,909
¢ @ 2,763 ¥:95.4 A7
2 7t = ¥ ¥ 174. 9X) 7 o 186 4ULIST | 00 e A7
% = 846, 666
2 71 A A 940, 725
& 5 & (%) £9.8
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Ndeel EF2EFAE
3 F (NE . |13]/10a)
- & = ¥ (g4 | F9 &) H] kil
= F 4 B 7 9 7,279k 749 | 5,451,971
1% 4 8 719 A EEE L 92.8%
¥ A 5, 451, 971
z B ¥ 3.0d¢ 25,473 76, 421
2.7) A ¥ 84| 83,056 |N173.5P:44.3K 1670k
A F & 4 3. 1880k
3% | #712u &y 3,613k BLAGL | 5 a%n o a1+ 2 996, 0cc
¥ 0% 71,753 QA : 2.0k
AFA FA 2353 8cc
34 F4Ey 58, 127 B Lk
A x4 #A 38 8cc
7}
| 8 (KF) ¥l 0 | 270 o+ 09k
A4 A B v g27.915 | B 7] & 458, Okw
# % 05100
& %5 T+ 4 3301 g & : 607
H] d 1 §898.0m
A | ds Ty a0 le Il
%} &A1 42 grogs | A F o 79.07
Wood 108
& (7)Y 39, 844 % : 33, Okg
] 4 a0 194,07
e A= " E ¢ 3 964,070
/1 8 8 2 g1l | EF 2 431400
A 985, 943
H)
g 13249 ¥:25.8 Nz
B b
z§ 59 104, 74 2 o 2000 UB,7%5 | o 7a g i
AH 1,234, 668
3,249 o 328.5 Az
2 AT . 698,
A 7 = F oy 630. 3417 o o0e | VBB Gl A%
& = 4,217,303
27 7 A 4,466, 028
) g & (%) 1.3
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I (71& : |13/10a)
H| = E + #F 171 @E) |39 &) H| 3
|7 4 8 A 9| 69k %9 | 6,483, 491
|2 4 2 79 AEEE 1 96.4%
¥ A 6, 483, 4 |
F r 260 | 2,008 | 75461
SRR 60,157 |N:44.7P 1 28.8K : 46,6k
(%] sranan | s mass [§ 8,5 4
= o 1 50,404 (237 g;ﬂ“ gsg’;cc |
B -y 987 gz S kA
| &a Ay LO5 by $3 G T
A A g 556, 093 %3 B ‘f‘ﬁﬂf éﬂgkgkw
&% 7 Sl
s[4 avzaan afe ¥l
srra w3 1
+ (5 2) ¥ most |, ¥ 1B
e 5 s sl 3 hih,
71 8 & 2 3,050 | & A & 458,07
, A 1,136,054
24 xdH | 16242 33?2; 385, 422 j; e i}g
A | 1,502,476
A odou | 23N 32?2’; 1,754, 337 jgggg i}fj
2 S 4,961,015
s 3 oA A 5, 347, 47
& 5 & 7.5
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AASY EFESEAE

3 B (1€« d13)/10a)
Hj 2 S T F g7 @ | FY9 @) H] X
2| F 4 E A 9 4, 977kg 559 | 2,747,304
£l% 4 8 HEHE : 04 1%
4 A 2,747, 304 |
z 8B W 7.5d) 8,801 66, 013
_ ) 26 2 40, 119 N:456P:28 4K : 35.9ke
- F &4 3920k
A% | 47124 2y 2, 557 kg 5L | 2 %y A a0k
= oy 24,765 | #%A &A 66l 2c
‘ B 0.6k
39 - FYy 12,278 A& 0.2
. AFH F4 667 5cc
1_].' Al
] 48 (KF) 8 2,417 B4 1.6k
A A & W 951, 247 | Al &2A #A : 58 3cc
_ A 7] ¢ 3. Okw
A 5 7oy 3,406 | & 7 47.0¢
Gl g 834 0m
A | g 7aay 31,012 o 2 3450
G F A4 Az 120,195 | ¥l 9 ¥ 468
. 3 : 86. Oky
2 () 15,475 | A a1 : 601.07)
) ¥ E 1393070
leoA ey B 3o amon
18 & =2 5, 168
: H 540, 938
H| -
' ¢ o 3,045 g o191 A7
RN
24 % gy 74. 3413} o 1938 165, 137 o 52 i
# 806, 075
13,045 255, 1 Ak
y
A 7h = g o 488,84 7 o 1 19 1,229, 690 o : 33,7 A7
A = 1,941,229
- U S 2, 106, 366
o 5 & (%) 70.6
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3 % (715 : d13/10a)
H] = -] F FigAG | F9 &) H} z
2| F 4 F 79 2, 466kg 2,412 | 5,947,992
1R A4 E 79 AZ8L 95 7%
Y A 5, 947,992 '
Z B o | 10,004.5% 54 547,633
B 7 A gy 43,813 |N:32.7P:26.9K:29. 2k
o ¥ & 4 81570k
A% | #7140 8y 3, 074kg 8,976 | % %0 "o+ 795 boc
5 09 68, 591 AA 1.7k
AFA §4 1591 dee
%Y - FYy 21,770 B 0,8k
A zA 4 58 5cc
A = )
& & (kA LOT8 | S T e
A A 8 9 485,006 | A 71 1 429, Okw
' ' i F:58.04
& F T H 3,600 { n) g 1,414.0m
g 2 594,570
F|A | g7z RO |5 g B pie
o5 A 42 2| 102,518 & 1 20.0kg
, 4 o 3507
2 (BH) Y 18,225 | ¥ E 1,750, 07
H 1o 3 & 44.568 T F A4 A LULA
71 & 8 2 2, 649
A 1, 464, 901
H]
, g 3,112 o237 A7k
SUE S 139. 4471 o © 2,004 305, 617 g Azt
A 1,770,518
3112 3553 A7k
A 7 x g 679. 843t o+ 9,004 1,755, 991 o 35 A7
& = 4,177,474
2 7 7 A 4,483,091
& = &%) 70.2
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B (71& : <113]/10a)
B] 5 | F ¥ (¢4 &) | FY & H] i
2| F 4 8 79 3, 247hg 1,213 | 3,938,611
212 8 8 7 9 NESE 0. 7%
L 2 - - 3,938, 611 |
F B 6.4d8 11,816 75, 626
_1:}7]@3]53] . 53'?67 N412P232K383kg
o ¥ £ 4 3 1830k
| &N4AvE | 2820k 608 | 42w 94 - 08l gec
U B 32, 661 YA ¢ 1.0k
AgA A4 1,085 2
DAL : 12, 985 BA 0.3k
24 &4 218
2| %@ (KF) ¥ 1,972 f}lﬁ \;2;]: 3.1?:5“
A A 8 435071 | A 7]+ 54, Okw
o f F:65.04
& % 3o 2,201 | o] g 950.0m
= .9/
A EPER e | 35, 846 3 g 8. f‘;gﬂ
QA M A2 ‘ 97,519 3 : 25.Gkg
| A 1) © 426,070
23 (E8) 4 21,453 | £ E 1,359 074
I ] i |E 3 AW
71 8 & 2 4,589
A | 866, 829
g . 3,266 g 171 A7
].
T § =88 86. 54171 3 0% 159, 391 o 494 A
A 1,026, 220
@ 3,266 ¢ 314.2 Az
24 7+ x g o 590. 54 7+ o 200 1,605, 302 o 976, A7
A = 2,912, 391
F 74 A A 3,071,782
A2 5 &% _ 73.9
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NS EES5EMSE
B (718 . ¥13]/10a)
H] Z | T #1244 [ F9E) Hj !
=zl F 4 B 7 9 3,493k 943 | 3,293,899
2 4 &8 J 9 AE8E:93.4%
¥ A 3,293, 899 '
S | 4,640 16, 019 73, 690
‘?‘ﬂ?‘lﬁlﬁ-ﬂl 40'959 N'347P‘214K'348kg
T &4 3980k
RGN BB w3 4 1 630,000
- S| 20,549 | A TA #4774 3cc
B4 0.2k
39 Fdy 11,008 | &1 24 &4 : 200.3cc
o a 7] & % o : 0.6k
4 'T'E] (7.‘(‘*“) H] 370 73 7] ! 28.(]kW
A A4 E H 316,834 | #5104
Hj d : 846.0m
A % Z oy 2,875 | & Z 1 440,67
: o9 Z:og2e
4 5 A4 Az 75,806 | 4 A 1.0k
A M : 286. 07
23 (BE)y 18.820 | % E © 1,084.07
Hlg 3 = 52, 346
71 8 & 2 5,143
A 715, 851
H -
g 3,207 g 261 Azt
it & = gy 68. 0413 & 1 5105 171, 902 o ALg Az
A 887,753
g 03,207 o671 N7
b e E M RN e | LIBE | g Az
A = 2, 406, 146
LI A 2,578, 048
A = & (%) 73.0
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W _EFLSEME
1 & (718 : 413 /10a)
H] 5 g £ g |agE | Fd @) B I
z|F % B A9 62ky 8,875 550, 250
12 4 2 79 633 | AE8E&: 91 2%
4 A 550, 883 |
% R i 0. 7kg 8,512 5,959
SRR 10,956 | N:7.9P:4.9K:8.3k
2 o 5 § 4 3610k
o % TT7; a’ﬁlﬁﬂl 1,072;59' 20’985 _,g%xﬂ -ﬁ-zﬂ : 40?.6CC
O 17, 863 Bl 22, %k
AA 1 0.7k
B39 -5y 3.867 | AFA wA : 697 7cc
2| 48 (k) 0 2403
T A Z2A &4 255 6cc
A A4 B o4 17, 414 QA 0. Thy
f F 0194
A % 7 ¥ 1,461 | w] 20 1,009.0m
' ) W9 E: (4
A} gAY 14, 740 3 4.0k
G wAA ALY 944
&2 () v 5,152
9la & = 291
71 8§ & 2 530
A 99, 462
H]
oo 2,041 w2 A7t
].
2 & =8 d . 13547 o ¢ 2078 30, 124 o111 A7
A 199, 586
‘ W2, 041 1 48.9 Azt
A7 e g o9 95. 2A1 2k o © 2078 240, 026 o 463 A7
% = 421,297
¥ o7 A A 451, 421
E = £ (%) 76. 4
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T2 AEN
BT EFELEFAME

= (712 : 9113]/10a)
1 g | F F (g E) 139 @) H] 3
2| F 4 8 7 9 178k 2,838 505, 164
S E2 4 B 79 2,713 | AE5L:85.8%
4 A 507, 877 |
2 5 Y 9. Gy 2, 945 98, 276
‘?‘ﬂéﬂliﬁl 17'515 N:4.7P213.5K:10.8kg
= 2 04 31240k
TR L0k B gaa 440 181
F g ¥ 8,071 AA : 30k
AEA §A 388 3cc
BE - Fgy | 3461 | A 24 84 : 204 Tcc
bio~ "r’r =174
2| 28] (KF) 01y g 1 1,020.0m
A A B Y 18575 ¥ @ #:0.38
& % 3oy ' 1,506
Al % FA L 12, 226
o F A A 2| 69
w (BH) ’ 2,868
e 2 8 4, 260
1 8 & 2 866
A 116, 591
o 2,678 Y 2.0 A7}
28 5 @y 17. 72 74 o i 1978 36,410 Q157 A7
A 158, 001
W 2,678 di57 Az
A 7t = g i 103. 7217 1w 242, 008 o510 A7
A = 354, 876
L S 391, 286
& 5 & (%) 69.8
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ez EFLSEAE
) (712 : d18/10a)
Ll = i £ ¥ g7 @) | F9 % H k!
z|F 4 & 7 9 242ky 4,992 | 1,208,064
2|8 4 8 7 9 61 | HEEE:07.3%
4 A 1,208,125 '
E B ¥ 6] BNAATALESFTF
272 g 91,915 |N:15.3P 128K 22.2k
o ¥ ‘g' ’k‘ Ef : 70 Okﬂ
T RAANE ) 128 DO\ gaA 54 5000
¥ 4 H 20, 323 B 0.1y
AA 0.7k .
34 5 _ 49.237 | 4@A4 %4 : 36l 3cc
o R
ZH] & )
e (KH) 0l q24 44 7.3
A A 8 b 32,632 fA 0.3k
7] B & o : 145. 0k
A ¥ F _ 1,160 | A 7] ¢ 143w
B IR 38442 | T T 1984
. ' H] d : 1,062 0m
GEAEAgy | 3,818 | & %:9.3
H 9 BLL5g
. s (8 10, 850 2 11, Ok
71 8 & 2 4, 059
A | 209, 848
| 2,800 3141 Az
V H V . L].- +
14 =¥ 68. 4417 o 1803 142, 269 o 543 A
A 352, 117
2,800 g :146.5 A7t
].
A A = g 3§ 268. TA 7} o : 1803 641, 524 o 1922 A7
& = 856, 008
o4 0} A 998, 277
£ 5 &% 70,8
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94 EFLESEHE
3 5 (71% : |413/10a)
B] = L] £ 7 (g1 @& | F9 &R ] I
z| % 4 8 7 9 467k | 11,670 | 5,449,890
1B 4 2 5 9 124,999 | AESE : 05.5%
% A 5, 574, 889 |
F 8 Y 9. 9ds 39, 133 318, 126
27 A8 8y 1,139 N:0.0P:0.0K:0.0k
A% f2mEN | 24170 tog 223 | 934 ER LT EC
¥ o 137, 501 91 : 69,8k
AR FA 2,231 2cc
34d -5y 23,616 2 1.6k
Ax2A A 1,226 Tce
b e .
| S () 0 A - 0.8l
A A B ¥ 662,907 | # 7 1 1104
7} 20 1.0k
& F 7 oH 6,069 | u) J : 300.0m
& Z : 627.5M
/A g Tz RIB| g oy oapsm
o A A 500 3 : 2,491 Okg
8 (BR) 4 8, 400
iig 2 & 701, 333
g 8 3 16, 946
A 2,063, 158
H]
W 2,527 91613 A7
T8 =8 H | 415747 & 186 886, 640 A:2544 i
A 9,949, 798
2,507 23,8 Azt
N S WLIAZ | o s 921,000 | ;. Jeo's N2
& 5 9, 625, 091
C 3,511,731
A B 2% 47.0
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=
EEEME

3 5 (712 : |913]/10a)
H] = L ) |9 ) H] 3
2|2 4 g 7 9 7,939 735, 647
212 2 872 9 TEM| o rsa| AESE 100.0%
Y A 757,399
F m ¥ 12,889 35, 582
12, 526 .
B34 8 g4 30,337 |N:33.4P: 145K 18. 8k
4|z | #7173 #EY 30,642 | 424 4 @ 59.3cc
i 5 o v 7701 B 26k
! A 0.4cc
¥d - g4y 13,402 | ATA 4 440.7cc.
A=A A 616 8cc
A | T OKFDH 0 AA 0.2
- 7] & % o : 2.6k
H A B v 14, 784 1+ 130w
A2 % F 1,510 243,00
o C 14,
953 A 14,000 | o S ;é g’"
G | A + 70.Om
| YA A T 12,776 o] & 111.8v
~ 7 0. 38k
=g (7)Y 8, 905 oo 37
2 J B) 16, 538 ) + 13.0kg
H] ® A+ 56.0kg
4 A & 0|2 & %:33%k
- A g
) Al 199, 145 |
' ' : 2,976 13 5.2 A7
H
T8 oo | g g4 A7
A 252, 871
v 2,976 w1 187.9 Az
H
N L g g 0 968, 447 & 1979 A7
4 = 504, 728
R 558, 254
£ = £ (%) 66. 6
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A3 EEASEAE

2 {(71% : ¢113}/10a)
H] 5 |- + FlagAaE@ |29 %) H] 1A
2| F & 8 7 9| 25660k 683 | 1,752,578
sl® % B 79 3,334 | AESE 91 6%
4 A 1,755,912 |
B A g4 40,926 IN:24.5P:16.8K: 26. 2kg
$ 71 28] 2o 2, 378kg 53,508 |[% & 4 3 : 1880k
A e & 4,587
Tle 4w e |20 gxﬁ :é.g?u?kc
.= AA ¢ 0.9k
%€ - Fan D2 yaa a4 ¢ 655 50
w8 (K F) 1y 0 4 0.3
24 $A4 9818
A A & o | 155,419 | 127 15:1} 03k
Y A 7} 75 Okw
¥ 7 o 3,175 5 s
U & T4 2] 40,985 [Eol (EA2]) : 218. 3k
PP u of ;034
A | AgA 4 g2 7,732 |y Z ' 300
& 3 : 108. Oky
B .
8 (BE) Y 7,700 4 A+ .0k
2 4 ¥ 92,262 | & A & 16407
B Y 16.0m
B9 = =& 0
71 8 & ¥ 6, 449
i 479,019
g ;2,845 ¢ 1356 Azt
2§ x g 106.94) 7} o 19y 239, 390 d 73 A7
A 718, 409
¢ 2,845 1 140.7 A7k
a4 s = 8 244, 4N 7 o © L9 601, 158 o 1037 Az
& = 1,037, 503
) N 1,276, 893
25 &M 59.0
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i EELSEAS
2 & (7% : 4138/10a)
o o2 oW & % (gA@ |[2d @ 1) 2
2| = & 2 7 4| 213208 1,087 | 2317, 484
sl 8 g o9 1,483 | AHESE 1 92.4%
% A 2,318, 967 |
24 g 55,781 [N :28.6P:23.9K : 27. 2k
S 4089 | 2366k 30,064 |5 & & 3 : 1230k
Aaa A 3442
B2y o o8 |20 T b
. B A7A A 3,797 5cc
%€ Eay 10.000 1027 84 : 744.0cc
&8 (K )l BE 7} 15, Okw
g 2 43,4
24 4 g 203,799 |Fo) (£97) : 65,7k
PP oo 030
A H L7187
s T L RN
4% 747 18,519 3 L 47,0k
' _ % A 72 0kg
DA | dsAdLy 3.267 |z 3 A A : 15L07
| ¢E (ER) A 8,992
2 4 ¥ 27,472
3leq 2 = 1,250
71 8 & 2 3, 864
A 461, 073
H]|
g 2,732 g 25 Az
) = B t
TE =AY e | B g e A
A 682, 974
92,73 2 166. 1 Az
A4 .7 5 H . 3
Fobox o DO | o g | SBUS |G A
A 53 1,635, 993
I N 1,857, 894
A 5 &M 70.5
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2gol EFASENE
7 = (71& : 418 /10a)
H 5 =] £ g | gd7@) | F9 &) B] 1
2% 4 2 7 o 1,990k 692 | 1,378, 464
&2 4 E 79 1,413 | AEIE:93.5%
3 A 1,379,677 |
2548 g2y 32,027 |N:26.1P:16.0K : 26.Thg
$71 v By 1, 868kg 39,026 1% & 4 3 9304
AaA &A4 2 066
Alels o u 8,873 A2 A g;}} :glgi;iﬂcc
%4 9205 |ZEA KA :2426.Tcc
G B ;0.3
8 (K F) 1 0 |4 24 fA : 1,018 5cc
21 2w f 54614
1A A l 97,058 |zof (X4=)) : 37.8k
A H 39 2278
F T o 3,420 3 - 10,0k
Ul F T4 18,263 |£ # 4 A 12601
G| A | gEAL 1,317 |
T8 (BHE) Y 11,248
- 24, 812
vl A =& 0
7 8 8 2 2,784
Al 288, 121
H] :
8132 ¥ 158 A7k
}
[ S 62, 741t & - 2006 49,988 | o | 4o A
H 435,909
3,132 w1392 A7
A 7t x 8 AT Gy s 663,390 | - 1065 A
& £ 043, 968
ER I N 1,081, 756
S - ("4 68, 4
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IE EFASENE

7 B (71& . 4138]/10a)
y] E ] £ % (g7 &) |29 H| k)
2| F &4 B 2 9| 1,779.0k 1,984 | 2,284,236
a2 a2 7 9 273 | AEEE : 93.0%
8 A 2,984, 508 |
L PR 31,048 IN:922.3P:17.2K : 21. Ok
e R 2, 817k 46,56 |5 & A 8 1290k
T A4 & 30k
Bl v 2471 154 84 @ 1,52 Tcc
. H Al 0.2k
¥ FE R PR : 1,958 3cc
FE (KF)H 0 BA 0.7k
234 A 8188
A oA = ow 124, 106 A ;‘Ezq} :u.gbgcc
A B 3,019 fr F 144
5 7 o] (%) - 50,6k
W % 7 A 2] 20,410 (8] @ B 1298
o ) 1 48, Gkg
A A LA A 451 4 4 2 18307
| ee sy 9,806 | § 2.0
R 26, 998
Bllg = &8 0
N g 8 @ 9,928
A 305, 887
H]
W : 3,338 3 15.8 A7t
K1) I B . JA| T )
i g e g oy 5.2 | 5 5 2,000 | 5 o' o
A 467, 897
' g0 3,338 3 185.7 A7t
3|
A e @ | amaa | Boo | e | o o
& = 1,816, 612
SR Y 1,958, 622
A B &% 79.5
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97 EZAERAE
3 &5 (71& : 413]/10a)
H] % d ¢ ¥ (g @) |29 &) Hi 1
2| % 4 £ 7 9 981. Okg 1,287 | 1,262,547
3 4879 L1 | AES S 92.8%
4 A 1, 263, 658 '
27 A6 84 24,9686 {N:20.3P:19.5K: 2.7
+71 4 8 59 2, 080 kg 5,183 | & A 3 : 66.0ky
A F4 0 032.2c
G 26,572 | g @A 4 1,28 8cc
. A xA FA4 84 Tcc
CARA AL 5,082 S g 97,80
] (KF) v 08 ¢ & :258
3 1 27, Okg
1A A4 8y B.516 |z 2 2 A 6007
2 % 7 oy 1,407
) F T Az 14,235
S| A | 9542 632
8 (BE) 6, 162
z A ¥ 16,729
Hlla 4 8. 0
71 & & F 142
A 183, 648
H|
¥ 08,150 ¥ 10,6 A
g = Y o 28. 44171 d 000 74,276 4178 Az
| 257,922
g 3,150 1125 A7
A 7 = 8 § 186. 221 7+ o @ 9 997 523, 663 o 73.7 Az
& = 1,005, 736
2o 2 A/ 1. 080, 012
A 5 &% 79.5
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dF ZFLELHX
2z & (1% . 413]/10a)
Hj % = & ¥ |gAE | F9#) H] il
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